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INRZTH |7 & 11 |=£Hh 119.91 [178 A|16 | KF/MNEFFHE [84 FE183 }H 161
INKRZTH 7T 12 | 4049 [178 A|28 | KF/IMRFFH [84 FE184 H 55
INNRZTH |7 FEI13 |Eih 7333 |178 A|17 | KF/INRFEHFH [86 F2 H 16 |56
INa—TH |7 &z 13 |Eih 7333 [178 A[17 | K=F/INRFFEHE (88 ZE6 H 97 | Bt
INRZTH |7 FEI13 |Eih 7333 [178 A|17 [ KRF/NMNRFFH [88 F 11 H 748 | &
IMNRZTE[7T FE 14 [£#e 1320 [178 A|18 | XF/INRFEEHI|86 &3 H 19
MNR=ZTHE[7T FH 15 M 719 [178 A[19 [KF/INRFFH [95 FE43 P 49 |9E
INEZTH |7 16 | 141|178 A[20 [KF/NRFFHE (84 FH34 I 200
IWNRZTB7T &FE17 |H 753 178 A[21 | KF/IRFFHE 84 F20 1 180 |&#t
IMNREZTH 7 F: 17 |4 753 178 Af[21 | KF/IRFFHR [84 F21 H 798 | &6
MNR=ZTH[7T FE 17 M 753 178 A[21 | K=F/IRFFHF [84 FH103 Pt 10 |&#
IMNKRZTH 7T FE 17 | 753 178 Af21 | KF/IRFEHEHR [84 F104 1 31 | &
INRZTB 7T &F17 M 753 178 A[21 | K=F/IRFFHF [84 FH105 P 29 |56
INRZTH |7 & 18 |=Eih 350.26 [178 A[24 | K=F/NRFFHE [84 ZFE119 P 38 |&H6
INR=TH |7 FEi1s |[EH 350.26 (178 A|24 | KF/NRFFHE 84 F120 P 19 |56
INRZTH |7  #F 18 |E#h 35026 |[178 Al24 | XKF/INRFEHFH (84 Fi177 1A 429 |E&H
IWNgZTB[7T F 18 [EH# 350.26 |[178 A[24 |KF/IRFFH |95 F28 P 48 |&H
ING—TH |7 19 |=i 396.60 [178 A1 KFINRFFHR |84 &FES3S *H 561
IWRZTBE[7T FE20 [£H#e 10469 [178 A|2 | KF/IRFFHE [84 F179 P 150
INKZTH 7T FE: 21 |E#h 10437 [178 A|26 | KF/NMRFEFHE [84 FE 180 1 150
IWNRZTB[7T F22 [£# 106.31 [178 A[27 [KF/NRFFH (84 FE 181 P 154
INRZTH |7 & 23 |=Eih 348 [178 A3 AFENEFHFHR [84 F121 A 17
INRZTRH |7 & 24 |=Eih 180.07 |[178 A |4 REZih
INGZTH |7 &z 25 |[Eih 180.12 [178 A |22 {RE i
INRZTH |7 & 26 |=Eih 180.13 [178 A |23 REZih
INRZTH 7T F27 |Eih 20539 [178 A5 | KF/NEFFE [137 F 1 H 220
INRZTH |7 & 28 |=Eih 4100 [178 A |6 REZih
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HE3 BE [ W [ R | x| HE2 HE I
INEZTH [8 &1 Eih 159.69 [178 B|7 FINRFFHE [84 FHE185 1A 219
INRZTHI8 F2 |EH# 25403 (178 B|8 | KF/NRFFH |84 FH56 P 297
INBRZTH |8 & 3 Eith 138.86 [178 B |9 {REZih
INRZTH |8 & 4 Eih 262.50 [178 B |1 FINRFIFE |84 FE67T EH# 331.03
INR=TH (8 E 5 =i 7737 (178 B|2 | K=F/IMRFFH [344 TS i 106
INEZTH |8 %6 Eih 159.19 |[178 B[3 [KF/NRERFFHE (84 FE19 Eifh 196.77
IMRZTBEI[8 FE71 [E£He 3355 [178 B[4 FINEFEHEE [84 FEe66 Y 41
INNRZTHI8 FES |Eih 11008 |[178 B[5 [KF/NREFFHE [84 FE60 Eih 65.44 | &6
IMNR=ZTHI8 ZFHs |[Ei 11008 [178 B|5 | KF/IRFFHE [84 FEe62 Eih 67.93 | &6
INEZTH |8 %9 Eih 7119|178 B|10 | XF/INREFHFHE (84 F172 Eifh 86.37
IMNRZTHI[8 FE10 [Ei 6123 (178 B|6 | KRF/NMNRFFH [84 FE61 P 55 |[&#t
INR—THI|8 2 10 |&i 6123 [178 B|6 | KF/INRFFH [84 FH64 i 14 &6
IMNRZTHI[8 FE 10 [Ei 61.23[178 B]6 FINRFFHE (84 FEo4 P 4.85 [ &3
INRE=—TH|9 &1 I 308 [180 Al5 | XKF/INRFSR#%K[|63 &FS3 Y 376
MR=ZTHI9 FE2 |[E£# 34547 (180 A6 | KF/IMNRFSRE|67 F4 JH 395
INRZTHI9 FE3 |EH 256.88 |180 A7 | KF/IMRFFH |84 F63 P 362
INRZTHI9 F4  |Eih 10150 [180 A|8 | KF/INRFSRE([52 &3 LLI AR 151
IMNE=TH[9 &5 |EH 80.00 [180 Al9 | KF/NRFHFHE [84 FE?2 H 814 (93
INRZTHI9 FE6 |Eih 410.56 [180 A1 AXFNRFFE (84 F2 P 814 _|»E
INEZTH |9 E 7 Eih 10852 |[180 A[2 [KF/NMRERFFH (84 FE17 I 141
INNRZTHI9 FES  |Eih 108.65 [180 A|10 | KF/NRFFH [84 FE134 i 142
INRZTHI9 FE9 |[Ei 109.22 |[180 A[3  [KRF/NREFFH [84 FE18 I 143
INRZTHI9 FE10 |Eih 109.31 [180 A|11 | KF/NRFFH [84 FE178 i 143
INREZTH |9 EF 11 (=i 268.52 [180 A |4 REGHh
INRZTH 10 &1 EZ 37099 [177 [4 FINRFFHE [84 FE4 H 499
MNERZTH[10 #E2 [Eih 35570 [177 |5 | KF/NRFFER (84 &6 1 502
INRZTHB 10 &HF3  |E# 362.88 |177 [6 | KF/INRFFHFH (84 F7 i 512
INRZTH |10 & 4 METE 202 1771 |7 RKRENRFFH [84 FHES 1A 493 | ZE|
INRZTHI[10 &HES *H 675 [177 |8 [KF/NMRFFHF [84 FEI +H 612 |&f
INRZTH1I0O &S K 675 1177 |8 KFENRFFHE |84 F10 1 94 |6
IWNRZTH[10 Fe [MiE# | 179 177 |1 | KF/IMRFFHE [84 %S I 493 [HE|
IWRZTBEB 0 FE7 |#HiEw | 584 [177 2 [ XFNEFEFE [84 F12 P 861 |Sf
MRZTBE 0 FE 7 [#Ew | 584 [177 2 [ XFDRFEFE [84 F97 1 40 |5
INRZTHI[10 &7 METE 584 177 |2 RKFENEFFHE |84 F100 P 36 |
INRZTH[10 %8 [Eih 657.74 [177 |3 | RFNINRFHE (84 &H15 i 1057 |9 E|
MWRZTH 11 FEA Eih 13386 [176 B[8 | X=F/IMRFFE [84 FHE50 1A 133
MRZTE[11 F2 |4 44 (176 B9 [KFNRFFE [84 FE 15 1 1,057 |59
INRZTB 11 &F3  |Eih 582.17 [176 B|10 | KF/NMNRFFHR |84 FE22 1 761 | &6
INRZTH 11 &3 Eith 58217 [176 B[10 | K=F/NRFFHE [84 ZFH 106 Jai] 28 | &6t
INRZTB 11 &F3  |Eih 58217 |176 B[10 | XF/INRFFHE (84 F107 1 36 |&6
INEZTH 11 & 4 Eih 17268 [176 B[11 [ RF/NRFFHE [84 F133 }+H 248
IWNgZTB11 FE5 [Ei# 954|176 B|12 | KF/INRFFH (84 F98 Pt 19 |&#
NZNRZTE 1 H>5 [EH 954 [176 B[12 | KF/IMRFFH (84 FE99 i 23 | &6
MRZTBEN1 FEe6 [E£H 108.09 [176 B|15 | KRF/NRFFH [84 F138 P 145
NZNR_TE[11 HF7 [ 455 (176 B[16 | KF/NRFFHE (84 FE 140 i 9.26 | S #
IWNgZTB11T FF71 [E# 455|176 B|16 [ KF/NRFFH |84 Fi141 P 1| &6
INRZTH 11 %8 Eih 9713 [176 B|{17 | XK=F/IhRFFHE [84 ZFE139 J 130
MRZTBEN1 FE9 [£H 4543 [176 B]21 [K=FE/NRFFHE [84 FE170 *H 60
INE=TH |11 & 10 |EHh 7038 |176 B|22 | XKF/MNRFFH [84 FHF165 1A 94
MRZTEH 11 FE 11 £ 11568 [176 B[23 |[KF/NRFFE [84 ZFE 166 P 155
INEZTB 11 & 12 |=Eih 11563 |176 B|24 | K=F/NRFFE [84 FE 167 J] 155
IMNRZTH 11 FE 13 [Ei# 9878 [176 B|25 | KRF/NMNRFFH [84 F 168 P 132
IMNRZTH 11 & 14 |E£ih 4824 [176 B|20 | KF/NMRFEFHE [84 FE169 1 64
MRZTBE 1 FE 15 [£He 115.78 [176 B[1 RKFNMNRFFHE 84 F 13 P 155
INRZTH 11 & 16 |/ 151|176 B|18 | KF/NRFFH [84 F163 +H 2.03
INRZTH 11 FE17 |Eih 6722 [176 B|19 | KF/NRFFH [84 FE 164 P 90
INS—TH |11 & 18 |=i 3883 [176 B|2 | KF/NMRFFH [84 FE135 P 52
MRZTBE 1 FE19 [£He 10322 [176 B|13 | KF/INRFFHE [84 FH 136 P 138
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MRZTBE 11 FE20 [£He 116.83 [176 B|14 | KF/INRFFHE [84 F137 P 157
IWNRZTBH 11 #FE 21 |Eh 21354 [176 B|3 | KF/NRFFH |84 FH59 P 240
IMNEZTBE 11 FE22 [ 161 (176 B[4 | KF/IRFFHF [84 FE52 1A 165
INRZTH 11 F 23 |EH# 17393 |176 B[5 [KF/NREFFHE [84 53 P 184
INEZTEB 11 & 24 |EHh 125.07 [176 B |6 KFENRFFHE [84 51 Eih 125.02
INRZTH 11 FE25 |EH# 13883 |176 B[7 [KF/NRFFHE (84 &2 P 814 |5 El
INRZTH 12 &1 Eih 127.07 [176 Al4 | KF/NRFFHFEIT[198 &S5 Eih 127.13
INEZTHB [12 &2 Eih 12552 |176 A |5 {REFHh
INEZTHB [12 &3 Eith 12545 |176 A |6 {REZih
INRZTHBI[12 &4 Eih 125.63 [176 A |1 {REFHh
INEZTHB[12 &S Eith 12554 |176 A |2 {REZih
INEZTHBI[12 &6 Eih 12553 |176 A3 {REZHh
INRZTH[13 1 Eih 286.18 [175 |6 KFENRFFER [84 FE130 A 417
INRZTH[13 &2 A 179 175 |10 [ K=F/NRFFE (84 FEF 131 }+H 262
INEZTEB 13 & 3 Eih 8586 (175 [12 | KF/MNRFFHE |84 F149 Eih 103.46
INRZTH 13 &E 4 Eih 16148 175 [13 | KF/NINRFFHE [84 FE 151 pai] 209 |&1#
INREZTH 13 F4 £ 16148 [175 |13 | KF/NRFFH [84 FE155 P 6.73 | &
INREZTH 13 & 4 Eih 16148 [175 [13 | XF/NMRFFH |84 FE159 P 8.46 | & it
INRZTH 13 &S Eih 130.76 175 [14 | KF/NRFFHE |84 FE152 *H 169 |&6F
INRZTB 13 &S5 |Eih 130.76 [175 |14 | KR=F/NRFFHE [84 F156 P 5.45 |56
INRZTH[13 &5 |Eih 13076 [175 |14 | KRF/NRFFHE [84 FE 160 P 6.86 | &
IMNRZTH[13 &6 Eith 24187175 |11 | K=E/NWRFFH [84 FH145 pui 318
MRZTE13 FH7 [ 647 [175 |1 ARFNRFFHE |84 FE25 P 865 |6
INRZTEB N3 &7 | 647 [175 |1 KFENRFFHE [84 FE 112 P 23 |&#
INRZTH 13 &7 |4 647 [175 |1 RFENRFIFE [84 FE113 pai] 3B | &6t
INRZTH 13 &S |/ 226|175 |2 | KFE/NRFEHEHE [84 F144 P 297
INRZTH 13 FE9 |EH# 5924 1175 |17 | K=F/NRFFHE [84 FE171 T 78
INRZTBH 13 F 10 |EH#s 15584 [175 |3 | KRF/IRFFHE [84 FH23 P 201 | &6
INEZTH 13 F 10 |FEih 15584 [175 [3 [ R=F/MNR=FFHE [84 & 108 Jai] 6.49 | &4t
INRZTH[13 F 10 |E#h 15584 |175 [3 [ KF/NMRFFHE (84 FE109 1 8.17 | &6
INE=TH 3 FE 11 [Eih 14823 [175 |15 | K=F/INRFFHE [84 153 Jai] 192 | &6t
INRZTH 13 FE 11 |Eih 14823 |175 [15 [KF/NMRFFH [84 FE 157 1 6.17 | &
IMRZTH 13 F 11 | 14823 [175 |15 | KF/NMRFFHE [84 FE 161 P 7.78 | &4
INRZTH |13 #FHE 12 |Eih 45571175 |16 | K=F/INR=FFHF [84 FE154 I 59 |&#
INE=TH 3 FE 12 [Eih 45571175 |16 | R=F/MNR=FFHE [84 158 Ji] 1.90 (&
INRZTH 13 FE 12 |Eih 45571175 |16 [ KF/NRFFH [84 FE162 1 242 | &6
INRZTH[13 #&H 13 |Eih 9351 [175 [4 [RF/NRFFE [95 &FS50 I 122
INREZTHE 13 & 14 |FEH#h 10121175 |7 | R=F/NRFEFE [84 FE148 Eih 12.11
INRZTH |13 #HF 15 |FEih 213.08 [175 |5 R
IWNRZTEH 13 F 16 [Ei 4701 175 |9 | KRF/NMRFFH [84 F132 P 68
INE=TH 3 FE 17 [Ei 21320 [175 |8 R
INRZTH 14 &FE 1 E 87831174 [10 [KF/NRFFH [84 FEs84 P 106
INRZTH 14 &2 Eih 1,711.39 1174 |9 [KRFE/NRFFFE [84 FE1 I 2,087
INRZTH[14 FHE3 |EH 12015 [174 [11 [ KRFENRFEFELI T [255 &2 H 166
INEZTHN14 FE4 |EH 14765 [174 |41 | KF/NRFFHE [84 F 189 Ji] 25 | &6
IMRZTBEB N4 FE4 [£He 14765 [174 |41 | KRF/NRFFHE [84 FE190 P 179 |&46t
INRZTB 14 ZFHFS5 |EHs 10401 (174 |42 | KF/IRFFHE [84 #FE32 1 125 | &6t
MRZTB N4 FES5 [£He 10401 [174 |42 | KRF/INRFFHE [84 FH 186 P 19 |&#
INERZTH |14 &6 Eih 103.81 (174 [43 |XKF/NRFFHFH |84 F187 +H 144
MNR=ZTH 14 F71 [E£#p 6363 (174 |48 | KF/INRFSRE([83 FES3 P 78
INERZTH |14 %8 Eih 184.01 [174 (46 |XKF/NREFHFH |84 FE194 +H 230
INRZTH 14 &ED9 Eih 19165 [174 |47 | KF/NMNERFFE [84 FE193 P 240
INEZTH 14 FE 10 |EH 700 [174 [13 EEn
INRZTH 14 & 11 |Eih 10207 [174 |14 | K=F/INREFFHE [84 FE7S Eih 101.82
INEZTH 14 FE 12 |EH 10359 [174 [15 | KF/NREFFHE |84 &E77 Eih 103.52
INRZTH 14 FHE 13 |Eih 700 [174 |16 e
INEZTH 14 FE 14 |Eih 342571174 [17 | K=F/NRFFH [84 FHE26 Eih 413.33
IMNEZTH 14 FE 15 [Ei 66.00 [174 |18 e
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MRZTBE 14 FEi6e [E£He 18057 (174 |19 | KF/IRFFHE [84 FH38 Eih 175.47 | &6
INRZTH 14 FE 16 |EH 18057 |174 [19 [KRF/NRFFHE (84 FE44 Eih 2317 | &6
INRZTH |14 Z& 16 |Eih 180.57 [174 [19 |K=F/INRFFE [84 FEA45 Eih 5.46 | &6
INS—TH |14 % 16 |=i 18057 [174 [19 [ K=F/NRFFF [84 K46 Eifh 0.74 [ &
IMNEZTBH 14 FE17 [EH# 29.00 [174 |20 1R
INRZTH 14 7 18 |FE#h 189.35 |174 [21 [KF/NMRFFHE (84 FE 37 Eifh 223.28
INRZTH 14 & 19 |E#h 14151 [174 [22 |K=F/INRFFE [84 FEA40 Eih 154.68
INREZTH 14 & 20 |[FE#h 158.09 |174 [23 [KF/NMRFFHE (84 F 39 Eifh 160.29
IMNEZTEH 4 FF21 [EH# 5.00 [174 [24 EEED
INEZTH 14 T 22 |=Eih 10.00 [174 |25 {REFHh
IMRZTBE 14 FE 23 [£H#e 14623 [174 |26 | KF/IRFFH [84 FE27 Eih 151.99
INEZTH |14 T 24 |=Eih 2800 [174 |27 {REZHh
INRZTH 14 ZHE 25 |Ei#h 116.90 [174 [28 |XK=F/IMRFFE [84 FETIS Eih 116.67
INRZTH 14 26 |FE#h 10492 |174 [29 [KF/NRFFHE (84 &6 Eifh 104.11
IMNEZTH 14 FE 271 [EH# 15.00 [174 |30 1R
INRZTH |14 # 28 |EH#h 103.96 [174 [31 |XKF/NINREFFHE 84 &ET9 Eih 104.06
INRZTH 14 29 |E#h 103.41 [174 [32 | XF/INEFFE [84 &S0 Eih 102.90
INRZTH |14 # 30 |[E#h 104.34 [174 [33 | XKF/NMRFFHE |84 FE81 Eih 104.07
INRZTH |14 31 |E#h 12176 [174 |34 | XKF/NEFFE [84 FES2 Eih 120.30
INRZTH |14 FHE32 |Eih 1421 (174 |35 | KF/INRFFE (84 FE 71 1A 13
INRZTHB 14 ZF 33 |E#h 11114 [174 |36 | KF/NMRFFHE [95 FE39 Eih 4224 | &4
INEZTH |14 Z& 33 |[=Eih 11114 [174 |36 | K=F/NRFFHFE [95 FE40 Eih 67.23 | & {#
INRZTH 14 FH 34 |EH# 2500|174 |37 R
INRZTH 14 FE3 |Ei 21317 [174 |1 AXFNMRFFER [84 FO1 1 248
INRZTB 14 ZF 36 |E#h 11252 [174 |38 | KF/NMRFFHE [84 FE150 P 134
INRZTH |14 #3717 |Eih 8772 (174 |2 RKFENMNRFEFHR [84 FHE6S 1A 105
INRZTH[14 FE 38 |Ei#h 55.29 (174 [3 | KF/INRFFH (84 F30 Eih 63.12
INEZTH |14 Z&39 |[=Eih 14386 [174 |39 | KF/INRFFE (84 FE146 Eih 164.65
IMNRZTEH 14 FE 40 [£#t 11321 [174 [40 | RF/NRFFEH [84 F147 Eih 129.38
INEZTH 14 &TE M |EHh 168.54 [174 |4 KRFENRFEEFH (84 #1116 I 20 |&4
INEZTH14 FEM |EH 16854 |174 (4 [KF/NRFFHE [84 F195 P 205 |&#H
INRZTH 14 #& 42 |E#h 182.95 (174 [45 |XKF/NPNRFFFE |84 FE31 1A 228
INREZTH 14 FHE 43 |EH# 43971174 |5 | R=F/NR=FEFHE [84 36 I 60
INRZTH[14 F 44 [EHh 21.99 174 |12 | KFINRFSR%E|83 FH?2 P 26
INRZTB 14 ZF 45 |E#h 45368 (174 |6 | KRF/NRFFHR [84 Fi17 pui 20 | &6
INRZTH 14 FE 45 |Eih 45368 [174 |6 [ KF/NRFFH [84 F188 1A 624 |&H
INRZTH 14 FE 46 |EHh 44409 [174 |7 | KF/INRFFHE |84 FE118 Jai] 19 |66
INREZTEH 14 46 |FEHh 44409 [174 |7 | KFNRFFH [84 FE192 1A 611 |&H
INERZTH 14 FE 47 |EH 203.19 (174 |8 | KRF/NRFHFEAT (254 F 1 £2] 312
INERZTH |14 Z& 48 |=Eih 5837 (174 |44 | KF/INREFHELT|255 & 1 H 80
INERZTH 14 FE 49 |EH# 15411174 |49 [KF/NMRFFHE (84 F191 +H 21
IMRZTBE 14 F50 [E£H#e 4048 [174 |50 |KF/NMRFFHE [84 FE33 Pt 56
INRZTH 15 &1 Eih 122.34 1165 |10 {REGHh
INBRZTH [15 & 2 Eith 200165 |11 REZih
INNRZTH 15 #F3 |E#h 90.84 [165 |12 |KF/IRFFHE [84 FE65 Eih 1947 [ &6
MRZTBE5 F3 [E£He 90.84 [165 |12 |KF/NRFFHE [84 FH93 Eih 0.80 | &6
INNRZTH |15 #F3 |E#h 90.84 [165 |12 |KF/INRFFHE [84 FE9S Eih 8740 | &6t
INRZTHI15 T4 [EH 23642 |165 [13 | KF/IRFFHE (88 F7 LLI£K 270 | &6
INE=TH[15 FE\4 |[Ei 236.42 (165 |13 | KF/NRFFE [99 FE13 LLI#% 15 | &6
INRZTHI|15 &5 Eih 10255 |165  [14 | K=F/NMNRFFE (99 F10 E#h 103.70
INRZTH |15 #6 |E 13603 |165 [15 [KF/NERFFHE (88 &9 Eih 14.76 [ &6
IMRZTBE15 FE6 [E£He 136.03 [165 |15 |KRF/NINRFFHE [99 FE17 Eih 121.23 [ &4
INRZTHI15 #&7 |EH#h 14123 1165 [16 [KF/NRFFHE (88 #HS8 Eih 0.96 [ &4
INRZTHI|15 &7 Eih 14123 [165 |16 | KF/NRFHFHE [99 FE 14 E#h 139.93 | &4t
INRZTH |15 #S8 Eih 106.18 [165 |17 | K=F/MNRFFE [99 FEI15 Eih 105.96
INRKZTHI|15 9 Eih 11759 [165 |18 | KF/INRFHFHE [99 F 16 =ih 117.37
INRZTH 15 #F 10 |E#h 10021 |165 [19 [KF/NRERFFHE [99 F19 Eih 36.02 | &4t
MRZTBE 15 FEi10 [£He 10021 {165 |19 | KRF/NMRFFHE [99 F24 Eih 64.30 | & 6
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INRZTH |15 FE 11 |Eih 101.36 [165 |20 | KF/NRFIFE [99 FE25 L4k 101
INRZTH 15 & 12 |E#h 10156 |165  [21 [KF/NRERFFHE [99 F26 Lk 101
IMNEZTH 15 FE 13 [Ei# 14.00 [165 [22 1R
INRZTHI15 FE 14 |EH 10122 |165 [1 [KRF/NRFFHE [99 FE27 LA 100
IMNEZTH 15 FE 15 [Ei 39.00 [165 |2 1R
INRZTH 15 16 |FE#h 12765 |165 [3  [KF/NRFFHE [84 &85 +H 127
INRZTHI[15 & 17 |E#h 136.39 [165 |4 | KF/NRFHFHE [84 F 86 Eih 136.45
INRZTH 15 #F 18 |FE#h 13700 |165 [5 [KF/NRFFH (84 FE87 Eifh 136.91
INRZTHI[15 & 19 |E#h 137.15 [165 |6 KFENRFFHR [84 FHs8 Eih 137.42
INRZTH 15 20 |[FE#h 134311165 [7 [KF/NMRFFHE [84 F89 Eifh 134.38
INEZTEB 15 & 21 |EH# 13561 |165 [8 [KF/NRFFHE [84 FE90 Eih 134.97
INEZTH |15 & 22 |=Eih 10.00 [165 |23 {REZHh
INRZTHI[16 FHF 1 Eih 103.05 [164 |6 KFENRFFHR [99 F18 Eih 103.50
INRZTH 16 &HE?2 Eih 10320 |[164 [7  [KRF/NRERFFHE [99 &9 Eih 105.72
INEZTEB |16 &3 Eih 101.73 [164 [8 | XK=F/NMRFIFHE [99 &S Eih 106.44
INRZTH |16 & 4 Eih 10158 [164 |9 RKENRFIFE [99 &F7T E# 106.37
INRZTH |16 &S Eih 2200 [164 |10 {23
INERZTHI|16 Z6 Eih 106.41 [164 |1 RKRENRFEFH |99 FE3 Eih 106.00
IMNE=THI1e FE71 [EH 10168 [164 [2 [KRFENRFFE [99 F21 LLI A& 100
INRZTHI|[16 &S Eih 8.00 [164 |3 R Hh
INRZTB 16 &9 |EH# 10256 (164 |4 | KF/IRFFHE [99 FE22 Eih 102.52
INEZTHI[16 Z&E 10 |[=Eih 103.64 [164 |5 RKFENMNRFFHR [99 #F?23 Eih 103.31
MREZTH 17 F 1 =ih 1,111 161 [10 | KF/IRFFHF [96 FH1 =i 876 | &6
MR=ZTEH 7T FH 1 Eih 1,111 [161 |10 | KRF/NRFFHE |96 &3 =ih 13 |&6
IMNRZTE N7 FE2 [EBR# | 504 [161 [8 [KFNEFHFEFR [97 FI Eih 234.71 | &6t
INRZTH[17 T2 BN 504 [161 |8 RKRENRFEFH |97 &S LAk 388 |&#
INRZTH 17 FE3  |EiHh 12941 [161 [17 [ K=F/NREFFHE [98 &b L&k 167
INRZTH |17 &4 Eih 12945 [161 |18 | KF/NRFIFHE [98 FHE5 L&k 167
INRZTHB 17 &5 Eih 13128 161 |7 | KF/NREFFE [98 FHF1 L #k 169
INRZTH 17 #H6 A 42 161 |11 | KF/NRFFE [113 &3 H 64
MNRZTEN7 F71 |4 1069|161 [1 | KF/NMRFFE [ FE H 2,770 [»2
INREZTEB 17 #& 8 A 1016 [161 |2 | KRFNMNRFFE 311 &H A 2770 |93
IMRZTEHN7 FE9 H 47 161 [3 | KF/NMRFFE [113 &1 H 71
MNE=TH[17 FEi10 [MH 395 [161 [4 | KRFNRFFHE 101 F P 525
INRZTH 17 & 11 | 146|161 [5 | KF/NINRFFHE [100 F 1 I 179
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INE=THI9 &5 Eih 132.34 [183 |23 FINRFIRETE |542 &3 H 153
INR=TH |9 % 6 Eih 107.38 [183 |24 | K=F/NRFFKETE[542 FE4 H 124
INR=THI9 &HE7 Eih 149.15 [183  [25 [KR=F/NRFFHiETE[509 FE3 I 37 |&ft
INR=TH |9 %7 Eih 149.15 [183 |25 | KF/INRFEFRiETE[542 &S H 138 |&4t
INE=TH |9 % 8 Eih 44658 1183 |14 | KRF/INRFFHREIE 538 & i 1173 [
INR=TH |9 %9 A 406 [183 |15 |K=F/INRFEFRETE|513 &2 1A 660
INRE=TH |9 10 |4 518 [183 |1 KRENRFEFREE[537 T I 714
INR=THI9 FE11 |H 8220183 |2 [K=/NRFFH 111 F H 145 |9
INRETHI9  FE 12 |lu#k 34 [183 [3 | KF/INRF#AAE [465 F 22 LIk 50
INR=ETHI9 FH 13 |EH# 239.87 183 [4 | XKF/IMRFHFRETE|547 FE 1 H 309
INRETH |9 14 | 223 (183 |5 [ KRF/NMNRFX#HI[803 FEI 1A 251
INRETH |9 15 | 280 [183 |6 | KF/IWRFEFRETE[539 F J 1523 |9 ZE|
INRETH |9 & 16 |[E£ih 68.60 [183 |7 RENERFFREE|514 T 1A 81
INRETHB 9 F 17 |E#e 11455 [183 |8 | KRF/MNRFFETE[536 & 1 P 149
IZNE=THI[9 Fi1s [E#h 10763 [183 |18 | KF/INRFFETE[536 &2 I 140
INRETH |9 19 |Eth 14048 [183 [19 [RF/NRFFZETE[536 F 4 *H 183
INR=THI9 F20 [EH#s 13798 [183 |20 | KF/INRFFETE[536 &S 1 179
INR=TH |9 21 [Eih 110.44 [183 |21 | KF/NRFFKiETE[536 &3 J 144
INR=THI9 F22 |EH#s 13506 [183 |9 | KF/INRFFRETE[546 &2 H 208
INRETHB 9 #F 23 |E#s 65.94 1183 |16 | KF/NRFIRETE[546 F3 H 101
IR=THBI[9 F24 [£H# 69.12 1183 [17 [KF/INRFEFRETE[545 &7 H 102
IZNE=TEB[9 FE25 [E#h 135.06 [183 |10 | KF/NMNRFEFKETE 545 F 1 A 199
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INRETHI[10 ZFE 12 |E£ih 22172 (182 |2 AFENEFFREE]|525 FE2 G 356
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INR=ETB 10 ZF 15 |EHs 12022 [182 |20 | KF/INRFFRETE[525 &S 1A 193
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INER=THI[18 F&H 1 Eih 10191 [202 |5 | KF/NRFFHFEIT[245 &3 Eih 103.86
INE=TH[18 &2 Eih 108.47 [202 |3 RKENREFHEIT|246 &8 E# 106.39 | & 6t
INE=TH[18 &2 Eih 108.47 [202 |3 KFE/INERFFEIT (246 T 17 EHh 1.86 | &
INR=ETH |18 # 3 Eih 111.73 [202 |2 RKENEFHREIT|[246 &7 E# 109.89
INR=TH |18 & 4 Eih 102.74 [202 |6 | KF/NRFHEIT|246 &3 EHh 102.16
INRETBE 18 &S5 |Eih 400|202 |7 1R
INR=ETB 18 &6 |EHs 11822 (202 |1 | KRF/NRFFHET[246 F2 Eih 117.48
INR=ETHI[18 & 7 Eih 2.00 [202 |4 R 231
INE=THI[19 &1 Eih 13758 [203 |12 | K=F/MNEFFHELT[238 F9 Eih 136.71
INRETH 19 #FHF: 2 Eih 12561 [203 [13 | KEF/NRFFEIT[238 FE 11 Eih 125.52
INR=TB 19 #FHF3 |EH#s 13527 (203 |14 | KF/IRFFHEIT[237 &3 Eih 94.70 | & 6
INR=THI[19 &3 Eih 135.27 [203 |14 | KF/NRFFHEIT[238 F?2 Eih 38.66 | &6
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INE=ETHI19 FE4 |EH 183.37 (203 |15 | KRF/NRFFHEIT [237 F6 Eih 3261 | &4t
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INR=TH9 FE 12 |=Eih 118.24 [203 |1 KFENREFFHEITF[236 F3 =ih 117.87
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IMNR=THBHI[21 F71 [£#t 11229 [204 [12 [KFE/DNRFFHEIF[230 F 13 Eih 092 |56/
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INR=ETHB |21 &8 |EH#s 12465 [204 |30 | RF/NMRFmAGR[424 &7 1 14 | &6
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INRETH |21 # 27 |E#h 11470 [204 |13 | KF/NRFFHFE+T[230 F 19 Eih 1.92 | &
IZNE=TEHI[21 F 27 [E#h 114.70 [204 |13 | KF/NMNRFFHE1T[230 F 20 e 1.39 | &4
INRETH |21 # 27 |E#h 114.70 [204 [13 [ KF/NRFFEIT 230 &F 21 Eih 0.04 &4t
INR=TH (21 & 27 [Ei#h 11470 |204 [13 [KRF/NRERFFHEIT[230 F 22 Eih 021 |55
INR=ETH |21 FH 28 |E# 2.00 [204 [14 {231
INR=TH |21 #F 29 |[E#h 101.05 (204 [15 | XKF/NREFFHFET]230 F7 E# 96.35 | & {3
ING=TH 21 ZFE 29 |Eih 101.05 [204 |15 | KF/NREFFHE+T[230 & 16 Eih 409 | &4t
INRETH |21 #FE 30 |4 289 [204 |16 |KZFE/MNEZ#EAE[291 F i J 330
INRETH |21 #F 31 |E#h 8.01 {204 [32 |XK=F/IMNRFFHHFT]230 & 10 Eih 8.06 [ &
INR=THB 21 F 31 |EH#s 8.01 (204 [32 |XKF/INRFHEAT[230 F 12 Eih 0.19 | &6
ING=THI[22 FH1 Eith 126.96 |[205 |5 KFENRFEFIIT|218 F 1 I 160
INR=TH 22 &2 [ 124 1205 [15 [KRF/MNRFFHEIT[218 &6 1A 157
INE=TH 22 &3 M 190 205 |7 KFENRFHEITF 218 FES i 241
INR=TH |22 &4 Eih 171.01 (205 |11 | K=F/NRFEKIILL[448 FES 1A 218
ING=TH[22 &S J 170|205 [13 | KF/INREFFE [314 &F G 608 ||
INE=THI[22 &6 Eih 172.65 [205 |8 KFE/NRFAAE (267 FE2 Eih 185.95
INR=ETH |22 &7 Eih 22217 [205 |9 EEED
INR=TH 22 F8 |Eih 15114 [205 |1 AF/IMNRFFHFEIIT[235 F9 1 176
INE=THI[22 & Eih 5233 (205 [12 | KFE/NRFHEFTF (235 & 22 G 61
INR=TH |22 #FHE 10 |Eih 166.57 [205 |2 REHh
INR=ETH 22 & 11 |Eih 172.21 [205 |3 KFE/INEFEHFE [107 F 1 H 234
INE=ETH 22 F 12 |Eih 168.91 [205 |10 | K=F/NRFIFHE [106 F1 I 188 |&#t
INRETH 22 #F 12 |E#h 168.91 [205 [10 [ K=F/NRFFHE [107 F3 H M &6
INR=THBI[22 F 13 [£H# 16456 [205 |4 | KRF/IRFFHET[232 &S 1R 212
INRETH 22 #F 14 |E#h 168.10 205 [16 | KF/INREFFHEIT(232 F4 +H 217
INR=TH |22 #H 15 |E#h 164.80 [205 [17 [KRF/NRFFHEIT (232 &3 1A 213
INE=TH 22 ZFE 16 |Eih 164.01 |205 [18 | KF/MNRFFHEIT(232 &2 }H 211
INR=TH |22 #FHE 17 |Eih 160.79 [205 |6 KENEFHET|[218 F2 Eih 198.43
INR=TH[23 &1 Eih 197.75 1199 |6 KFE/NRFHBAE (260 T 4 Eih 206.55
INR=TH[23 &2 Eih 13242 1199 |7 KFE/NRFHAAE (269 FES Eih 132.45
INR=TH |23 &3 & 999 [199 |3 [KR=F/NRF#HEAF (270 F 1 }H 1,100
INRETH 23 #FE4  |4E 190 [199 [8 | KRF/NREFMHEAE (275 & Ji 522 |5 E|
INR=TH |23 &5 Eih 12011 (199 |14 | KXF/INERFmAiE[421 & 18 L #K 152
IMR=THBI[23 F6 [EH 12009 [199 |15 |KRF/NMRFmAGER[421 F17 ITE3S 152
INRETH |23 &7 Eih 120.14 [199 [16 | KF/INRFFHAR][421 & 16 LIk 152
INR=TH |23 &8 Eih 12020 1199 [17 | K=/ RF=1L [375 F 11 G 125 |&#t
INRETH |23 #& 8 Eih 12020 [199  [17 | KF/INEFmAR[421 & 15 LUK 271 | &6
INR=TH[23 &9 Eih 12010 [199 [18 | K=F/NMWREF=1L [375 F 10 G 153
INR=TH |23 #F 10 |E#s 12413199 |19 | KF/NRF=IL  [365 & 14 1A 53 |&#
INR=TH |23 #FH 10 |Eih 12413 (199 |19 | KF/NMRFEIL [375 &9 1A 111 | &4
INRE=TH 23 F 11 |EH 11024 {199 |20 |KF/NRF=ILU [374 &3 1A 77 |&#
INRE=ETH |23 & 11 |E£ih 11024 1199 [20 | K=F/NWREF=IL [375 F4 G 63 |&F
INR=TH 23 F 12 |EH#H 12268 (199 |1 | KRFE/NRFFE [338 F 1A 125 |&#
INR=TH 23 FHE 12 |=Eih 12268 [199 |1 AFENERFEI 375F1 D 1 |1@ 51 |&1#
INR=TH |23 #F 13 |#fEh 3800199 [21 | KF/IRFmAZE|421 F19 LLIAK 4.88
INRE=TH |23 ZFE 14 |E£Hh 110.02 [199 |9 AKFENEFFIL [375 FS 1A 140
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INR=ETH |23 #F 15 |E#h 11002 [199 [10 [KF/NRFEIL  [364 & 11 LIk 101 |&6
INR=TH |23 #& 15 |[FEih 11002 [199 |10 | KF/NMNRFE=IL [375 &6 1A 0 |&6t
INR=THI[23 FE 16 [Ei 11000 {199 |11 [ KF/NRF=IL [364 F12 LLIAK 91 |&6
INR=TH |23 ZF 16 |Eih 11000 [199 |11 |R=FE/NRF=IL  [365 F 11 1A 59 |&6
INRE=TH 23 & 17 |E#h 110.00 [199 [12 | K=F/IMRF=IL [365 F12 A 161
INRETH |23 F 18 |Eih 11000 |199 [13 [KRF/NRERFEIU [365 & 13 +H 161
INRETH |23 #FH 19 4@ 49 [199 [2  [KR=/NR=thBHE (262 &2 1A 9.65 [ &6
INR=TH |23 ZF 19 |4 49 [199 |2 | KF/NRF#HEHE([270 &3 *H 46 |&6
INRETH |23 FH 20 |Eih 110.34 [199 |4 {7221
INR=TH[23 Z&F 21 |Eih 12640 [199 [5 | XKF/MNEFHBAE (269 & 1 E#h 120.50
INR=ETH 24 FH 1 Eih 267.89 198 |4 KFE/INEFHBHE (266 &2 1A 188 |&#t
IZNE=TH[24 F 1 Eih 267.89 [198 [4 | K=F/NRF#HBAR (266 &S I 161 |&4F
INR=ETH 24 72 A 132 [198 |5 KFE/INEFHBHE 266 &7 1A 164
INER=TH |24 #3 Eih 119.56 [198 |1 KFE/INEF B (266 &6 I 149
INRETH |24 2 4 Eih 11342 [198 |2 KFE/INEFHBHE (265 &2 Eih 112.45
INR=ETEB 24 &HF5 |Eih 300198 |3 1R
INR=TH |25 &1 Eih 106.35 [197 B |9 KF/NEFHAAE [263 &S Eih 104.21
INRETH |25 FHE?2 Eih 102.73 197 B{10 | XF/NRFHBAE |263 F 4 Eih 103.29
INRETH |25 # 3 Eih 3.00 [197 B]11 {231
IZNRE=THI[25 F4 [Et#h 131.38 [197 B|12 | KF/MNRFHBAH [265 &S Eith 130.69
INR=THI|25 &5 Eih 4.00 [197 B|13 {F 2t
INE=THI[25 &6 Eih 130.68 [197 B|14 | XK=F/NFEF4HBAE [265 FK 6 Eih 130.64
INRETH |25 &7 Eih 461.07 [197 B|15 | KF/NRFHEAE [264 & *H 604
INR=THI[25 # 8 Eih 29.62 (197 B[16 | XF/MNRFMBAZE 271 F 10 J 32
INE=THI[25 &9 Eih 2024 [197 B|17 | X=F/NRFaBEE (271 & 1 I 31
INE=TH |25 & 10 |Eih 132.96 {197 B |1 KFE/NRFHHAAE (258 &K 11 1A 165
INR=ETH 25 FH 11 |EH# 11757 [197 B2 | KF/NFEF#HBEAHE [262 F6 Eih 115.71
INR=TH |25 #H 12 |EH#h 147.90 [197 B[3 | XF/MRFBAE 262 &3 Eih 147.85
INE=TH 25 ZF&E 13 |=Eih 88.03 [197 B[4 KFENREFIFE [84 FE9? 1A 109
INRETHB |25 #F 14 |Eih 200|197 B]5 1R
INRETH |25 FE 15 |Ei#h 5.00 [197 B |6 {234
INE=TH |25 ZFHE 16 |Eih 103.36 [197 B|7 KFE/NRFAAE (263 FE3 Eih 102.81
INR=TH |25 & 17 |Eih 13408 [197 B[8 [ RF/NRF7BHE [263 & 2 Eih 134.76
INE=TH |26 &1 Eih 211.35 [197 A8 KFE/NRFAAE (259 FK2 Eih 190.94 | &4
INRETH[26 & 1 Eih 21135 [197 A8 | KR=F/NRFHBEAE[261 F1 +H 61 |&f
INR=THBI[26 FE2 [E£H# 178.01 [197 A|9 | KF/NRF#BHAFE [250 &S Eih 37.28 [ &6
INR=TH |26 FH?2 Eih 178.01 [197 A9 KF/INEFMBAE (261 &4 1A 179 |&4t
INRETH |26 3 Eih 139.60 [197 A[13 | XKF/NRFBAE [259 &4 1A 28 |&#
INR=THI[26 F3 Eih 139.60 [197 A|13 | KF/NRFMBAE (261 &3 G 143 |&4t
INR=THBI[26 FE4 [£# 39.18 [197 A|10 | KRF/INRFFHEIT[220 F 2 H 51
INE=THI[26 &S Eih 135.73 [197 A |11 | K=F/NRF#RBAE [258 & 12 J 165
INR=THI|[26 F&EG6 Eith 16.00 [197 A |12 REZih
INRETH |26 &7 Eih 107.36 [197 A |1 KRFINRFFELT 256 F 15 Eih 107.31
INE=TH([26 & 8 Eih 155.01 |[197 A2 REZih
INRETH |26 &9 Eih 104.38 [197 A4 | XKF/INEFFHEIT|256 &3 Eih 104.42
INRETH 26 FE 10 |Eih 21.00 |197 A5 R
INR=THI[26 & 11 |Eih 166.00 [197 A[6 | XKF/INEFMBAE 259 & 1 }H 209
INRE=TH |26 ZFHE 12 |E£ih 178.26 [197 A|7 KFE/NRFAAE [259 FE3 G 217 |&#
INR=THB |26 ZF 12 |E#s 17826 [197 A7 | KF/NRF#BAE [261 &2 1A 784 | &4
INRETH 27 FHE 1 Eih 10036 [195 |5 | KREF/PNREF#HEFE (258 &3 Eih 100.41
INR=ETH |27 &2 Eih 20.00 [195 |6 R
INR=TH 27T &3 Eith 100.30 [195 |7 KFE/NE A [258 FE2 Eih 100.68
INR=TH 27 Z& 4 Eih 20.00 [195 |8 R
IMNR=TBI[27 &F5 [E£H# 10462 |195 [9 [KF/NRF#4HBHZ (258 &9 Eih 104.74
INR=TH |27 #&6 Eih 20.00 [195 |10 R
INRE=TH 27T &7 Eith 11529 [195 [11 | KF/NEFMHBHE 258 & 10 Eith 115.37
INR=TH 27 #S8 |Ei#h 2000 [195 [12 EEED
INRE=THI[27T &9 Eith 136.09 [195 [13 | KF/NEFBAE|258 & 7 Eith 136.09
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INR=TH |27 #FH 10 |Eih 20.00 [195 |14 R
INE=TH 27 & 11 |Eih 14301 195 |16 | K=F/INFEFhBAE (276 F 4 I 208
INRETH |27 & 12 |E#h 142.88 [195 [15 | XK=F/MNRFHBEAE 276 &S A 208
INE=TH |27 F 13 |Eih 19854 [195 |1 KFE/NRFHBAE (276 &6 1A 289
INR=ETH |27 &F 14 |1E 174 [195 |17 | KF/NRFHBAE (276 & 3 1A 254
INR=THB 27 F 15 |4 246|195 |2 | XKF/NRFMBAE|276 F2 1A 359
INR=TH 27 & 16 [ 183 [195 [3 [K=F/NREFEHH[695 F6 1A 279
INR=THB |27 F 17 |4 201|195 |4 | XKF/NRFMBAE 257 F2 1A 267
INR=ETH 27 Z&F 18 |1 201|195 [18 [KRF/NRFHBAE 257 &3 1A 267
INE=TH 27 ZF 19 |4E 203 [195 [19 | KRF/INRFMHBAE|257 & 4 J 269
IMR=THI[28 F1 I 147 [196 A[8 | KF/NRFHEIT[240 &S Y 209
INE=TH |28 FH?2 Eih 1400 [196 A |6 {RE b
IMR=TEBI[28 FE3 [E£H# 10092 [196 A|5 | KF/INRFFHFEIT[256 &7 Eih 100.59
INR=TH |28 &4 Eih 9.00 [196 A |4 {RE b
IMR=TEBI[28 &HF5 [E£H 101.13 [196 A|3 | KF/INRFFHEIT [256 &6 Eih 101.24
INR=THB |28 #F6 |Eih 9.00 [196 A2 1R
INE=TH |28 FHE7 =iy 102.07 [196 A |1 RKRENEFHEIT 248 TS Eih 6.80 | &
INR=TH |28 &7 Eih 102.07 [196 A |1 KENRFHEIT|256 &S E# 9502 | &1
INE=TH |28 F& S8 H 226|196 A|7 KEINEFFHELT [240 Z 14 H 3.11
INR=TH 29 F i LLI#% 87 196 B[17 [KF/NRFEEFtH (667 F 1 LIk 200 |9 E|
INR=ETHI29 FHE2 |4 216|196 B|13 | XKF/IMNRFELHH (667 F3 T 272
INRETH 29 #FE 3 H 497 [196 B|12 |XF/NRFELILT|639 & A 641
INR=THI29 HE4 |4 609 [196 B|11 | KFE/NREMBAR|273 & T 915
INR=THI[29 &5 & 134 196 B{14 | XKF/NEFHEIT|[204 F 1A 261 |HE|
INR=THI29 FH6 Eih 100.75 [196 B{15 | XK=F/INRFFHFEIT|221 F?2 I 56 |&f#
INR=THI29 #&6 Eih 100.75 |196 B[15 [KF/NRFFHEIT (221 &3 Ji 80 |&f
INRETHB 29 FHF 7 |E#e 51.63 196 B[18 | KF/NRFHEIT[221 &F6 *H 69
INR=TH 29 # 8 Eih 3768|196 B[19 [KF/IMNRFFHFEIT[221 &7 1A 50
INE=THI[29 &9 Eih 5255 [196 B|21 | KF/NRFFHEIT (222 FH 4 J 71
INRETH 29 FH 10 |Eih 81.83|196 B|20 | KF/NRFEHET [222 F3 1 110
INE=TH 29 &FHE 11 |Eih 11217 [196 B[22 | KF/INRFFHEIT[222 &S I 151
INR=TH 29 #F 12 |EH#h 10401 |196 B[16 [KF/NRFFHFEIT (222 &2 1A 140
INR=TH[29 #& 13 |Eih 133.39 [196 B |1 AFENRFHBAE[262 FES }+H 133
INRETHB |29 #F 14 |E#h 3.00 [196 B2 1R
INRETHB |29 ZF 15 |E#h 10081 |196 B[3 [KF/NRERFFHEIT[256 &9 Eih 100.62
INRETHB |29 #F 16 |Eih 3.00 [196 B[4 1R
INRETHB |29 ZF 17 |E#s 10093 [196 B[5 [KF/NRFFHEIT[256 FE 10 Eih 100.60
INRETHB |29 #F 18 |Eih 3.00 [196 B6 1R
IZNE=TEBE[29 F 19 [E#h 101.06 [196 B|7 | KF/NMNRFFHEIT 248 &3 =ih 100.81
INRETH 29 FE 20 |Eih 111.12 [196 B[8 | XKF/MNEFHBAE 258 & 1 1A 132
INRETH 29 #F 21 |E#h 105.89 |196 B[23 | XK=F/NREFBAE [258 & 14 +H 126
INR=THBI[29 F22 [£H#t 110.09 (196 B|24 | KF/NRF1BHE [258 & 15 1A 131
INR=THB |29 #F 23 |E#h 1145 [196 B|10 [ KF/NRFFHFEAT [149 FE 1 1A 15
IR=THBI[29 FE24 [E£H# 31718196 B9 | XF/NRFBAE [265 & 1 *H 392 [&H
INR=TH[29 #&H 24 |E#h 31718 196 B[9 [ KRF/MNERF#HBAE 265 &4 }H 6.19 | &4
IMR=THI[30 Fi =i 17721 1194 |7 [ R=F/NR=F#BEE (271 &3 1 178
INRETH |30 2 Eih 36591 (194 |6 [ K=F/NRF#BAE[271 &4 1A 211 | &#
INR=THI[30 &2 Eih 365.91 [194 |6 KFE/NRFZAAE 271 FES I 211 |&#
INRE=TH |30 # 3 Eih 114.00 [194 |8 R
MR=TEBEI[30 F4 [ 845 [194 |9 | XKF/NRFMBAE|285 &S 1 1,059
INRETH |30 #ES LUK 113|194 [10 | KF/INERFmAR[413 E1 LUK 1797 [9Z
INRETHI30 FHE6 J] 28 194 [11 [KFE/NRFFHFHE [122 F1 1A 1857 [HE
INR=TH 30 &7 & 820 [194 |1 AFE/NRFHBAE (282 F }H 1,332
MR=THBI[30 FE8 [ 11755 [194 [14 [R=F/NR=F+hBHE [283 &2 1 178
INE=TH 30 &9 Eih 11736 [194 |2 | KRF/NRFHBAE (283 &1 }+H 178
INE=THI30 #FHE 10 |Eih 11748 [194 [15 | XK=F/PNRFHBEAE [283 &3 A 178
INE=THI[30 & 11 |=Eih 133.17 [194 |16 | K=F/INFEFhARE (283 &F4 I 201
INRETH 30 FHE 12 |Eih 132.69 [194 [17 | X=F/MRFHBAE 283 &S5 1A 201
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INR=TH[30 13 [Eih 112.36 [194 |3 | KF/INR-HEHE |283 &6 1A 170
MR=ZTH [30 F 14 [Ei 137.27 [194 |4 B2
MR=TH[30 F 15 |Eih 18149 [194 |13 Exorm
MR=TH[30 & 16 |Eih 14412 [194 |12 BEH
MNR=THI[30 F17 [£#h 489 [194 [18 | KXF/NRFFEIT[203 F4 H 6.70
NRETH 31T &' [ 10055 [193  [10 [ RF/NRFFIAF [221 FH 4 H 138
MR=TH[31 F2 |[EHh 110.10 [193 11 [ KF/NRFFEITF [221 FE5 H 151
NR=TH |31 &3 [£ih 5221 (193 |6 | KF/NRFFEIT[203 F2 H 72
MR=TH[31 F4 [EHh 165.25 [193 |12 | KF/NRFFE4 T [203 FE 3 H 227
NR=TH|31 &5 [£ih 21943 [193 |7 | KXF/IRFEHH (695 &S 1@ 369
NMR=TH[31 FE6 |[Eih 8560 [193 |8 [KF/NRFHEIT[240 F 13 0 130
NR=ETHI|31 &7 [£ih 110.64 [193 |19 [ KF/NRF##HBAHR [281 & 1 A 171
MR=TH[31 FE8 [EHh 13264 [193  [18 [KF/NRFHEAE|[278 F7 P 205
NR=ETH[31 %9 [£ih 150.37 193 |17 [KF/INRF#HBAH [278 &6 A 233
MR=THI[31 F10 [£#h 12248 [193 |15 [ KRF/INRF#HBEAE [278 &S P 190
MR=ETH 31 F 11 |[Eih 115.74 1193 |16 | KF/MNRFHBAE |278 74 I 179
MNR=TH[31 Fi12 |[EHh 12436 [193  [14 [ KF/NRFMHEAE|[278 &3 1A 193
INR=TH [31 #13 [Eih 13270 [193 1 [ XF/NREF#HEAE[278 &2 I 205
INNRETH 31 F 14 [ 132.26 [193  [13 [ KF/NRFMHEHE [278 FE 1 J 205
MNR=TH 31 F 15 [/ 779 [193 [2 [KFE/NRFMBEE|[277 & I 1110
NR=TH[31 #F 16 [/ 264 [193 |3 | KRFE/NRF#HBAE (279 &3 1 377
INR=TH (31 & 17 b 119.38 [193 |4 [XF/RF A% [486 F 4 1A 164
MNR=TH[31 FE 18 |[Eh 12803 [193 |20 [KF/NRF#HEH#% [486 &5 X 176
IMNR=TH[31 & 19 |[Eih 131.32 [193 |21 | KRF/NMNRF#BA% (486 &6 I 180
INR=TH (31 & 20 [£ih 11582 [193_ [22 [ KF/NINRFAA% (486 &7 J 159
MR=ETH [31 #F 21 [Eih 10046 193 |5 | KF/NRFFEIT [221 F 1 5] 138
MR=TH 31 F22 [£is 314451193 |9 | KZF/INRFBAE [281 F2 T 486
MR=ZTH 32 &1 [/ 585 [188 |9 |K=F/NRFMBAE [485 & i 826
INRETH (32 ‘2 |[£is 239.89 [188 |10 | RF/IDRFFBAE [484 F 2 I 330
INR=ETH [32 #F3  [HE# | 313 [188 [11 | KF/NRF#BA%[478 F 1 I 427
INE=TH[32 &4  |£th 373188 [12 | KF/NRFMBA%Z [478 & 14 Eih 3.72
MR=ETH[32 F5 |EHh 8315188 [1 [KF/NRFHHBA% [478 Z8 =i 81.33
MR=ETH[32 Fe [EHs 8664 [188 |2 |KF/IMRFMBAE[478 F9 Eih 7378 [&
MR=TH |32 #H6 [Eih 86.64 (188 |2 |KF/IRFMBA% [478 & 15 Eih 12.36 & B
MR=ETHI[32 #FHF7 |[Eih 9259 188 |3 [KZF/INRFHBEA [478 FE 10 Eih 70.18 | &
MR=ZTH |32 #7 |EH 9259 [188 [3 | KF/NRFMEA 478 F 16 T 2101 &6
MNR=TH[32 FE8 |[EHh 10256 [188  [4 [ KF/NRF#EAZ[478 F 11 Eih 69.03 [& 6
MR=TH 32 #&8 |Eih 10256 (188 |4 | K=F/NR=FBHHE 478 F 17 Eih 3209 | &
MR=TH[32 #FHF9 [=ih 24074 [188 |5 [KF/IMRF#HEEE [478 F 18 =ih 32744
INR=TH (32 F 10 [Eih 10087 [188 |6 [KF/NRoF#hEH#% [486 &2 P 141
NNRETH[32 F 11 £ 116.88 [188  [13 | KF/NRF#BA% [486 F 3 I ™
INR=TH [32 & 12 [Eih 175.05 188 |14 | KF/MNRF A 486 & 1 I 245
IZNRETH[32 F 13 [£h 4370 [188 |7 [KF/IMRFFELILF[594 &2 I 60
MWR=TH[32 F14 |/ 45 (188 [8 | KF/INRF#BHE|479 & e 1266 | 5=
INR=TH[33 F 1 |[Eih 168.77 [187 |9 | KF/NRF A% [483 &F 1A 267
MR=THI[33 F2 [ 388|187 [8 [KF/NRFF&E [100 F3 I 526
NR=TH[33 &3 [/ 121|187 [10 |KF/NMRFFHFHE 100 &5 R 164
MR=TH[33 #F4 |[/H 703 [187 [7 [KF/NRF#HEER[479 T I 1266 |52
MRZ=TH[33 #HS5 [ 564 [187 [1 [KF/NRFMBIHE[476 &1 i 1803|523
MR=TH|33 #F6 |4 659 [187 [2  |XKF/INRFmBH%[476 & 1 I 1803 |9E
IZNR=TH[33 &HE71 |[Eih 9351 [187 [3  [KF/NRFwEAZE[478 F 4 =H 93.41
IMNRE=TH[33 &8 |[£ih 9057 187 |4 [ XF/NRFMEAZ[478 TS = 90.40
INR=TH[33 #H9 [Eih 86.70 [187 [5 [ KF/NRFBA%[478 F6 =i 86.40
MR=TH[33 F 10 [EH 86.41 (187 |6 | KF/NRF#BA%([478 F7 = 37.69
MNR=TH[33 F 11 [4& 121 [187 [11 [KFEDMRFHFER [100 F4 I 164
MR=TH |34 F1 |48 531|181 |7 [KF/NRF#BA 475 & A 1216 |2
NRETH (34 E2 |48 23 181 |8 [ KF/NRFHEEE[476 F 1 I 1803 [2E
MR=THI[34 &3 [ 809 [181 [9 [KF/INRFHEARE|474 F I 1034
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NNR=THI[34 F4 |4 431 [181 16 | X=F/IR=FHEA [466 F 1 P 571
INR=TH (34 %5 pui] 29 [181 [15 [KREF/NRF#BF%[465 T3 =i 79 |5HE
NR=TH|34 %6 |[MH 30 [181 [14 [KF/MRFEE LG [561 F H 386 | E
MR=THI[34 F7 [ 229 181 [13 [KF/NRF#HBA 473 & P 1996 |9 E
INRETH[34 #F8 [H 10 [181 [17 [ KFENRFEFE [111 F ] 145 |5 =
INRE=TH[34 F9 |[Eth 40 [181 10 [XFIMRFFKETE[515 FE2 =i 39
INR=TH[34 #F 10 |H 83 [181 |11 | KF/NMRFFE 111 & 0 ]
INR=TH [34 FE11 |Eih 949.00 [181 [4 | RF/INRFHRETE[515 F 1 M 1,190
INRETH 34 F 12 |EH# 169.20 [181 [12 [ K=F/NRFFiETE|516 F?2 Eih 212.71
INRETH (34 F 13 [E#h 107.72 [181 |31 | KF/INRFFELE|523 &6 T 14 | &6
INE=TH 34 F 13 |FEih 107.72 [181 [31 | X=F/INRFFRETE|535 &K 4 A 148 | &4t
INR=ETH[34 FH 14 £ 14070 [181 |30 | KF/INRFHIELE|523 &S Pl 169 | &6
INE=TH 34 FE 14 |FEih 140.70 [181 [30 |XR=F/INR=FFHRETE|535 &3 A 46 |&4t
INR=TH [34 #FE15 =i 105.20 [181 [32 | XF/NRFFKETE]523 &7 H 14 (&6
INNR=TH (34 Fi5 |Eih 105.20 [181 |32 | KF/NRFFHRETE[535 F2 P 144 |&6
MNR=TH[34 F 16 [Eih 10667 [181 |1 | RF/INRFFHRETE|523 &S I 16 |56
NWR=TH[34 F 16 [Eih 106.67 [181 |1 | KF/INRFIFRZEE|535 & 1 I 145  |[&6
NR=TH |34 #1171 _[£ih 11105 181 |2 [KF/IRFFEE|523 F4 P 171
MNR=TH[34 F 18 |[Eih 115.76 [181 |25 | KF/MNRFIFRETE|523 &3 i 178
INRETH (34 FE19 [EHh 108.73 |181 |26 | KF/NRFHRiEE][522 ZF 1 I 163
INRETH (34 FE 20 [E#h 105.87 [181 27 | XKF/NRFHRiETE][522 FE3 i 159
INRETH (34 F21 [EHh 13492 |181 |29 | KF/NRFHRiETE]523 &2 I 208
INNR=TH |34 F 22 |Eih 105.48 [181 [28 [KF/NINREFFKiETE[522 T4 1 351 | &5
INR=TH |34 F22 |Eih 105.48 [181 |28 | KRF/NRFFKRiETE][523 F 1 *H 158 |& 6
INRETH (34 #F 23 (£ 48113 [181 [3 [ XF/INRFFETE[516 F 1 I 708
INER=TH |34 F24 |HH 66 [181 [5 [ KF/NRERF#AAE[406 F P 1,084 |HE|
INRETH (34 FE25 [E#h 12012 ]181 |6 | KF/NRFHRERE]514 F 1 i 143
INR=TH[34 FE26 |[Eih 12407 [181 |18 | KF/NRFFREE|514 T2 1 148
INRETH (34 & 27 (£ 12407 [181 |19 | XKF/NRFHRiEE]514 T3 I 148
INRETH (34 F28 [EHh 12014 1181 |20 | KXF/NRFHREE]|514 T4 I 143
INR=TH [34 FE29 [Eh 12016 [181 |21 [ RF/NRFFKEE]514 FS I 144
INR=TH (34 F 30 [EHh 124111181 |22 | KF/NRFHREE]|514 &6 I 148
INRETH (34 & 31 [EHh 12415 [181 23 | KF/NRFHREE]|514 F7 I 148
INRE=TH (34 F32 [EHh 12014 1181 |24 | XKF/NRFHRiEE]|514 &8 I 143
MNR=TH [101 F R AEH | 2,332 B
MNR=TH [102 #& AR A | 1,496 B
MR=TH [103 & ARAEB| 144 B
MNR=TH |104 #& AR AR | 1,343 B
MR=TH [105 F ARAEH| 325 B
MNR=TH [106 & ARFES | 625 B
MR=TH [107 F ARAEH| 585 B
MR=TH |108 # ARFER| 351 EEE
MRZ=TH |[109 # ARMAER| 252 B
MR=TH |[110 # SRFER| 448 i
MR=ZTH 111 & ARmAER| 147 B
MR=TH [112 & ARAEE| 1,107 B
MRZ=TH 113 & ARAER| 111 B
MR=TH |[114 & sRmEE| 154 i
MR=ZTH 115 & ARMAER| 734 B
MR=TH |116 #& ARMEEE| 167 i
MRZ=ZTH 117 & ARAER| 474 B
MR=TH [118 & ARAEE| 1,115 B
MRZ=TH |119 & ARMAER| 271 B
MR=TH |[120 # ARFEN | 1,846 i
MRZ=TH [121 & ARAER | 2,440 B
MNR=TH 122 % ARAER| 400 B
MR=TH [123 & ARMER| 371 B
MNR=TH [124 & sRmE| 893 B
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EEH/INRMX FR 2849 A

— IR FEXIER

44 IH
B3 BE | wE | wE | 0x Bt HE3 BE BE [ BE | e
INR=TH [125 & ARAER| 647 EE
INR=TH [126 & SemEs] 661 BX
INR=TH 127 & ARAER| 484 e
INR=TH [128 % NRAER| 746 =
INRE=TH [129 & ARAER| 811 e
INRE=TH [130 agmEn| 723 B
INRE=TH 131 & ARAER| 687 e
INRE=TH [132 & AgmEE| 961 B
INRE=TH [133_ & ARAER| 2,162 e
INR=TH [201 & FREKEE | st S|
INE=TH [202 F 12 620 RN
INRIETH | % 1 LI #K 316 [160 |8 | XF/INRFESHI|22 F2 ITESS 459
INRIUTH |1 %2 [k 26 [160 |9 |XF/NRFETR[22 F1 LAk 515 |5 =
METCR=RE 3 | 171160 |10 [KF/NRFFHE 306 F 1 P 732 |HE
INRPUTH |1 &4 LIk 145 [160 [11 [ KF/NRFFHAE]413 F 1 LLI#K 1,797 |[9=
INEETH |1 E5 |/@ 195 [160 [12 [XF/hRFE£1LT[663 FS80 1A 248
INRIOTH |1 6 |/ 2161|160 |6 [KF/NRFrmALE[413 &3 P 4228 |23
INRETE 7  [lu# 1,998 160 [4 | KR=F/NREFIKIILL[448 FE 1 LLIAK 12,128 |52
INEIETH |1 8 | 104|160 [15 [KF/NRFFHFEIT|235 F 11 *H 121 |&6
INEETH |1 % 8 & 104|160 [15 [KF/NRERFFHEIT[235 & 19 1A 7.90 [ &6
INEIETH |1 %9 H 0431160 [16 |XKFENRFFHFET 211 F1 H 9.93
MNEIETH % 10 |4 45 160 [17 |XF/NRFHEAIT[214 F 1 R 287 |HE
INRIOTH |1 %11 |[MA 36 [160 [18 | KF/NRFHEIT[213 F H 228 |5 E
INRPUTH |1 12 |A 330 [160 |19 |KRF/NINRFFHFET (220 F 1 H 423
INEIETH |1 13 | 24 160 [20 [ KFENRFFE [321 F I 1,021 [9E|
INEETH |1 E 14 |Eih 149.33 [160 [21 {72
INRIOTH |1 15 |Eh 149.32 [160  [22 {231
INEETH |1 E 16 |Eih 149.33 [160 [23 Z2Hh
INEIETH |1 xE 17 |EH#H 13769 [160 |1 {234
INEETH |1 % 18 |/ 172 [160 [2 | KF/NRF#HEEE[297 F 1 A 268
INRIETH |1 %19 |/ 173|160 |30 |XKZF/INRF4HEEE (297 &2 +H 269
INEETH |1 % 20 |Eih 97845 160 |3 [KRF/NRFHBEAE (296 F 1 1,434
INNRETH |2 #FA =i 57971 [153 [8 [ XZF/IR=F4EE#%[482 &FE 1 1 879
MNRETHE |2 F2  |Ei 1,394.83 [153 |9 | KRF/MNRFHEAHE [300 F P 8409 [HE
INRIOTH |2 %3 P 1,026 [153 |6 [KRFE/NRF#HEAZK[477 & I 1,600
INEMETH |2 &4 & 697 [153 |5 KEFE/NEF#EAE (472 T 1A 892
INRIUTH 2 &S5 |4 204 [153 [10 |KFE/NREF#HBA%[473 T P 1,996 |9E|
INREUTH[2 FH6 |Eih 43570 ({153 |11 | KRF/NRFHEAE 471 &2 P 532
INREUTH 2 &7 |4 445 [153 |1 KE/NGFHBAZ[471 T 1 I 519
NEmTE[2 Fs |4 502 (153 |2 | KRF/NRF#HBAK (473 F Pl 1996 [ ZE
INEATH |2 &9 |4 583 [153 |4 | KF/NEFaBE%[473 &F I 1,996 |9
INRIATH |2 10 | 643 [153 |7 KEFE/NEFHEAE (480 F 1 1A 697 |&1F
INRETE 2 #F 10 |4 643|153 |7 | XF/NMRFBA [480 &2 1 287 | &6
INRUTH[3 FA E3T 1,916.01 [144 [10 [ KF/NRF1BHE [465 &4 Eih 606.84 [ &6
INREETH I3 &HF 1 Eih 191601 [144 [10 [ KRF/NRF#HBAE (467 T Eih 1,547.10 [ &
INRPUTH 3 & 1 Eih 1,916.01 [144 [10 | KRF/MNRF#BAE [468 F 1 Eih 338.84 [&
IRIETH (3 % 2 Eih 44957 [144 |17 | RF/NRFHEA [465 T 1 LIk 4661 |HE
NRETE 3 &3 |IU#k 1,880 [144 [9 [ K=F/IRFw#eAZ[465 F 1 LI A 4661 |9
NRIOETH 3 F 4 [HE [ 400 [144 [7 [KFDRFHBERE[465 F 1 LLI#£ 4661 | E|
INRIMTHI[3 &S5 |Eih 32819 144 |6 | KF/INRF#BA [465 &S =i 438.10
INRPUTH I3 #HE6 |Eih 150.13 [144 |19 | KR=F/NRF#HE% [465 F 19 Eih 201.23
INRMTHI3 &7 Eih 3562 [144 |5 [ RF/NRF#BH%[465 F 14 Eih 188.97 [ E|
INRIUTHI3 &S Eih 106.71 [144  [11 | KF/NRF#BF1% |465 &S Eih 106.11
INRMTHI3 & Eih 5.00 [144 ]12 R 503
INERPATH 3 10 |[E#h 400 144 |16 {234
INRIETH |3 11 [Eih 10155 [144 [13 | KF/PNRF#BFZ (465 &9 Eih 101.03
MROTHI3 Fi12 [EHb 10480 [144 [14 [KF/INRF#BE#% [465 F 10 Eib 104.73
INROTHI3 FE13 |Eih 116.56 [144 |15 [ K=F/INRF+hBA% (465 T 7 Eih 116.57
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LTEMH/NMNRIE TRE284F 98
S IR FEXIER
HT o IH

HE3 BE [ W [ R | x| HE2 HE I
INRIUTH 3 F 14 |EH# 142.00 [144 |1 KE/NDF A 464 & 1 1A 166 |6
INRIUTH (3 & 14 [EiHh 14200 [144 |1 | KF/NMNRFHBAE 464 F3 Ji 23 |&4
INRETE 3 ZF 15 |E#h 12056 [144 [2 [ RF/NRFHBHZ (464 T4 P 158
INRPUTH |3 16 |Eih 84.48 (144 (21 | XKF/INRFHKETE|518 F4 +H 110
MRIEETHI[3 & 17 £t 11174 [144 |4 | KXZF/NRFHBAZ [465 3 14 Eih 188.97 | Z
INEETH |3 & 18 |Eih 150.15 [144 [18 | K=F/INREFhBA#% 465 FE 18 Eih 201.24
INRETE I3 &F 19 | 691 [144 8 | KF/INRFFHREIE]|519 F 1 Y 995
INRIUTH |3 & 20 |Eih 36.06 [144 |3 | KRF/NRFHBAEZ [464 FES +H 47
INRETH I3 F 21 |Ei#h 31.09 144 |20 | KFE/NRFHET[201 FE 1 H 58
INEPATH |4 1 Eih 57400 [145 |7 | KR=F/INRF#BERE [465 T 1 LAk 4661 |5E
INREUTHI[4A FE2 |EH# 34800 [145 [8 [|XF/NIRFBA# (465 FH 1 L&k 4661 |9 =
INRPATH |4 &3 & 63 [145 |9 KEFI/INRFHEAE [300 F 1A 8,409 |HE
NRETH (4 &4 (£ 112.80 |145 |10 | K=F/NRFIKIILLI458 FE 2 Je 95 |&6t
INEETH4 4 Eih 112.80 [145 |10 | R=F/INR=FKIIN L [459 & 1 +H 40 |&6
INETH |4 E5 Eih 10752 [145 [12 [ REFE/NRE#=BEZ[462 F7 A 128
INRIUTH[4 Fe  [EH 197.82 [145 |14 | KF/NRF#BEARZ [461 F6 P 240
INEETH |4 =7 Eih 184.55 [145 KF/NEFAE# [461 TS J 222
MNEETH4 FS |Eih 218.45 (145 |2 | KRF/NMNRFHEAE 462 T4 Eih 182.77 | &
INRUTH 4 %8 Eih 21845 [145 |2 | XF/IRFMEARE [462 &5 R 53 |&H
INEIETHE |4 9 J 160 [145 [13 [R=/MNRF+hBA% (462 &6 1A 162
INREEETH 4 F 10 |Ei# 10578 |145  [3  [KF/NRF#HBA% (465 FE 12 Eih 105.67
INREUTH 4 FE 11 |EH# 10.00 [145 |4 Z2Hh
INREETH 4 FE12 |Ei# 104.89 (145 |5 | KF/IRF#BAE [465 & 13 Eih 104.75
INRIUTH 4  F 13 |EH#h 10.00 [145 |6 Z2Hh
INEETHI[4  F 14 |Eih 73.99 [145 |15 | KRF/NRFHBAE (462 &1 *H 87
INRIUTH (4  F 15 [Eih 7150 [145 |16 [KF/NRFFHBA 461 T 7 H 86
INRIOTHIS &1 Eih 449231146 |7 | X=F/INRZFKIIL]451 F 4 LAk 679
INRIEUTE [ #F2 [E# 73597 [146 |3 [ XK=F/MNRZFKIIIL[451 &5 Lk 1,113
INEETH |5 &3 Eih 26250 [146 |2 [ RF/INEF#BEAE[300 F G 8,409 | E|
INRPUTH |5 % 4 Eih 4925 (146 [5 [ XK=F/NMR=FKINL[458 F 3 1A 59
INRIUTH IS &H&S5 |EH#h 39373 (146 |6 | KF/NRFHKETE]|531 F1 i 563
INRPUTH |5 %6 Eih 250.57 [146 |1 KFENRF=IL [358 F3 1A 326
INNRETHIS FT|EH 390.76 146 [4 | XF/IMRFKIIILL|456 F 3 H 495
/INRPUTH |6 E 1 Eih 129349 [143 |3 | RF/NRFKINL[457 T2 Eih 684.29 [ &
INRIUTH 6 &1 =i 1,293.49 (143 |3 | KF/NRFKIILW [457 &9 Eih 542.11 | &4
INEMETH |6 &1 Eih 1,293.49 (143 |3 KE/NRFKINL|457 FE10 Eih 268.03 [ &
INEETH |6 &2 e 721 143 |2 | R=F/NR=FKIIILWL|[458 FE 1 +H 863
INEETH |6 ZE 3 i 1170 [143 |1 KF/NRFEmBA% |460 & 1 M 1,404
INRIOTH [T &1 Eih 15001 [147 |14 | KRF/NINFEF#HBEA% 468 F6 Eih 212.38
INRPUTH |7 E 2 Eih 121511 [147 |4 | RF/NRF#HEAE (469 F 1 Eih 1,375.13
IMNRETH[7T &3 =i 52000 |[147 [3 | XKF/IMRFEA |469 F2 LI K 625
INRETE |7 #F4  |E#h 14319 [147 |7 [R=F/NRFKII1IL|455 FES =i 165.28
INEETHE |7 &S5 | 646|147 |8 | XKZF/IMRZFKIIILL|455 F 4 1A 330 |&H
MRETE[7T &F5 [ 646 |147 |8 [KR=F/NMRZFKJILL|455 &6 1 113 |&H
INEETH |7 % 6 1A 233|147 |10 [K=/NMRFEIL [363 F2 +H 276
NRIEETH 7 #F 7 [lu# 1,003 [147 [ | KF/NRFKIILL[448 FE 1 LAk 12128 |5 E|
INRETE7 &8 | 666 |147 |2 | KF/NEFKIIL][459 &3 +H 759
INNRETE |7 &9 |E# 10123 [147 |5 | KRFE/NREF#HEAZ|[465 Fb6 LIk 143
INRETHE |7 #F 10 |EH#s 128.16 [147 [15 [KRF/NRF#hBA% [468 &3 Eih 67.63 |5
INRIETHE |7 & 10 [Eih 128.16 [147 [15 | K=F/NRF#BHZ (468 F7 E#h 113.82 | &4
INEETH 7T F 11 |EH#H 133.18 [147  [16 [K=F/NRF4hBA% [468 &8 3 188.56
INRITHE |7 & 12 [Eih 128.20 [147 |6 KEF/NFEFrBE# [468 FE 2 E#h 181.51
INRETHE |7 #F 13 |EH#e 2675 [147 |17 [ KRF/NRF#EZ (468 T4 Eih 37.88
INRIETHE |7 & 14 [Eih 14000 [147 [13 | XEF/NRFBFZ 468 FHS E#h 198.21
INRETHE |7 F 15 |EHs 101.01 [147 11 [ REF/DNRF#EEEZ [465 T 20 ITE:S 142
MRETE[7T FEi6e [£ie 101.03 [147 |12 | R=FE/NRFwBFE 465 T 21 L #K 142
INRPUTH |8 & 1 E 18811 [149 [13 [ REF/NRF#BHT% (469 FE 3 L #K 226
IMNRUTHIS FwE2 |Eih 44630 [149 |8 | KRF/NRF#EA# (470 &2 Eih 54522
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FEH/PNRE TRE284F 98
S IR FEXIER
HT o IH

HE3 BE [ W [ R | x| HE2 HE I
INRIATH |8 & 3 J 993 |149 |7 KEFE/NEFHEAEZ (470 F 1 1A 1,166
IMRIUTHIE #E4 |4 365 [149 |4 | K=F/NRF#EAE (470 &3 1A 446
INREHTHIE FHES5 |Eih 263.36 [149 |9 | K=F/NR=FK)IL]455 B 1 =i 113.18 | & 6F
INRETHEI8 #FHFS5 |EHs 263.36 [149  [9 [ RF/NMERFIKIIILL[455 &7 e 173.13 [ &6
INREHTHIE FHE6 |Eih 49.00 [149 [10 EEED
INNRETHEI8 #FIT  |EH 331.67 [149  [12 | XF/NMRZF5KIIILL]455 F 10 Eih 16957 | &4t
INRETHIS FEI £ 331.67 149 [12 | K=F/NRF5KJIILL 455 F& 11 Eih 172.80 | &6
INRPUTH |8 %7 Eih 331.67 [149 |12 [KR=F/NMRERFKJIL[455 FE 12 MiEH 56 |&6F
INEIETH |8 % 8 Eih 100.43 [149 |19 | XK=F/NRFEkJI1L[455 & 18 A 130
INRIUTHIE FEE9 |Eih 100.05 [149 |20 | RF/MR=FIKIIL[455 F 19 *H 129
INEIETH |8 10 |=Eih 100.05 1149 |21 | XR=F/NMNRFKIIL[455 & 20 I 129
INREUTH I8 FE 11 |Eih 100.00 [149 |22 | RF/NRFIKIILL[455 & 21 1A 129
INEIETH |8 12 [Eih 101.36 [149 |16 | XK=F/NRFEkJI1L[455 & 22 A 131
INNRETH I8 #HF 13 |Ei#h 100.37 (149 |14 | RF/MRFIKIILL [455 B 23 +H 130
INRIOTH |8 xE 14 |Ei# 100.07 [149 |1 RFE/NRFKIILL 455 & 14 *H 129
INRIUTE[8  &F 15 [E#h 150 [149 |23 | K=F/INRZFkKJILL[455 F 24 1R 1.95
INREUTH I8 FE 16 |Eih 100.01 {149 |15 | KF/MRFKIILL [455 F& 15 T 129
INRIUTE [ #F 17 [E# 101.34 149 |17 | KR=F/NMRFKIILL[455 F 16 1R 131
INRETE 8 ZF 18 |E#h 65.88 [149 |18 | KF/MNRFIKIJILL [455 & 17 T 85
INRPUTH |8 E19 |Eih 3516 (149 [2 [ K=F/NMNREFKINL]455 FH9 MEiEH 35
INRPUTH 8 #FE 20 |Eih 415.08 [149 |3 | KR=F/NMNRFIKIILL 455 B8 MfEHh [ 489
/INRPUTH |8 xE 21 |/ 51 1149 [5  [KF/NRFHBAE [479 B 1A 1,266 |9 E|
NRETHE 8 #F22 M 35 (149 |6 | KFINRFHREE[513 &1 T 56
/INRPUTH |9 E 1 A 2,130 [150 [2 | XF/NRFMBAZE 300 F I 8,409 |/ E|
INRETEI9  ZF 2  |IU#k 2349 [150 |1 KE/NREKIL[454 FE 1 LLI AR 2,829
INNRETE 10 &F 1 Eih 241661 [152 |3 [ KR=F/NRFHBAE 300 F i 8409 |9 E|
INEETH|[10 FE 2 Eih 163420 [152 |4 [ KRF/NRFHBAE[301 F Eih 1,917.35
NEETH[10 &3 Eih 561.15 [152 |1 RFE/NRFHBEAE (299 & L4k 750
INEETH 10 & 4 Eih 167.55 |[152 [2 | KF/MNRFMBAE 267 & 1 I I EE
INEETE 11 &F A =i 15899 [151 |8 | RF/NMRFIKIJILL[452 & 1 1R 191
INEETH 11 F2 |EH# 131.99 [151 |33 | KF/MRFKIILL [452 & 23 P 159
NNRETE [11 &3 [E# 104.00 |151 |17 | KF/NRFIKIILL[452 7 22 i 125
INEETH 11 F 4 |EH# 111.05 [151 |16 | RF/NMNRFIKIILL [452 F& 21 pui 133
MREETE N1 FS5 [E£He 13310 [151 |7 | RF/NMRFIKIILL[452 F 10 1R 160
INEETH 11 FE6 |Eih 10553 [151  [6  [RF/NRFIKIILL[452 FE 12 1 127
MEETE 1 F71 [£He 14265 [151 |5 | RF/NMRFIKIILL[452 F 11 1R 171
INEETH |11 #F 8 Eih 116.14 [151 |18 | RF/NRFKIJILL[453 FE 4 LLI#E 249 | &4t
NEETH |11 &S Eih 116.14 151 [18 | XF/MRFBA% 484 T4 1A 154 |&6t
NNEETH 11 F9 Eih 115.84 [151 |1 KFE/NRFEKIIL[453 &3 LLI#5 7.78 | &4
NEETH 11 &9 Eih 115.84 [151 |1 KEF/NEFBA#2 [484 FE 3 1A 148 |56t
INRETE 11 2 10 |HfEt 007 151 |32 [XK=/NMNRFKJIL|453 &9 LI K 0.08
INREETH 11 F 11 |Eih 10008 [151  [19 [KR=F/NR=FkKJI1L]453 FES L #K 120
INEETH 11 F 12 |EH# 100.15 [151 |20 | K=F/MR=FKIILW [453 &6 LK 120
MREETE 11 F 13 [£H#e 9595|151 [21 [ KRF/NRFKIILL[453 &7 L #K 115
MRERETE 11 F 14 [£# 10056 [151 [22 [ KZF/MNREZFEKIIW|453 F 12 ITE:S 121
INREETH 11 F 15 |Eih 100.70 [151  [23 [ R=F/INRE=FKIN1L[453 FE 13 L #K 120
MRERETHE 11 F 16 [£#t 3026 [151 |26 | K=F/INRFKJILL[453 FE 15 LAk 36
INRETH 11 FE 17 |Eih 3128 [151 |25 | KF/MNRZFKIILL[453 & 14 ITE3S 37
MRETHE 11 F 18 [£H#t 31.00 [151  [24 | R=F/NMNEZFEKI|W][453 & 10 ITE:S 37
INREETH 11 FE 19 |Eih 0.12 [151 |27 |XK=F/NRFKIILL]453 &8 L #K 0.15
INRETHE 11 #F 20 |[EHh 1.22 1151 |28 | KRF/NRFKIIL (453 FE 11 LAk 147
INRIETH 11 T 21 |Eih 1.25 [151 |29 | KF/NRFKIILWL[453 F 16 TS 151
INRETHE 11 #F 22 |EH#s 1.22 1151 |30 | RF/NRFKIILL (453 FE 17 LAk 147
IRETE 11 #F 23 |Eih 0.12 151 [31 | X=F/IMRF5K)II1L]453 & 18 ITE3S 0.15
INEETH 11 F& 24 |EH 419.27 [151 |2 | KR=F/NRFKIIL][453 F1 L3S 505
INEITH 11 &E 25 |Eih 45441 [151 |3 KENRFKIIL]453 FE2 =ih 548.46
INEPATH |11 & 26 |MfEH 248|151 |4 | X=F/NMRFKIIL|452 & 13 +H 3.02
INREETH 11 % 27 |Eih 106.13 [151 |10 | AF/NINEFKINL[452 & 15 1A 128
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EEH/INRMX FR 2849 A

S IR FEXIER

HT o IH

HE3 BE [ W [ R | x| HE2 HE I
INEPATH (11 & 28 |=Eih 100.51 [151 11 | KR=F/NMRFKIILL 452 &5 16 J 121
INRPETH 11 & 29 |E#h 100.46 [151 |12 | KRF/NRFEKIILL[452 FE 17 1+ 121
INRPUTH [11 & 30 |Ei#h 100.18 [151 [13 [ RF/DEFKINL[452 F 18 1A 120
INEHETH (11 & 31 |Eih 11410 [151 |14 | K=F/NMNREFKIL[452 FE 19 I 137
INRIATH |11 #FE 32 |Eih 101.01 [151 |15 | K=F/NMEFKJIWL|[452 F 20 I 121
INEITH [11 F 33 |azmam| 128 [151 |9 [ XKF/WNRFKINWL[452 & 14 P 154
INRPUTH [12 & 1 E3 121.98 [157  [7 [ R=F/NRZFKIJILL|450 & 11 LLI A& 121
INETH[12 &2 Eih 8.00[157 |8 {REFHh
MRETE 12 F3 [E£He 15000 [157  [9  [RF/NRFIKIJILL[450 FE 12 E3 150.05
INETH [12 & 4 Eih 8.00[157 [10 {REFHh
INRATH|[12 S Eih 133.40 [157 |11 | XK=F/NRFEKJI1L[450 & 13 Eih 133.45
INETTH[12 &6 Eih 8.00[157 |12 {REZHh
INRIUTH 12 &7 FEih 106.81 [157  [19 [KF/NRF#HBAE (302 &4 P 135
INEPATH [12 & 8 Eih 115.63 [157 |18 | KF/MNEFMHBEE (302 &F 3 o 147
MRETE 12 FE9 [E£He 60.07 [157 |17 | KF/NRERF#HBEAHE [302 &2 1A 76
INRIUTE [12 &F 10 [E#h 55.51 |157 |16 | KF/MNRF#BAH 303 F3 i 70
MRETE 12 FE 11 [£He 116.10 [157 |15 | KF/NRF#HBAHE [303 &2 P 146
INRIUTE [12 #F 12 [E#h 149.60 [157 |14 | KF/NMNRFHBAE (304 F4 i 191
INRETE 12 & 13 |4 956 [157 |1 KE/NRFFHEAE [304 F 1 T 1,221
INRIUTE [12 #F 14 [E#h 133.60 [157 |13 | KF/NMNRFHBAHE 304 FS5 I 170
MRETE 12 FE 15 [£He 19215 [157 |2 | KRF/MNRF#BAE (303 & 1 i 243
INRPATH [12 #& 16 |EH#h 326.00 [157 |3 [ RFE/NEFHBAE[302 F i 1A 414
MRETE 12 FE 17 [£He 107.00 [157 |4 1RE
INRIUTE [12 #F 18 [E#h 188.88 [157 |5 1R
INREUTH [12 & 19 |Eih 176.03 [157 |6 D
INRPUTH [13 &F 1 Eih 106.00 [158 [21 [ REF/DNRF#HEFE [298 & 20 LIk 138
INRIATH 13 &2 |[£ih 10093 [158 |30 |K=F/NR=FHBHER [295 F 11 P 145
NEETH[13 &3 Eih 13218 [158 |9 [ KREF/NRF#EFE (303 &8 1A 162
INEETH 13 & 4 Eih 132.23 [158 [10 | XF/NRF BT [303 &9 G 162
INRMTH 13 &S Eih 12811 [158 [11 [ REF/NRE#BEFE (303 & 10 1A 157
INRETH|[13 6 Eih 256.27 {158 |5 KF/NRFHEAE [304 & 2 }+H 330
NNREUTE[13 &F 7 [E#h 42661 [158 [1  [KF/NRFHHBAE (267 FE 1 P 771 [ E|
INRMTH |13 & 8 Eih 200 [158 |12 | KF/NRF#HBAE 303 & 11 }+H 2.46
MRERETE N3 F9 [£H 13001 [158 |2 | KF/NRF#BHE [303 &4 1 160
IRIETH 13 F 10 |Eih 13269 [158 [6 [K=F/NRF#HBAHE [303 &5 P 163
MREETE N3 FE 11 [£He 13234 [158 |7 | KF/NRF#BAE([303 F6 P 163
INETH 13 & 12 |Eih 13249 [158 [8 [ RF/NRF#BH%E [303 & 7 }+H 163
MRETE N3 F 13 [E£H#e 10579 [158 |22 | KF/NRF#BAE [298 & 19 LLIA& 138
INERPUTH[13 & 14 |Eih 107.62 [158 |23 | X=F/INE A [298 & 15 L #k 140
INNRIUTE [13 &F 15 [E#h 107.41 |158 |24 |K=F/MNRFBEATH [298 F 14 LLI£K 140
INRUTH[13 & 16 |Eih 107.47 [158 |25 | K=F/NRFHBAE (298 & 13 LLI#K 140
NNETE 13 & 17 [E#h 107.69 [158 |26 | KF/NRF 4B 298 #FE 12 LLI £ 140
INRPUTH 13 & 18 |Eih 10753 [158 27 | RF/INEFHBEAE [298 & 11 LIk 140
NEMTE 13 & 19 [E#h 107.55 [158 |28 | KF/NRF#4HBHATE 298 & 10 LLI £ 140
NRETH 13 #F 20 [Eih 6.66 [158 |29 |[XK=/MNRF4HBAER 298 &9 AR 8.87
NETE 13 & 21 [E#h 100.90 [158 |3 [ KF/INRF#HBEAE 295 & 10 Je 145
INRPATH 13 & 22 |[Eih 6.74 1158 |13 | KF/NEF#HBAE 298 & 1 LIk 8.87
INEPUTH |13 & 23 |Eih 10756 [158 |4 | K=F/INRF#HBEAE [298 &3 LK 140
INRETE 13 #F 24 |EHh 10756 [158  [14 [K=F/NRFhBAF (298 &4 LK 140
NEMTE [13 & 25 [E#h 107.72 [158 |15 [ KF/NRF#4HBAE [298 &S LLI £ 140
INEPATH [13 & 26 |E#h 107.55 [158  [16 | XKF/NREFBAE [298 & 6 Lk 140
INEPUTH 13 & 27 |Eih 106.48 [158 |17 | KF/NRFhBEE (298 &FE 7 LK 138
INRIETE 13 2 28  |#fEth 1.96 [158 |31 | KF/INRF#BAE (298 & 16 LK 2.83
NETE [13 & 29 [E#h 10648 [158 |18 [ KF/MNRF#4HBAE [298 &8 LLI £ 138
INEPATH [13 & 30 |[E#h 106.15 [158  [19 | XKF/NEFMBHAE |298 & 17 L4k 138
NEMTE [13 & 31 [E#h 106.02 [158 |20 |K=F/MNRFFHBEHF [298 F 18 LLI#£ 138
INNRETH 14 #F 1 1A 847 159 |7 [KRF/NRFHBAER (288 & 1 *H 548 | &6
INEOTH 14 F 1 J 847 (159 |7 | KF/NRFHBEAE (289 F 1A 485 |6

30




EEH/INRMX FR 2849 A

S IR FEXIER

HT o IH

HE3 BE | EE | R | D> B HE2 HE I
NEmTE 14 F2 @ 703 [159 [11 [KF/IRFFmAR[413 &FES i 4,228 |23
INRETE 14 &3 |H 125 [159 [27 | K=F/INR=Fw#EAE [284 F +H 2185 |9 =
INNRETE 14 &4 M 70 [159 13 | KR=F/NRFrhBAEE 286 & 1 i 677 |H =
INRIMTH [14 &S5  |Eih 2063 |159 |21 [KF/NRFMEAR[202 FE2 D 2 |EiHb 819.83 | E
INRATH|[14 6 A 174 [159 |20 | KFE/NRFEFEIT[222 &1 A 248
INRIUTE [14 &F 7 [4H 58 159 |22 [KF/NRFFHEIT[204 F i 261 |93
NRETHE 14 FS  |Eih 18751 [159 |24 | RF/MRFHEAE([292 F2 D 2 |Eih 319.83 [ E
INRPUTH [14 #FE 9 H 62 [159 [26 |KRF/INRFFEIT[203 F 1 H 89
INRETE 14 & 10 |4 774|159 [14 | XKF/IRFHFEAT|202 F 1 H 204 |&6
NEmETH[14 & 10 [/@ 774 [159 [14 | XF/DNRFFET[202 F2 H 125 |&46
INRETE 14 & 10 |4 774 [159 [14 | K=F/INRFFHFEFT[224 F 1 H 347 |&6
NETE [14 F 10 [/@ 774 [159 [14 [ XF/NRFHEAT[225 & 1A 323 |&8
INRETE 14 F 11 |4 187 [159 25 |KF/NRFFE [103 F 1A 601 |5 Z|
INRTH 14 & 12 || 972 [159 [15 | KRF/NRFFH [104 F1 }H 1,256
INRETE 14 F 13 |4 13 [159 [23 | KRFE/NRFHEIT[224 F2 i 19
INEMTH |14 #F 14 |H 133 [159 |16 | KFE/NRFFHFEHTI[213 F H 228 | E|
MRMTE 14 FE 15 [#fEw [ 703 [159 [17 [ X=/IR=F#EEE[298 F2 LLI AR 1,223
INRETE 14 ZF 16 |4 283 [159 [18 [XF/NIRFMBEAE[291 &F2 *H 337
INEPTEB (14 & 17 |=Eih 1,198.10 [159 |19 | K=F/NhR=F#EAE|291 &2 D 2 |=ih 436.36 | & {3
INRPATH |14 F 17 |EH#h 1,198.10 [159  [19 [K=F/NIMRF#MAAER[292 F2 D 1 [E# 088.42 | &
INRTUTH [14 & 18 |Eih 384.88 [159 |1 KENEFMHAE[202 F2 D 2 |E# 819.83 |l
INEPUTH |14 #FE 19 |Eih 86.32 [159 |2 RENEFHEAFE|292 F2 D 2 |Eih 819.83 | D Zl
INRTTH [14 & 20 |Ei#h 162214 [159 [4 [ KF/NRFHBEE[292 F 1 Eih 1,983.47
INEIETH 14 & 21 48 630 [159 |5 | KRFE/NRFEHE 305 F1 1A 1,066 |9
INRETE 14 F 22 |4 1,030 159 [6 | KR=F/NRF#BAE (205 & 12 1 1,482
INRETHE 14 #F 23 |EH#h 1,139.23 [159  [12 | KF/NRF#AHE (288 & 2 Eih 7933 [ &
INEPATEB [14 & 23 |=Eih 1139.23 [159 |12 | K=F/NEF#BHE (293 & Eih 1,256.19 | & {3
INRPUTH 14 T 23 |Eih 1,139.23 [159 |12 | KRF/NERF#BEE (294 FE 2 Eih 52.89 | &4
INRPUTH [14 & 24 |Eih 48813 [159 [8 [ RF/INEF#EAE[294 1 }+H 595
INERPUTH |14 FE 25 |Eih 69.21 [159 |9 RKFENEFFE 305 F 1A 1066 | ZE|
INRPUTH [14 & 26 |Eih 561.02 [159 [10 [RF/NEF#BAE [287 1 }+H 684
INRIOTH[15 &1 1 128 156 |9 |[KF/NRFF#E [307 F 1R 3183 |9 E
INEETH[15 F2 e 540 [156 |6 | KF/INRFFH [310 F2 }+H 671
INRPUTH [15 % 3 Eih 12274 |156 |7 | KF/NINRFFE [321 &F 1 1,021 [9E|
INRETE 15 &4 |EH# 823.78 |156  [8 | XKF/IMRFFH#% [313 F 1 P 1,232
MRETEN5 FS5 [£He 11051 [156  [10 | KF/NRFF#E [313 F2 1R 165
INRPUTH 15 &6 |4 1421 [156 |1 KFENMNRFEFER 312 F1 i 1,771
INEETHI[15 &7 J] 592 [156 |2 [ KRF/NRFF#E [310 F1 1A 872 [H=
INEETH |15 # 8 J 115 [156 |3 KFENMNRFEFE [310 F1 }+H 872 [H =
INRPUTH 15 &H9 J] 87 l156 [4 |X=F/INR=FFHFE 312 F?2 1A D
INRETHI[5 ZF 10 |[H 47 1156 [5 [ K=F/NRFFE [102 F £2] 383 |9
INRPUTH [16 & 1 E 213743155 [2 | XFE/NRFHFE [309 F 1 =i 2,771.85
INRETE 16 &2 | 454 1155 |3 [K=/NRFEFH% 308 T P 714
INRIETH |16 F 3 e 597 |155 |1 RKENRFEFHE 307 & 1A 3,183 |59 F|
NRETH[16 &4 |[Eih 37334 [155 [4 | KRF/NMRFFHE (309 &2 Eih 484.34
MRUETH[17 &1 |4 410 [154 |4 [KF/IRFFHE [306 &2 i 245 |&f6F
MRETHE 17 &1 [ 410|154 |4 |KXF/IRFFHR |306 &3 P 39 |&f
MRUETH[17 &1 |4 410 [154 |4 [KF/IRFFHE [306 &4 i 10 |&#
NRIETH 17 &1 (4@ 410 [154 [4 |KF/INRFFE [306 &S P 240 |&Bt
INNRIEOTHE 17 &2 [E# 786 [154 [9 | KRF/INRFFHEAT[183 &6 £ih 8.06
INRPUTH 17 #E 3 P 566 |154 |8 |KF/INEFHEZ [307 F +H 3,183 |&HE
INRIOTH 17 & 4 I 246 154 |5 RKRFENEFSEE|7T7 FI 1A 1,789 [HE
INEETHE 17 &S5 |EH# 34858 [154 |6 | KF/INRFFH [316 &2 1 297 | &ft
INRIATH 17 &S Eih 34858 [154 |6 KENRFEFE 316 FE10 1A 158 |&ft
INEETHE 17 &6 |EH 16246 [154 |7 | KF/NMRFFE [316 T Eih 161.98
NWEmTBE N7 F7 [#@Ew | 177 154 |1 [ X=NhRFEFE [316 F i LIk 203
INREETE 17 &S | 892 [154 [2 [KF/NRFHE [307 F +H 3,183 |9 E
INEIETH 17 F9 J 270 |154 |3 RKENEFEFE 306 F1 I 732 |[H=E
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INRPUTH [18 & 1 E3 19234 [148 |5 | KRF/NMRFIKIILW[452 &9 Eih 229.30
INEPATH |18 #F 2 Eih 7.00 [148 |6 R
INREETH 18 FE3  |Eih 12.00 [148  [12 R
INEMTH[18 & 4 Eih 139.55 [148 |7 KENRFKIILL[452 FES8 EH# 139.43
MRETE 18 FHFS5 [E£ie 12760 [148 |8 | KRF/NIRFIKJILL[452 &7 P 127
NNERTE[18 Fe6 [EHh 12014 (148 |9 | KFNMNRFSRE([64 FE1 I 5.40 | & B
INRMATH|[18 6 Eih 120.14 [148 |9 KENRFKIIL][452 F&3 A 196 |&4t
INEETH18 FT  |Eih 1110|148 |14 [ KF/NRFSRE[64 FE 1 Y 13
INRIUTH |18 & 8 Eih 0388 [148 [10 [XKF/NRF#BHZ[484 F 1 A 145
NRETHE 18 &F 9 [ILU#k 1,820 148 [3 | KRF/NRFIKIILLI[448 FE 1 LLI K 12128 [9F)
NREMTHE 18 F 10 [Ei 2,356.37 [148 |1 KEFEINRFKINW 451 FE 1 LAk 3,912
NEETH 18 F 11 |H 21 148 |2 [KFINRFSRE([17 T4 H 6.65 [ &6
NRETE 18 &F 11 |4 21 (148 |2 | KFIRFSRE([77 _Ee6 P 17 | &6
IRETHE 18 #F 12 [Iu#k 586|148 |4 [RF/NRFKIINLL|451 &6 LLI#K 849
INRPUTHE |18 F 13 |HiEH 4.93 [148 |13 | KF/NMNRFHEAR 465 B3 Eih 79 [#2F]
INRETHE 18 #F 14 |EH#h 18.00 [148 |11 RE
INEETH19 FE 1 Eih 466.55 [142 |14 | K=z/NR=Fk)I1L]450 &5 LL#k 231 | &
MNREETH[19 FA Eih 466.55 (142 |14 | RF/NRFIKIILL|450 &6 LLI A& 232 | &6
INRETH 19 FA =i 466.55 [142 (14 | KF/IMRFKJINLL[450 F9 LLIAK 183 |&4
INRPUTH[19 FH 2 Eih 534.88 [142 |15 |KZ/NMNEZKIIL][450 F 1 LAk 712
INRIETH[19 &3 LUK 678 [142 |24 |XK=F/NR=FKIJILL]|451 FE2 LLIAK 991
INRETE 19 F4  |EHe 3500 [142 |16 RE
INRETE 19 &FS5  |E#e 195.60 [142 |17 | KF/NMRFIKIILL [450 &8 LLI A& 233
INRETE[19 F6 [|EHs 3000 [142 |18 RE
INREETHE 19 FE7  |EH# 19519 142 [19 [R=F/NRFIKIILL {450 FE 7 LLI A& 232
NEETH[19 &8 Eih 27.00 [142 |20 Z2Hh
NRETHE 19 F9  |Ei 195.00 [142 21 [ KRF/NREFKINL[450 F 4 Eih 231.55
INRETHE 19 #F 10 [EH#h 35.00 [142 |22 REH
INERETHE 19 ZF 11 |EH#e 20041 |142 (23 | XKF/IMRFEKIILL 450 F 3 LLIAK 230
INRIATH 19 #F 12 |EH#h 463.89 [142 |25 |XF/NRFEZILT|648 & 53] 800
INRETH (19 #F 13 |Eih 203.89 |142 (26 |XF/IMRFE£ILT[638 F H 595 | 5E|
INEPATH 19 #F 14 |EH#h 305.09 {142 |27 |XFNRFELILT[637 & H 469
INRETE 19 ZF 15 |4 202|142 1 | XKF/IMRFELHH|675 F3 P 379
INEMTHI[19 #F 16 |H 189 [142 |8 | KF/NRFEELILFI[623 F H 267
INEETHI[19 & 17 |Eih 17713 (142 |3 | KRF/NRFELLEI[597 &S '+ 233
INREPATH 19 #F 18 |E#h 148.99 (142 [4 | KF/IMRFE#£ILFT]|597 &6 Pt 195
INRIEETH 19 F19 |Eih 120.00 {142 [30 |KRF/IMRFEEILFT]|597 &7 pui 157
INNRIUTE [19 #F 20 [E#h 33.10 [142 |29 [|K=F/NMRFKIILWL[457 FE17 =ih 37.31
INRETHE 19 ZF 21 |E#s 14315 142 [5  [RF/NRFKIILL[457 FE 15 Eih 161.40
MRETE 19 F 22 [E£H#e 12431 [142 |6 | KRFE/NRFHEEEZ[461 F3 1R 151
INEITH 19 #HF 23 |[Eih 12419 [142 [33 [ RF/NRF#BFZ (461 T4 }+H 151
INRPUTH 19 FE 24 |Eih 12407 [142  [34 | R=F/NRFBHE [461 & 1 1A 151
INEETH 19 F 25 |Ei#h 213.73 [142 |31 |XF/NRFE#£LF]597 &S 1 280
INRTUTH [19 # 26 |Eih 530.22 [142 |9 KFE/NRFKIL456 F 1 1A 558 |&1F
INRETHE 19 #F 26 |Eih 530.22 [142 |9 | KF/PMRFKIILL|457 F 14 P 115 | &6t
MRETE 19 F 27 [£H 13296 [142 |28 | ARF/NEFKINL[457 & 16 =ih 168.73
INRIETH 19 F 28 |Eih 527.23 |142  [10 | KF/IMRFKIILL|457 &S Eih 588.42 | &4t
MRETE 19 #F 28 [E£H#e 527.23 |142  [10 | K=F/IRFIKJILL[457 FE6 Eih 82.14 | &
INRPUTH |19 % 29 |£Hh 121.37 [142  [11 | XKF/PNRFKIILL|456 F& 2 pui] 68 |56t
INREATH 19 FE 29 |Eih 121.37 [142  [11 [RF/NRFKIILL[457 FE12 P 85 |&f
INEPATH (19 #F 30 |[E#h 101.42 142 [36 | KF/MRFKIJILL][456 & 10 Ji] 128
INRPTH 19 FE 31 |Eih 121.27 [142  [12 [ RF/NDNRFKIILL 456 FE 4 P 65 |[&f
NRETH 19 F 31 |Eih 12127 (142 12 | KF/MRFKIILL [457 & 13 1 32 |&f6
INRPATH 19 FE 31 |Eih 121.27 [142  [12 [ R=F/NRFIKIILL|457 & 21 P 56 |&f
INRIUTH 19 #FE32 |Eih 12229 [142 |41 [R=F/NRFKIILL 456 FES P 85 |&ft
MRETE 19 F 32 [£H 12229 (142 |41 | RF/NRFIKIIILL [457 FE 22 P 69 |&6F
INRPATH |19 #F 33 |=Eih 12055 [142 |40 | RF/MNRFIKJIIL|456 FE9 A 153
INEPTHI[19 #FH 34 |Eih 14055 [142 [39 [ XKEFE/NRFKINIL]456 &8 A 178
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INEEATHI[19 FE 35 |[Eih 121.15 [142 |37 | K=F/NMNRFK]ILL|[456 T 6 1A 154
INEPATH |19 #F 36 |=Eih 12316 [142 |38 | RF/IMNRFKJIILL|456 F& 7 I 156
INEPATH 19 2 37 |E#h 186.38 [142 |13 | KRF/NRFEZILFT[558 & 1 H 164 |&4t
NNETE [19 & 37 [E#h 186.38 142 |13 | XF/NRFE#£1LAT[560 ZF 1 1] 126 |&4F
INEPOTH |19 2 38 |E#h 198.48 [142 |35 | KF/NRFEEILAI[560 &2 H 309
NRITE [19 F 39 [E£ih 1800 (142 (42 |KRF/INRFHE [716 F2 LIk 29
INRIUTH [101 #F semEs| 5357 BE
INERETH [102 F AR 934 B
INRIUTH [103 #F sgmEs| 794 EEE
INRPATH [104 #F sgmEn| 772 B
INRETH [105 F NEAEE| 975 e
INRMTHE [106 F SRmEn] 427 B
INRETH [107 F NERERE| 432 e
INRPATH [108 & wgemEs| 2,037 B
MNRIOTHE [109 & ARAEH| 285 B
MROTH [110 & ARAEH | 1,902 Bk
MRIETHE 111 F R AEH | 901 B
INRIETH [112 & ARmEER| 261 B
MRIETHE (113 F aRAEH| 883 B
INRETH [114 F nemEk]| 864 bk
INRIETH 115 & ngmiEs| 831 B
INRETH (116 F ngmEw| 483 bk
MNRIETH 117 & ARAEH| 590 B
INRIETH [118 & AR 1,883 E iR
INRIETH [119 & agmEs| 255 B
INRPUTH [120 F nemE| 3,458 JEl
INRETHE |1 E 1 Eih 47361 [141 12 [ RENRFHRETE]G51 T 1 H 765
INRETHE |1 %2 Eih 018 [141 |23 | KF/INRFFHRETE|552 &6 H 0.29
INEFRTH 1 % 3 Eih 13236 [141 [22 [ RF/NRFFHFETE[552 F 1 H 208
INRETE |1 E4 |EH 16255 [141 [13 [ KRF/DNRFFRETE[552 &S H 256
INRETH |1 5 | 277 141 |14 | KFE/NPMEFKIL[448 FE 11 +H 2059 |9 E
MNERETHN %6 [T 29411 [141__[15 [ KF/NMNRFSHM[683 F1 EH | 238354 |2
INRAETH | E7 |[EH 32202 [141  [16 | KF/INRFEFKRETE|528 F 1 509
INEFRTH |1 % 8 Eih 65.28 (141 [17 | XKF/NRFE£ILFT]|586 F 1A 413 [Hp=E
INEFRTH 1 9 |4 355 [141 |18 | KRF/INRFFREITE]526 & +H 925 |9
INEFRTH |1 10 |Eih 12431 141 [19 | KF/NRFHKRETE|518 &3 1A 161
INRETH 11 [Eih 62.22 (141 [24 | KF/INRFFRETE|518 F2 }+H 80
INRETH |1 F12 |Ei 77.32 |141 |20 | XKFE/INRFEFRETE([527 F6 1A 125
INRETE |1 % 13 [EH# 11571 [141 |25 | KF/INRFFRETE[527 T4 1 187
INRATH | & 14 [Eih 107.41 141 [26 [ KRF/DNRFFRETE (527 &3 1R 174
INEFRTH 1 15 |Eih 110.30 [141  [27 | KF/NRFFRETE (527 FE 1 }+H 179
INEFRTH 1 & 16 |Eih 11050 [141 |28 | K=F/NRFFKETE[527 F?2 G 179
INRETH %17 | 763 (141 |1 KFI/INRFHBA [504 F 1 }H 1509 |5 E|
INEFRTH 1 & 18 |=ih 164.47 [141 |3 RKEFEINREFREIE 554 &8 H 185
INRRETH & 19 (£ 123.70 [141 |4 KEF/NRFHBA (482 &2 A 167
INERTH 1 & 20 |=Eih 105.89 [141 |5 RFNRFELUFT598 F4 Eih 132.15
INRFETE |1 Z 21 || 191 141 [6  [RF/NRFIKIILL|457 &3 1A 72 |&#
INRETH & 21 [ 191 [141 |6 KFE/NRFKILL|457 T4 G 142 |&46
INRFETE |1 Z 22 || 218 141 |21 | KFE/NEFKI)WL|[457 F 18 +H 243
INRAETH |1 &+ 23 |HiEH 75 (141 |7 KF/NRFIRETE 531 &FE2 MifElh 8 | &6
INRERETH | &+ 23 |HMiEH 75 (141 |7 [ KFE/NMNREFEFREE|532 &2 Mg 42 | &6
INRETE [ T 24 |HiEH 43 141 |8 R
INRATH |1 #&E 25 |/ 256|141 |9 [KFE/DMRFHFRETE|532 F 1 P 370
INRETH & 26 (=i 27120 [141 |10 | KF/NRFEFRETE[554 FE 1 H 397
INRFETE |1 E 27 [Ei 408.21 [141  [11 | KF/IMRFFKETE|553 FE 1 H 458 |&B
INRFAETH | %27 |E# 408.21 [141  [11 | XKF/INRFFKETE]553 &6 H 86 |56
INRETH 1 E 27 |EH 40821 (141 |11 | KF/INRFFREE|553 F7 H 84 |5
INRFRETH [1 %27 |=EHh 408.21 [141  [11 | KRF/INRFEFRETE|553 &S H 40 |56t
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INEFRETH |1 & 28 |[Eih 4518 {141  [30 | KF/MNRFFKEIE]|527 &S A 73
INRETH | %29 [EH#h 3844 [141 |29 | KF/IMNRFEFEE|[518 FE1 1A 50
INRETH |2 FEA Y 255 (140 |4 | KFE/NREFHEAT|233 F1 P 383
INRATH[2 #F2 |[/@ 17_[140 3 | KFNRFmAR|424 &2 P 56 |5 El
INEFRTHI|2 &3 [4 356 [140 |2 | KR=F/IMNRFFRETE][529 & *H 1024 [HE
INNRETH |2 F4 |44 782|140 [1 | XKF/IMRFFKETE[530 F Y 1,183
INRETH I3 & MFEHh | 5857 EES
INERRATH[4 &1 Eih 135.09 EEED
INEFRTH [5 &1 Eih 135.25 [220 |1 {REHh
INRETH |5 2 Eih 132.24 220 |2 R 1h
INRAETH |5 % 3 Eih 132.24 1220 |3 {REEHh
INRETH |5 & 4 Eih 132.24 1220 |4 {RE b
INRETH IS5 &S5 |HiEH 3.00 [220 [13 EEED
INRETH |5 &6 Eih 129.24 1220 |5 {RE b
INRAETH |5 %7 =i 132.24 220 |6 {REHh
INRETH |5 8 Eih 133.10 [220 |7 R Hh
INERFETH S &9 Eih 145.47 [220 [8 {F 2t
INRETH |5 & 10 [E£i#h 134.01 [220 |9 R Hh
INRAETH |5 E 11 [E£H 134.02 220 |10 {F2Zith
INRETH |5 %12 |Eih 134.00 [220 |11 R Hh
INERFETH |5 & 13 [E£ih 134.01 [220 [12 {F 2t
INEFRTH |5 & 14 [=Eih 15.00 REGHh
INRETHI6 &F 1 LUK 352 [139 |18 | KR=F/NMRFIKJILL|451 &3 LLI AR 571
INRRETHI6 &2 A 124 (139 |9 | KRF/NRFELLFI[557 F 1 5] 199
INEFRTH [6 3 H 216 (139 [10 |K=F/NRFEZILFT|561 & H 386 |9 E
INRETH (6 & 4 H 99 [139 [11 | XFNMRFE£ILFT]|563 F H 485 |HE
INERTH |6 5 Eith 116.02 1139 |12 [KRF/NRFEZELUFT|570 & H 95 |56
INRETHI6 ZFES5 |EHs 116.02 [139 |12 |XFNhRFE£LFI[573 F H 89 |&#
INRETHI6 &HE6 Eih 7485|139 |13 | KF/NRFELWLET[574 F H 72
INRETHI6 Fw;E7 |Eih 13079 [139  [14 [K=F/DNRFHBHTL (488 &4 P 166
INRETHI|6 &S Eih 18412 1139 [15 [KF/NRFEE#ILAT[562 FE 1 H 290
INRETHIE FEEO |Eih 18371 [139 |16 | XKF/hRFE#EILFT[568 F 53] 85 |&H#
INRETHI6 FHE Eih 183.71 1139 [16 [KXF/IRFE£1LF1]|580 F H 85 |&6F
INRETHIE FEEY |Eih 18371 [139 |16 |XF/hRFE#EILFT[581 F [£2] 119 |&6
INEFRTH |6 &9 Eih 183.71 1139 |16 [ KR=F/NRFZEZLUF1|585 & 1 H 5.69 | &3
INRETHI6  F 10 |Eih 23518 [139 |24 [X=/NRFEE#LAT[585 &2 A 377
INRAETH |6 11 (@ 151|139 |23 |KRF/NRFEELLFI[627 &3 H 226
INRETHI6 F12 |H 144 139 |1 XFDMRFEZIUGT|576 F 53] 152 |&6t
INREETHI6e FEi12 |H 144 [139 |1 AXFIMRFEEZILF]627 T2 H 53 |&f
INRETHI6 ZFE12 |[H 144 (139 [1  [XxzF/hRFEE£L81][629 F1 £2] 31 | &6
INRETH 6 FE 13 |EH#h 156.19 [139  [2  [KF/hREE&1LF1|575 &2 P 63 |&Sf
INRETHI6 FE13 |Eih 156.19 [139 [2  [X=F/hRFE#1LF7]628 FE2 H 152 |&6t
INRFETHE 6  ZF 13 |EHs 156.19 [139 |2 |XF/hRFE#£LFT[629 F2 H 10 |&f
INRETH |6 & 14 [Eih 130.90 (139 |21 | KRF/NRFEZLLFI[575 &1 P 84 |&4
INRFETHE 6 ZF 14 |EHs 13090 [139 |21 |XF/hRFE#LF1[629 F3 H 96 |[&#
INRETHI6E FE15 |Eih 3324|139 |22 |XK=F/hREE£LH[575 &3 P 39
INRETH |6 16 |[Eih 215.36 [139 |3 AFDRFELILF[563 F &) 485 |9 E|
INRETH |6 EF171 |=Ei 2013 139 [4  [XF/MRFELLEI[572 F H 49
INRRETH 6 & 18 [Eih 14249 [139 |26 |KF/NRFEELILET[631 &S A 214
INRAETH |6 &19 |[=Eih 104.60 [139 |5 RFNMNRFELIUFT631 TF6 H 157
INRRETH 6 & 20 [Eih 24656 |139 |25 |X=FE/NRFEZ£ILFT|631 &7 A 371
INERTH |6 & 21 |=Eih 220.16 [139 |6 RFNRFELUFT562 F2 2] 2717 | &
INEFRTH |6 21 |EHh 220.16 {139 |6 AFEDMRFELIFNS571 F 1 H 76 |&H
INRRTHI6 #FE22 |EH#h 16.38 (139 |7 | KF/NRFF#E [337 F10 1A 19
INRETHI6 F23 |H 180 [139 [8 | KF/MNRF#HBEAZ [501 &2 H 424 [HE
MRETHEI6 FE24 [H 107 [139 [19 [ KF/NRFHHE [501 &2 H 424 |9 E
INRETH |6 # 25 |H 111|139 (20 | K=F/MREF#BA#E 500 & H 178
INRRTHI|6 726 |#fEH 27 139 [17 [KF/NRFHBATL (465 &3 Eih TIEE]
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INRETH [T &1 E 14857 [138 |9 [X=F/hRFE#1LF7]559 &S H 251
INRETH |7 & 2 Eih 130.00 [138 [7 | KF/MRFE#ILET]|559 &3 A 219
INRRETHI|7T 3 H 146|138 [12 |KRF/IMRFE#£1LE1/632 FES H 220
IZNERETEBE[7 F4 [Et#h 578.85 [138 [2 [KF/INRFFREIE[544 T H 287 |&6t
INERFRTH |7 x4 Eifh 578.85 (138 |2 | KRF/NRFIHRETE|550 F 1 H 505 |&{#
INRETHI|7T &S Eih 72893 [138 [5 [X=F/IRFE#£LE1][569 F H 618 |&f
INERTH |7 &5 Eith 72893 1138 |5 RFENRFEELUFTS577 B H 459 |[&#
IZNERETE[7 FHe6 [Eth 42225 (138 [1  [X=F/hRFE&£LFT[627 F1 1] 247 | &6
INRAETH |7 %6 Eih 42225 (138 |1 AFDRFELILA628 F 1 H 426 |&1#
INRETH |7 &7 Eih 15348 [138 |4 | KF/NRFEZLILFT[559 &1 A 259
INRETHI|7T &S Eih 2362138 [10 [KF/hRFE#£1LF7[559 &6 H 39
INRETH |7 &9 Eih 110.67 [138 |6 | K=F/NRFELILFI[559 FH2 A 187
INERTH |7 10 |=Eih 110.85 [138 |8 RFENRFELUFT559 FE4 H 188
INRETH |7 11 (@ 146 [138 |13 | KF/NRFEZILFT|632 &6 H 220
INRETHI|7T FEi12 |H 200|138 |14 |KF/NMRFEZLHEI1[632 F7 H 3.18
INRETHI|7 FE13 |H 145 [138 [3  [X=F/hRFE&LF7]632 F2 H 217
INSFRTH [7 14 (A 147 1138 |11 | KRF/NRFEZ L1632 4 H 220
INRETH |8 &1 H 296 129 |5 | K=FH/EFI)IAE |121 &1 A 456
INRRETHI8S 2 Eih 30253 (129 |6 | XFNRFEZILT|640 & H 975 |59E|
INRETHI|8 &3 A 149 [129 |7 [XxF/hRFE#£1L87]633 F1 H 204
INRRETHI8S 4 H 110 [129 [20 |XK=F/IMRFE#1LE1/633 &2 H 151
INRETH |8 &5 Eih 108.96 [129 [15 |KF/NMRFEZILT|[642 F 10 A 148
INRETH [8 %6 NERRAES 29 (129 |18 |XFNRFEZILT|642 F 13 H 39
INRETH |8 &7 Eih 114.39 [129 [13 | KF/PMRFE#ZILT|642 &8 5] 155
INERAETH |8 % 8 NEEEE 53 [129 |17 |XFNRFEZILT|642 FE 12 H 72
INRETH |8 &9 Eih 109.01 [129 |12 |KRFNRFEZILT|642 &7 5] 148
INEFRTH [8 10 |azmpEn 33 [129 |16 |KF/NRFEZILT|642 & 11 H 45
INRETH |8 EF 11 (=i 118.04 [129 |11 | KRFNRFEZILT|642 &6 5] 159
INRAETH |8 12 |=th 109.92 1129 |14 | KRF/NRFELILUT|642 &9 H 149
INERETH |8 13 [HiEh 1.24 1129 |9 [XFDMRFEZILT|642 & 14 A 1.70
INRETHIS FH 14 |EH# 136.31 [129 |1 XF/IMRFEEZILET]|565 F 1 H 203
INRETEI[8 F 15 [E#h 121.00 [129 |10 REH
INRAETH |8 16 [Eih 136.19 [129 |19 | KF/NRFELILFI[565 F2 H 202
INRRETE 8 #&F 17 |Eih 36501 |129 [2 | KF/IRFHEAT|252 F 1 [£2] 601 |9 ZE|
INRAETH |8 & 18 [Eih 41049 [129 |3 AFDMRFELILT(647 F H 614
INRRTHI8 #F 19 |H 603|129 |4 [ K=/ EF)IFE [124 &3 £2] 1,045
INRETH (8 20 |A 154 (129 |23 | XK=F/NRFE#£ILAT[633 &4 A 211
INERETH |8 21 A 110|129 |21 [ RF/NRFELUFT633 F3 H 151
INRAETH |8 %22 (@ 110 [129 |8 AFDMRFELILFN[632 F 3 H 161
INRAETHI[8 #F 23 |H 149 [129 [22 [x=z=/hRFEE#£L81]632 F1 H 172 | &
INRETHI8E ZF23 |H 149 [129 [22 |xz=/hRFE#£LFET[633 &S H 42 |&#
INRETH (9 & NE 2,499 NE
INRFETH |10 FHF 1 =i 6181 [128 [17 [RFE/NRF=IL [380 FE 11 1A 100
INRETHI[10 FE2 |FEih 12134 [128  [21 [XF/hRFE£1LFT]621 FE4 H 97 |[&#
INEFRTHI[10O &2 Eih 12134 1128 |21 | KEF/INRFSHH|675 &1 A 52 |&
INERETHI[10 # 3 Eih 154.02 [128 |7 KFENRFEH M [674 T4 1A 171
INEFRTHI[10 &4 Eih 12002 [128 |22 |K=F/IMNRFESFH 675 F4 A 140
INRETHI[10 &S5 Eih 15402 [128 |8 RFNRFELIUAT621 T H 74 | &
INRETEBE 10 &HFS5 |[EHs 15402 [128 |8 | RF/NRFEHH 674 T 11 1 106 | &
INRFRTHI[1I0 ZFEG6 Eih 154.02 [128 |9 RFNRFELUFT621 T2 H 196
INERTHI[10 &7 Eih 120.01 [128 (23 | KF/PNREFEFH 675 &S 1A 140
INRETH |10 #FES8 |HiEH 261 (128 |24 | KF/INRFEHH]675 F6 1A 3.08
INRETHI[10 &9 H 274 (128 |10 [XK=//hREEZELET[607 F1 A 370 |&#
INRETHI[0O F9 H 274 [128 |10 |X=F/MRFE#£ILGI621 &3 H 271 |&#
INRFETHE 10 ZF 10 [E#s 14307 [128 |15 | KF/INRFE3iH (667 F6 LLIAK 117 | &#
INEFRTHI[10 FHE 10 |[Eih 14307 1128 |15 | XKF/IMNRFEH 667 F9 1A 70 |&4
INRETHI[10 & 11 |EHh 182.01 |128  [20 [KF/NRERFEHiH (667 FE7T LK 175 | &6t
INEFRTHI[I0 FE 11 |Eih 182.01 [128 |20 | KF/NRFEEFHH [667 &S 1A 65 |&F
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INRETHI[10 FE12 |Eih 14950 [128  [11 [KF/NRFE 3 (667 &2 LIk 198
INEFRTHI[10 & 13 |=Eih 42042 (128 |12 |KF/NRFEZILT|640 & H 975 |9 E|
INEFRTHI[10 FHE 14 |=Eih 17312 (128 |13 | KF/NRFELILT[(641 FE H 105 |&ft
IZNERETE[10 F 14 [EH#h 17312 1128 |13 | XF/NRFELILT[644 F I 135 | &4
INEFRTHI[10 FHE 15 |Eih 30640 |128 [14 [KFE/NPMRFE#EILT[643 &2 1A 367
INERETHI|10 #FH 16 |=Eih 261.87 [128 |1 AFENRFEZLILT[646 FE 1 1A 317
INEFRTHI[I0 FE 17 |Eih 158.80 [128 |18 |KF/NRFEZLILT[646 &2 1A 192
INEFRTHI[10 Z& 18 |=Eih 135121128 |19 |KRF/NRFEZILT|646 &3 I 164
INEFRTHI[10 FE 19 |=Eih 690.22 [128 |2 RFENRFELIUT|635 &1 H 941
INRETH 10 FE 20 |Eih 68.39 1128 |3 | KFH/ EF)IF [124 &1 A 113
INEFRTHI[10 FE 21 |Eih 1,077.99 [128 |4 RFENRFELIUAT634 T 1 H 208 |&1#
INRETH 10 T 21 |Eih 1,077.99 [128 [4 [XF/IRFE#£1L87]634 FE3 A 191 |&6
INEFRTHII0 FE 21 |Eih 1,077.99 [128 |4 AKFEH/ EF)IFE [108 F 1 H 1,067 |&4
INRETHE 10 #F 21 |EH#s 1,077.99 (128 [4 | KRFH/ EFIIIFE |119 &6 H 93 [&#
INEFRTHI[10 FE 22 |=Eih 70.84 [128 |5 £ —-—TH 283 & 18 H 70
INEFRTH |10 Z& 23 |[=Eih 4400 [128 |6 REGHh
INRRTH 10 24 |E#h 53.93 1128 |16 | KF/NRFEIL [380 F2 P 87
INRETH 11 &1 Eih 13715 [124 |14 | KFNRFELILT[649 &3 H 200
INEFRTH[11 &FE?2 =i 11580 |124 |17 | KF/NRFELILUT|649 &S H 168
INRETH |11 #& 3 H 358 124 |4 |XFNRFEEILT|649 F1 5] 522
INRETH |11 F4 | 35 (124 |5 | KFINRFFRERE([529 & P 1,024 |[9F|
INRRETHI[11 &S & 555 (124 |3 [X=/NRFEEEILT[650 F1 5] 818
INRETHE 11 &6 |HiEH 26 [124 |6 {231
INRETH |11 &7 |HiEH 112 [124 [7 |[XFPMRFEZILTI]650 F2 MifElh 136
INRETH |11 &8 Eih 100.24 [124 [8 {F &t
INRETH[11 &9 Eih 160.61 [124 |9 | KF/NRFELILT[645 &3 P 165
INRRETH 11 #F 10 |E#h 7023 [124 |10 |XF/NRFELILUT[645 F4 *H 94
INRETBE 11 F 11 |Eih 8025 124 |11 |KF/NRFELILT[645 &S P 104
INRETH 11 FE 12 |EH# 21471124 |13 |[KFNRFELILIT[645 FE 1 +H 27
INRRTH |11 #F 13 |E# 219.88 [124 |12 |XF/NRFELILT|645 &2 Pt 251
INRETEB 11 ZF 14 |EH#s 116.11 (124 |19 | XFMRFEEZILT[651 F4 P 138
INRRTH |11 & 15 |E#h 116.10 [124 [18 |KF/IMRFEZILTF|651 &3 Pt 138
INEFRTH 11 ZFE 16 |Eih 119.10 [124 |1 AFDMRFELILT651 F 1 1A 142
INRRTH |11 & 17 |EH# 44141124 |20 |KFE/NRFELILT[651 &S5 A 52
INRRETH 11 & 18 |E#h 4415 (124 [21 | XRFIRFEZEILT]651 &6 +H 52
INRRTH 11 & 19 |E#h 12135 [124 [24 [XF/hRFE£ILT[651 &9 Pt 145
INEFRTH 11 ZFE 20 |[=Eih 116.02 1124 |23 |KRF/NRFEZLILUT|651 &S J 138
INRRTH 11 & 21 |EH# 113.00 [124 [22 |KF/PMRFEEILTF|651 F7T Pt 135
INRRETH (11 #F 22 |MiEH# 300 [124 (29 |XKFE/NRFESFHMH[674 F10 +H 3.49
INRETE [11 &F 23 [E#h 4195124 |28 |XKF/NRFEHH[674 F9 1R 48
INERTHB (11 & 24 |=£ih 4193 (124 |27 |K=F/NhREFEH (674 TS i 48
INRFRTH[11 FE 25 |Eih 120.11 |1124 |25 | KRF/NRFEZLILUT|651 F 10 P 125 | &4
INRETH 11 & 25 |Eih 120.11 [124  [25 | KF/NREFEFHM 674 F 1 }H 17 |&H
INERRETH |11 & 26 |Eih 116.05 [124 |26 | KF/NRFEEHH (674 T 7 1A 134
INEFRTH 11 & 27 |=Eih 116.04 [124 |2 RFENRFEEZLILUT|651 &2 A 138
INEFRTH |11 FE 28 |Eih 171.94 1124 |16 | KF/NRFELILUT|649 F4 H 250
INEFRTH |11 ZFE 29 |=Eih 137.11|1124 |15 | KRF/NRFELILT|649 &2 H 200
INRRETH 12 & 1 H 305 [123 |8 |XF/NRFEEILT|654 & 53] 439
INRETH |12 &2 Eih 161.43 [123 |9 R
INRFRTHI[12 &3 Eih 138.89 [123 |10 |KF/NRFEZLILT[653 F2 H 171
INRRTH |12 &4 Eih 12430 1123 |23 |KRF/NRFEZLILUT|653 &3 2] 153
INEFRETH[12 &S Eih 4.00 [123 |11 R 503
INRETH|[12 #&6 Eih 13421 123 |12 |KRFNRFEZILT[652 FE12 Eih 133.51
INRRETH 12 &7 Eih 10025 [123  [13 [XF/hRFEZILT[652 F 11 Eih 100.25
INRETH |12 # 8 Eih 10.00 [123 |14 R
INRETH[12 &9 FEih 16.00 [123 |15 {7231
INEFRTHI[12 ZFE 10 |=Eih 11362 1123 |16 | KRF/NRFEZILUT|652 &S Eih 11214 | &4t
INRRTH 12 #F 10 |E#h 11362 [123 [16 | KRFIMRFEZILT[652 F 10 Eih 121 | &8
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INRRTH 12 & 11 |E# 400 ]123 |17 |KFPMRFEZILT[652 F 13 Eith 4.00
INRETH 12 F 12 |Eih 075 (123 [18 |XZ=/MRFEZILTF|652 F 14 Eih 0.78
INRETH 12 F 13 |Ei#h 324 (123 |19 |Xx=F/INRFEEILT|652 & 15 Eih 3.22
IZNERETEBE[12 F 14 [Et#h 9751123 |20 |XF/NRFEELLT][652 &1 =it 95.61 [& 4
INEFRTHI12 FE 14 |Eih 9751 (123 |20 |KXFNRFEZILUT|652 &S Eith 1.76 | & 6
INRRETH |12 #FH 15 |Eih 99.78 [123 (21 [KF/NIMRFEZILT|[652 F7 EH# 100.09
INEFRTHI12 ZFE 16 |Eih 100.66 [123 |22 |KRF/NRFEZILT|652 &6 =ith 100.38
INRETH 12 & 17 |Eis 101.65 [123 |1 AFENMRFEZILT[660 F 11 Eih 100.95
INEFRTHI[12 FE 18 |=Eih 10155 [123 |2 RKFENMNRFEZILIT 660 F 14 =ith 100.93
INEFRTH 12 & 19 |[=Eih 106.62 [123 |3 AXFENMRFEZILT|660 & 15 Eih 105.95
INEFRTHI[12 FE20 |=Eih 54853 [123 |4 RFENRFEELIUT|657 B H 639
INRETH 12 & 21 |Eis 159.41 [123 [5 | KRFIMRFEZILT|656 & 1 A 206
INRETH 12 F 22 |Eih 4970 123 |24 |XKF/NRFELILT[656 &3 A 64
INRRTH 12 # 23 |[Ei#h 136.69 [123 [6 | KF/IMRFEZILT|655 &F 1 A 183
INRETH 12 FH 24 |Ei# 1798 1123 |7 [X=IRFEELT[658 FES3 A 24
INRETH |13 & 1 Eih 110.16 [122 |7 | KRF/PRFEZILTF|655 &3 5] 149
INRRETH |13 FE 2 Eih 11000 |122 |12 | KF/NRFEEZLILUT|655 &4 H 149
INRRETHI[13 #F 3 Eih 117.15 [122 |8 R Hh
INRRETH |13 &4 Eih 84.94 (122 |10 |XF/NRFEZILT|659 &4 Eih 36.55 | &
INRETH |13 & 4 Eih 8494 [122 [10 | K=F/INREF/KeHE]]828 & 8 E# 4837 | &
INEFRTH[13 &S Eih 2200 [122 |11 {F 2t
INRRETHE |13 &6 H 125 [122 |1 KFENRFK#HF[820 FE 1 H 142
INRAETH |13 FE 7 Eih 21531 [122 |2 RKFE/INEFKHE] 828 T 2 H 39 |56t
INRRETH[13 FHF7 Eih 21531 [122 |2 RKFENRFK#HE][829 FE 2 E# 185.00 | & it
INEFRTH[13 FES Eith 73.89 [122 3 RFENRFEEZLILUT|661 & 14 Eith 73.02
INRRETBE 13 #F9  |E#h 26.00 |122 |4 1R
INRETH 13 & 10 |Eih 65.82 [122 |5 | KRF/NFEFK#EF1[823 F2 Eih 62.80
INERRETHI[13 #FE 11 |Eih 34.00 (122 |6 R Hh
INRETH |14 &1 Eih 65.96 ({120 [9 | KF/NRFIKFHE]|830 & 3 Mg 13
INRRETH |14 #FH2 Eih 15755 [120 [8 [ R=p/MNR=FK%d5i1[827 &K 4 Eih 152.06
INRETH [14 & 3 Eih 3200|120 |7 {234
IWNRETBEB 14 F4 [£# 16793 [120 |6 | R=F/NRFKsHET][825 F 1 =ih 174.38
INBEFRTH[14 &S Eih 180.33 [120 |19 [ K=F/PNRF/K#HE][824 FE 1 Eith 142.14
INRRETBE 14 &6 |Eih 9396 [120 |13 1R
INRETH 14 & 7 Eih 15.00 [120 |12 {234
INRFETH |14 &8 Eih 8117 (120 |11 | KF/NRFEZIUT|661 F 16 Eih 80.39
INRATH 14 &9 Eih 5.00 [120 [14 {234
INRRTH |14 #F 10 |E#h 87.20 {120 [15 |XKF/NRFELILT|661 F1 Eih 86.99
INRETH 14 &F 11 |E#h 4.00 [120 |16 {234
INRRETEB 14 #F 12 |Eih 8603|120 [17 |XKF/hRFE£ILT[661 &8 Eih 85.39
INRERETH 14 F 13 |Eih 5773120 |1 RFENMRFmAR|427 &2 LI K 56
INRRTH 14 F 14 |#fEH 29 120 |2 1R
INEFRTHI[14 ZFE 15 |H 184 [120 |4 AKEHR/ EFEIL (778 F 1 H 187
INRETH 14 F 16 |Eih 16.52 {120 |18 |XK=FHm/Ex=1L |778 &6 H 16
INRETH 14 FE 17 |EH 9401 (120 |5 | RF/INRFKMHAI[825 &S Eih 73.55
INERTH[15 & 1 Eith 157.39 [121 |9 RENMNRFEZILT|658 F&E2 H 203
INRRTHI[15 #&H2 Eih 17.00 [121 |10 R
INRETH |15 &3 Eih 10588 [121  [11 [XF/hRFE£1LT[660 F 13 Eih 106.06
INRETH |15 Z&H 4 Eih 101.22 [121 |12 | KRFNRFEZILT[660 FE12 Eih 100.99
INRRETHI[15 &S5 Eih 10123 [121 [13 |[KFNMhRFE£ILT[660 1 Eih 101.01
INRETHI[15 &6 Eih 33045 [121 |2 |XFNRFEEILT|661 &4 3 160.77 | &4t
INRFRETHI[15 &G Eih 33045 [121 |2 AFENMRFEELILT[661 &S Eih 201.56 | &
INSEFRTHI[1S &7 Eih 12556 1121 |14 | KRF/NRFEZLILUT|661 &6 Eih 124.68
INEFRETHI[15 &S Eih 3.00 [121  ]15 R 503
INEFRTHI[15 &9 Eih 165.54 [121 |1 AFDMRFELILT(661 F7 Eih 168.43
MRETE N5 FEi10 [H 43 121 [3  [KRF/MR=FKFHE](825 FE 2 H 55
INRRETH 15 & 11 |MfEH# 77 [121 |4 {23
INRFRTHI[I5 FE 12 |Eih 151.93 [121 |5 RKENMRFEZILT|659 FE1 Eith 90.85 &1
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INRETH 15 FHE12 |Eih 15193 [121 |5 | KRF/MNRF/KFHHT[828 & 1 Eith 51.99 |56
INRRETH 15 # 13 |[Ei#h 13.00 [121 |6 R
INEFRTHI|I5 FHE 14 |=Eih 102.71 |[121 |7 RFENRFELILUT|659 FE3 Eith 3359 | &6
IMNRAETH 15 F 14 [£i# 10271 {121 |7 | RF/NRFKRET[828 F6 3 69.13 [& B
INEFRTHI|I5 FHE 15 |Eih 14041 |121 |8 RFENRFELILUT|659 FE2 Eith 118.99 | &6t
IZNERETE[5 F 15 [EHh 14041 ]121 |8 | XF/NRFEEILT]659 &6 Eih 8.97 | &6
INEFRTHI|I5 FHE 15 |Eih 140.41 [121 |8 RKE/NRFKHE] 828 FES =ith 10.09 | &4
IZNERETE[5 F 15 [Eth 14041 ]121 |8 | KF/INRFK#HET]828 &9 =it 2.69 | &6
INERTH[16 & 1 Eith 145.39 [118 |5 RKENMNRFEZILT|663 FE58 A 153
INERETHI|[16 FHF2 Eih 10.00 [118 |6 R 1h
INEFRTHI[16 FES3 Eith 88.23 (118 |7 RFENRFELILUT|661 FE15 Eith 88.23
INERRETHI|16 &4 Eih 8.00[118 |8 {RE b
INEFRTHI[16 &FES Eith 83.29 [118 |9 RFENRFELILUT|661 ZFE9 Eith 82.58
INEFRTHI[16 &6 HFEHh 307 118 [12 | KR=F/NMNRFEETwi|22 F?20 L #K 411
INRAETH |16 FE7 Eih 8068 [118 [17 [RF/NRFEERI[22 FE23 L #k 107
INRETH |16 FS  |Eih 40586 118 [2 | KF/INRFmAR|413 F?2 ITESS 36 |[&#
INERRETH |16 F 8 Eih 405.86 [118 |2 AFENEFmAFE|416 FES Eih 258.08 | & {#
INRETHE 16 FS8 |EHh 40586 (118 |2 | KRF/NRFmAE|417 &2 LIk 271 | &%
INRETH[16 &9 +H 419 [118 |14 [x=F//hRFE£LT[663 F12 R 495 |59 E
INRATH (16 & 10 [IU#K 99 (118 [15 |[KF/IRFHAR[399 &1 LLIAK 557 |5 E
INEFRTHI16 FE 11 |Eih 16551 1118 |10 | KRF/NRFEZLILT|663 & 10 G 207
INRETHI[16 & 12 |Ei#h 145.06 [118 |18 |KF/NRFEZLILT[663 FH 97 Pt 181
INRETH |16 #& 13 |4 403 [118 |11 | XKFE/NRFELILT|[663 &85 Ji] 520
INRETH |16 F 14 |EHh 25240 [118 |1 XFNMRFEZILIT|663 &S £t 182.67 | &
INEFRTHI16 FHE 14 |Eih 25240 |118 |1 RFENRFEEZEZLILT|663 & 51 Eih 91.89 | & #
INRETHE 16 #F 15 |EHh 163.36 |[118 |3 | KF/INRFEERI[22 F22 LLIAK 218
INEFRTHI|16 FHE 16 |Eih 191.90 |118 |13 [KRF/NRFEZLILUT|663 & 86 i 232
INRRETH |16 17 |EH#h 131.27 [118 |16 | KF/NRFEZLILT[663 &K 87 Pt 159
INRAETH |16 #F 18 |=Eih 143.08 [118 |4 RFENRFEEZLILT|663 & 57 EHh 143.14
INRETH 17 &1 Eih 12141 (119 |8 | KFIRFEZILT[663 FE45 E# 120.74
INRETH 17 &2 Eih 9.00 [119 |9 {234
INRETH 17 #3 Eih 128.85 [119 [10 |KRF/NMRFE#ILT 663 F 48 =i 127.38
INRRETH 17 &4 |Ei#h 10182 [119  [11 [KFINRFEE£1LUT[663 F 49 Eih 101.05
INRETH 17 &S Eih 102.92 [119 |12 | KFNRFEZLILT[663 & 52 Eih 101.60
INKRFRTHI[17T &6 Eih 11815 [119 |13 | KF/NRFEZLILT[663 F 75 G 147
INRETH[17 FIT |EH# 11810 [119 [14 [XF/hRFEZILT (663 F 71 P 63 |
INRETH 17 &7 Eih 11810 [119 |14 | KFNRFEELILT[663 F 74 '+ 84 |&4t
INRETH 17 78 Eih 111.31 119 [1 RFNMNRFEZLIUT|663 F 70 Je 139
INRETH 17 &9 Eih 13409 [119 [15 [KFINRFEZILT[663 FT72 Jai] 167
INRRETEB 17 & 10 |Eih 13419 [119 |2 | XFhRFEEILT[663 F73 P 55 |&f
INEFRTH 17 ZFE 10 |Eih 13419 [119 |2 RFENRFEZLILUT|663 & 88 I 114 |&4
INRETH 17 FE 11 |Eih 18738 [119 [3  [XF/hRFZ=#£1L1T[663 & 59 Eih 202.82
INRETH 17 & 12 |Eih 90.06 [119 |4 AFDMRFEZILT|663 & 18 EHh 91.19
INRRTH 17 #F 13 |E# 9156 (119 [5 | KF/NRFELILT|663 F19 Eih 90.88
INRETH 17 & 14 |Eih 9455 [119 |6 RFENRFEZILT|663 & 20 EH 94.57
INERTH [17 & 15 |=Eih 11473 [119 |7 RENMRFELZILT|663 F21 Eih 114.33
INKEFRTH[18 &1 i 977 (127 |7 RFENREEZILT|643 &1 A 1,175
INRETH[18 FHE?2 Eih 1,676.41 127 |6 [XKFNRFEEILT[663 F79 1A 2,062
INERTH|18 #FF3 Eih 25958 [127 |1 AFDMRFEZILT|663 &F 78 pui] 333
INRFRTHI[18 FHE: 4 Eih 9517 [127 |2 AFEPMRFEZILT|[663 & 63 Eih 119.10
INRERTHI[18 #&S Eih 2400 [127 |3 R
INRRETH[18 &6 [EHh 67.00 [127 |4 2B
INRATH |18 &7 Eih 20751127 [5 [XFENRFEEZ£ILT|[663 FE62 pui] 264
INRRETBE[19 F 1 Eih 19787126 |5 | K=F/NMNRF/K#HET|812 &6 Eith 222.78
INRETHI[19 &2 Eih 100.98 [126  [6 | KRF/IMRFEZILT|663 & 30 Eih 100.53
INRETH[19 &3 Eih 7.00 [126 |7 {7231
INEFRTHI[19 &4 Eih 100.48 [126 |8 ARENRFEEZILIT|663 & 29 Eih 100.08
INRFRETHI[19 FES Eith 95.36 [126 |9 RKENMNRFEZILT|663 T 28 Eith 95.21
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INKRETHI[19 #6 Eih 11911 [126 |10 | KF/NRFEELILT[663 &K 27 Eih 118.16
INSEFRTHI[19 &7 =i 116.77 1126 |11 | KRF/NRFEZILT|663 & 26 Eih 115.79
INEFRTHI[19 FES Eih 101.44 [126 |12 | KRFNRFEELILT[663 FE 25 =ith 101.09
INEFRTHI[19 &9 Eih 101.68 [126 |13 | KFNRFEZLILT[663 & 24 Eih 101.05
INEFRTHI[19 FE 10 |Eih 104.80 [126 |14 |KF/NRFEELILT[663 & 23 =ith 103.15
INEFRTHI[19 & 11 |Eih 379.81 (126 [15 |K=/IMRFEZILT|663 &FE15 I 1461 |9 E|
INEFRTHI[19 FE 12 |=Eih 14592 1126 |23 | KRF/NRFEZLILUT|663 & 95 I 189
INRRETH 19 # 13 |[Ei#h 14522 126 [22 |KRF/NMRFEZILT 663 & 94 }+H 188
INEFRTHI[19 FHE 14 |Eih 14496 1126 |21 |KRF/NRFEZLILUT|663 & 93 I 188
INRETHI[19 Z&HF 15 |/H 144 126 (20 |KF/NMRFEZILT[663 & 92 }+H 187
INRETH 19 FE 16 4@ 144 126 [16 |KF/PMRFE#ILT|663 & 91 1A 188
INEFRTHI[19 ZF 17 |48 1019 [126 |1 AFENRFEZLILT663 FE1 1A 1,260
INEFRTHI[19 FHE 18 |Eih 297.68 |126  [19 [X=F/NMRFEZ£ILT[663 & 90 1A 367
INEFRTHI[19 ZFE 19 |[=Eih 38477 [126 |18 |X=F/NRFE#£ILT|663 &89 I 475
INEFRTHI[19 FE 20 |[=Eih 8298 [126 |2 AXFENMRFEEEZILT[663 FE 77 1A 101
INRRETHI|19 #FHE 21 |Eih 195.48 [126 |17 R Hh
INRETH[19 FE 22 |Eih 189.46 126 [3  [K=F/NRF/KFHAI[812 &7 *H 166 |&6F
INRRETH 19 #F: 22 |[Ei#h 189.46 [126 |3 RKENRFK#HEI[813 FE2 1A 31 |[Bf
INRRETH |19 #F 23 |Eih 31.96 [126 |4 AFE/NEFKMAT812 FE 1 G 39
INRETH |20 F 1 Mg 120 134 [7 | KRFDMRFEZLILHEI1625 F P 175
INRETHI[20 #H 2 Eih 12070 {134 [17 | KF/NRFEFH674 6 J 206
INRRETH |20 # 3 Eih 139.34 [134 [8 | XKF/INREFEFiH|674 &S 1A 238
INRETH |20 #H 4 Eih 250.35 [134 |9 KFENRFEEFH M [675 &2 J 302
INRETHE 20 F5 [EHh 21503 |134 [12 | KF/INRFHEAT|253 F 1 H 53 |&6
INEFRTHI[20 &F&ES Eith 215.03 (134 [12 |KF/NRFEZILFT1|609 & I 244 | &
INRETHI|20 # 6 Eih 13112 [134 |20 |KF/NRFELILFI[619 FES P 172
INEFRTHI[20 FHE 7 =i 131.80 |134 |21 |KRF/NRFEZLUFT|610 2 G 99 |&#
INRETHI|[20 FHF 7 Eih 131.80 [134 |21 | KRF/NRFEZILFT|619 &6 pui 87 |&f
INEFRTHI[20 &8 Eih 13488 1134 |22 |KRF/NRFEZLLUFI|610 F3 J 204
INEFRETHI[20 &9 Eih 177.25 [134 [19 |KF/DMRFE£ILFT|619 T4 Pt 233
INEFRTHI[20 ZF&E 10 |[=Eih 153.07 1134 |23 |KRF/NRFEZLLUFI|610 F4 1A 232
INRRTH |20 & 11 |E#h 131.65 [134 |1 XENREEZILAT[619 F1 Pt 173
INEFRTHI[20 ZF&E 12 |=Eih 131.76 [134 |2 AFDRFELILFN[619 F2 G 173
INRRTH |20 # 13 |E#h 128.01 [134 [18 |KF/IMRFE#£ILFT|619 F3 Pt 168
INRRTH [20 #F 14 |MfEH# 317 (134 |24 |XZ=/IRFEZ£ILGT610 &S P 478
INRRTH |20 #F 15 [1LU#k 181 134 [3 | XKF/INRFFHEAR[429 & 13 R 8.95 [ &4
INRRETH |20 #F 15 [WU# 181|134 [3 | KF/INRFamAR[429 & 14 L4k 92 [&f
INRETH 20 F 15 |1lU#k 181 [134 [3 [KRFE/NRFFFAFE[429 F 15 R 18 |56
INEFRTHI[20 ZF&E 15 [IU# 181 134 |3 RFENRFEEZLIUFT620 T 1A 128 |&4t
INRETEI[20 F 16 [E£H#s 157.05 [134 |4 REH
INRETHI[20 & 17 |Eih 157.00 [134 |15 EEED
INRETHI[20 FH 18 |Eih 4599 [134 |13 [ KFE/NRFHBAE[276 FE 1 *H 72
INRFETHE |20 ZF 19 |[E#s 71.98 (134 |14 [KFE/NRFHE T [240 & 12 1A 111
INRETH[20 F 20 |Ei#h 131.36 [134 |5 1R 22
INRRTH |20 #H 21 |[FEih 131.31 [134 |16 R
INRETE |20 #F 22 |HfEth 11 [134 |6 |XxF/NRFE#£LUGI624 &3 H 16
INBRETH[21 &1 P 116|136 [12 [XF/IRFEZLE1]|566 F P 185
INRETH |21 &2 Eih 143.33 [136 |13 | KF/NRFELILAT[{607 FE2 P 62 |&f#
IMNRETEHI[21 F2 [£# 14333 136 [13 [KF/IRFEE#£1LAT1(608 & 1 1A 159  [&4
INRETH |21 &3 Eih 139.33 [136 |17 | KF/NRFEL1LAT[{608 &K 2 P 213
INRRTHI[21 &4 Eih 14147 1136 |14 | KRF/NRFEELLUFT|598 & 2 Eih 185.20
INRFETH |21 &S & 252 1136 [15 [K=F/NMRFEE#£ILE1|587 & pui 370
INRATH |21 &6 P 118|136 [7  [XF/IRFEZLE1[604 F pui] 1,100 [9ZF|
INRFRTHI[21 &7 Eih 74740 [136 |6 AFEPMRFELILG[583 & G 1,137
INRETH |21 &8 Eih 137.01 [136  [5 | KF/NMRFEZILEI|582 & 1 A 220
INRFRTHI[21 FE9 Eih 136.00 |1136 |23 | KF/NRFELUFT|579 F3 H 70 |5
INRFETE 21 #F9 |Ei#s 136.00 [136 |23 |XF/hRFE#LFT[626 F2 H 148 | &4
INEFRTHI[21 FE 10 |Eih 136.06 |1136 |22 |KF/NRFELUFT|579 FE2 H 218
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INRETH |21 & 11 |HiEH# 149|136 |24 |XK=F/hREELLAT[579 &4 A 2.41
INRFETHE |21 #F 12 |EH#s 136.09 [136 |1 |XF/hRFE#ELFI[578 F2 H 72 |&#
INEFRTHI[21 FE 12 |Eih 136.09 [136 |1 RFENRFEELIUATS579 T H 146 |t
INRETH |21 & 13 |#EH 025 [136 |25 |K=F/NRFELILFI[579 FES [£2] 0.41
INEFRTHI[21 FE14 |Eih 11557 [136 |2 RFENRFELIUFT626 T 1 H 163
INERRETH |21 #F 15 |Eih 115.67 [136 |16 | K=F/NRFELILFI[626 FES [£2] 164
INEFRTHI[21 ZFE 16 |Eih 134.86 [136 |3 RFENRFELUFT578 FE 3 H 21 |56t
INRETH 21 FE 16 |Eih 134.86 [136  [3 | KF/IMRFE#EILET|624 T4 A 38 |&6
INEFRTHI[21 ZFE 16 |Eih 134.86 [136 |3 RFENRFELUFT626 T3 H 129 |&#t
IZNERETEI[21 F 17 [Et#h 19309 [136 |4 | XF/NRFEEILHT]578 F 1 1] 100 |&46
INEFRTHI[21 FE 17 |Eih 193.09 [136 |4 RFENRFELUFT624 FES H 38 |56t
INRETH 21 FE 17 |Eih 193.09 [136 [4 | KF/PMRFE#ILET|626 F4 A 130 |&#
INRETH 21 F 18 |Ei#h 129.73 [136  [21 [X=F/hRFE#1LF7]582 &4 H 9 [&F
INRETH 21 F 18 |Eih 12973 [136  [21 [KF/hRFEE&1LF7]584 F2 A 105 |&6
INRETH 21 F 19 |Ei#h 16091 [136  [20 [Xx=F/hRFE#1LF7]582 &3 H 12 &6
INRFETHE 21 F 19 |EH#s 16091 [136  [20 |[K=F/hRFEE#£1LF7[584 & 1 A 208 |&H
INRETH (21 F 20 |4 62 (136 |8 | KF/INRFFRERE[621 & H 2006 |9
WNERETE[21 F 21 @ 77 [136 |9 |XFNRFEELF[595 F P 1,847 |2 E
INGFRTHI|[21 FE 22 |Eih 14274 1136 |10 | KF/NRFEEL|LUFT[593 & 3 i 213
INRETH 21 & 23 |Ei#h 191.76 [136 |18 | KF/NRFELILFI[593 &2 P 287
INRETH |21 & 24 |4H 164 [136 |19 |KF/NRFEELILFT[593 &1 pui| 245
WNRRETE[21 F 25 [@ 47 1136 |11 |XF/hRFEEILF[586 F P 413 [HE
INGFRTHI[22 T A 956 |135 |7 RFE/NRFEEZELIUFT|591 & G 816 |&1#
INRETH |22 &1 & 956 (135 |7 [X=/NREE#ELET[592 F pui 661 |1
INRETH 22 2 Mg 387 [135 |19 |KRF/NRFEZILAT|589 &6 JG 6.01
INRETH |22 #3 Eih 118.68 [135 |18 |KF/NRFEZLILFI[589 &S P 183
INEFRTHI[22 FHE4 Eith 124.79 1135 |17 | KF/NRFEEELLUFT|589 & 4 I 192
INRETH |22 #&5 Eih 12477 [135 |16 | KF/NRFELILFT[589 &3 P 192
INEFRTHI[22 &6 Eith 12249 [135 |15 | KF/NRFELILF[589 F2 J 189
INREETH 22 &7 |eaxmux| 166 [135 [20 |KFEDMRFELILF]588 &S Pt 122 |&8
INEFRTHI|[22 &7 sxmEn|l 166 135 |20 [KF/NWRFEZEEIUFT|589 FE 1 J 135 |&4t
INEFRETHI[22 &8 Eih 12233 [135 [4 | KF/IMRFE#LE1[588 F 1 Pt 188
INEFRTHI[22 & Eih 12470 1135 |12 |KRF/NRFEELUFT|588 &F 2 1A 192
INRRTH 22 #F 10 |E#h 12457 [135 [13 | KF/PMRFE#£1LE1/588 & 3 Pt 192
INRFETHE |22 ZF 11 |E# 12227135 |14 |XF/hRFE#£LFT[588 F4 P 188
IWNRETE 22 F 12 [£H# 13720 [135 |8 REH
INRRETH |22 # 13 |E#h 137.18 [135 |5 {234
INRETE 22 F 14 [£H#e 3145135 |6 | KRFENRFHFET[252 &1 i} 601 |HE
INEFRTHI[22 ZFHE 15 |Eih 389.06 [135 |1 AXFDNRFELILF[604 F J 1,100 |
INRRETH |22 #F 16 |4H 569 135 [2 [KF/NMRFE#£ILFEI|605 & 1 899
INRETH 22 & 17 |Eih 133.06 [135 [3 | KF/MRFE#ILEI|606 & 1 pui 209
INRRETH |22 #FH 18 |Eih 16455 [135 |9 | KF/NRFELILAT[606 &2 pui 258
INEFRTHI[22 ZFE 19 |=Eih 133.18 [135 |10 | K=F/NRFEZLILFT[{606 F 3 I 209
INRRETH |22 #FH 20 |Eih 16458 [135 |11 | KF/NRFEZLILAT[606 & 4 P 258
INRRTHI[23 &1 Eih 62444 [137 |6 [ KF/NRFEFHH[671 &S 1A 927
INRETH 23 FE2 |Eih 11896 [137 |7 | KRF/IRFEH [666 &S LIk 148
INRETH |23 &3 & 637 [137 |3 [K=/NREEELET[594 F1 '+ 986
INRRETH |23 &4 A 1369 [137 |2 ARFENRFFHREE]521 F G 2006 |9 Z|
INRETHI[23 &5 & 780 [137 |1 RKFEINMNRFEFRETE[520 F1 }H 1,097
INRETH 23 FE6 |Eih 13400 [137 |4 | KRF/IRFEHH (666 F4 LIk 13 | &%
INRFETHE |23 &6 |Eis 13400 [137 |4 | KRF/NRFESHH][670 F 1 1A 63 (&
INRETH |23 &7 Eih 134.00 [137 |5 KFENRFEH M [670 T2 1A 198
INRRTH |23 #& 8 Eih 134.00 137 [8 | XKF/NREFEFIM|670 F3 1A 198
INRETHI[23 9 Eih 133.99 [137 |9 KFENRFEH I [670 T4 1A 190 |&4t
INRFETHE |23 #HF9 |E#s 13399 137 |9 [ KF/NRFEHH[671 F 1 I 767 | &4
INEFRTHI|23 FE 10 |Eih 13862 1137 |10 | XKF/IMNRFEH 671 &6 1A 204
INEFRTH (23 & 11 |HiEH 125137 |11 | KRF/NRFEFi[671 &7 I 1.79
INRAETH[24 FE 1 Eih 120.05 [133 A[23 | KF/NRFELILEI[631 &K 4 5] 207
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INRFRTHI|[24 FHE?2 Eih 69.00 [133 A|24 |XF/NERFEZIUFI|631 FS H 119
INEFRTH |24 &3 Eih 51.46 [133 A[10 | XF/IRFEEZE£ L1630 F H 89
INRRETH |24 &4 |48 350 [133 A8 | K=F/MNREF#EA#% 488 ZFE 1 1A 482
INRRETH |24 #&S5 & 81 [133 A7 | XF/NMNRFEEFH|677 F 1A 1,034 [HE|
INEFRTHI[24 ZFEG6 Eih 188.90 |133 A |25 | XR=F/MNRFKJIIIL[455 & 13 1A 270
INRRETH |24 &7 1A 422 [133 Al5 | KR=F/INRFHBEAE (463 F 1 I 535
INRRETH |24 &8 |4 614 [133 Al4 [Xx=F/NhRFEELET[596 F 1A 790
INRRETH |24 &9 Eih 401.03 [133 A|26 [KF/INRERFEHH[673 F3 Eih 483.18
INEFRTHI|[24 FE10 |Eih 49346 [133 Al11 | KRF/NRFEHIM 672 FE1 Eith 525.61 | &6
IZNERETHE[24 F 10 [E#h 49346 [133 A[11 [ KF/INRFEFHih (673 F 1 e 68.88 [ &3
INRETH 24 F 11 |EH# 246.20 [133 A|12 |XF/NRFE£ILT[638 & A 505 |9
INRETH (24 FE 12 |IU#k 221 [133 A|13 | KF/NRFEFH (666 ZF 1 LA 289
INRETH |24 #FH 13 |4 64 [133 Al14 [ KF/NRFEH[671 FE3 1A 103
INEFRTH |24 T 14 |1H 214 [133 A[15 | KF/NRFXKMHEI[807 & }H 452 |9 E|
INRETH 24 F 15 |lu#k 796  [133 A1 | XF/NRFEZILFI602 & LLIAK 1,047
INRETH 24 F 16 |Eih 101.07 [133 A[2 | KRF/IMRFE#ILET[601 F 1 £t 115.34
INRETH 24 FH 17 |EH# 101.17 [133 A[16 | K=F/IMRFE#£1LET/601 &3 Eih 115.27
INRETH 24 F 18 |Eih 118.02 133 A[17 | K=F/IMRFE#LFT|601 FES £ 134.64
INEFRTHI|[24 FE19 |Eih 101.08 |133 A|18 | KF/NRFEZLUFT|601 4 =ith 115.33
INRETH 24 FE 20 |Eih 184.27 [133 A[19 | XK=F/PMRFE#ILFT]|601 &6 £ 210.13
INEFRTHI|[24 FE21 |Eih 86.52 [133 A|20 |X=F/NRFEZL51|601 &8 =ith 98.64
INRRTH |24 #F22 |Ei#h 623.01 |[133 A[3 [ KF/NRFEZILFT|601 T 7 Eih 704.86
INRETH |24 FH 23 |E# 189.17 |[133 A[6  [RF/NRFIKJIILL[455 & 3 P 270
INRRTH |24 #FH 24 |EHh 10550 [133 A|9 | KRF/NRFEZLILFT[631 &1 5] 182
INRETH 24 FH25 |EH# 105.68 [133 A[21 |XKF/IMRFE#£ILAT|631 &2 H 182
INRRTH |24 #H 26 |Ei#h 169.00 [133 A|22 |KF/NRFELILFI[631 &3 5] 292
INRRETHI[25 1 +H 1,412 [133B|5 | XF/NRFEZILUGI595 & R 1,847 |9
INRETH |25 FHE?2 Eih 151009 (133 B[3 [XxF/hRFE#£1L51][598 F 1 £ 836.36 | &3
INRAETHI[25 F2 Eih 1,510.09 [133 B3 RFE/NRFELUFT|600 F 3 EHh 99504 | &1
INEFRETHI|25 &3 Eih 32020 [133 B|6  [X=E/NRFE#LAT[600 F2 Eih 413.22
INRFETEH |25 #HF4 |E# 77590 [133 B[1 | Xx=z/hRFE#£1LF1[(600 ZF 1 LLIAK 1,001
INEFRETHI|25 &S Eih 13729 [133 B[2 [XF/hRFE#£1LF7][599 F £t 132.23
INEFRTHI[2 &6 Eih 504.62 [133 B[4 AFDNRFELILF[590 F 1A 743
INRRETHE |26 &F 1 Eih 30259 [132 |6 [XF/hgFE&£LE1][604 F H 1,100 [HZ|
INRRETHI[26 F2 Eih 115.01 [132 |9 RFENRFEELIUFT611 Z 31 L #£ 170
INEFRETHI|26 &3 Eih 107.79 132 [10 | KRF/MRFE#ILET|611 F 32 LIk 158
INEFRTHI[26 &4 Eih 11247 1132 |11 | KRF/NRFELLUFT|611 & 33 TIEZS 166
INNRETEI[26 F5 [E£H#e 680.20 132 [3 | XKF/WNRFEELLF]611 &S LLI#K 991
INEFRTHI[26 &6 Eih 14959 1132 |14 |KRF/NRFEZLLUF1|611 & 38 LAk 213
INEFRETHI|26 &7 Eih 134.94 [132 [15 |KRFE/MRFE#£ILET[611 FE 39 LIk 192
INEFRTHI[26 &S Eih 146.44 1132 |13 | R=F/NRFZEZLLUF1|611 & 37 LAk 208
INRFRETHI|26 FHE9 Eih 671.00 [132 |1 RFNRFELUFT611 FT LLI#K 991
INEFRTHI[26 & 10 |Eih 13251 [132 |2 AFDMRFELILF[611 FH6 TIEZS 188
INEFRTHI26 FE 11 |Eih 13252 1132 |12 | KRF/NRFELUFT|611 F 36 LLIAK 188
INEFRTHI[26 & 12 |Eih 113.77 [132 |4 AXFEDMRFELIAI611 & 34 TIEZS 168
INEFRTHI|26 FHE 13 |Eih 107.85 [132 |7 RKFNMNRFELUFT611 F 35 LLIAK 159
INEFRTHI[26 ZF&E 14 |=Eih 113.72 [132 |8 AFEDMRFELILF[611 F 4 TIEZS 168
INERRETHI|26 #FH 15 |Eih 646.96 |132 [5 [XKF/NMRFE#£ILE1[603 &2 pui 876
INRETH |27 &1 1A 180 131 [6 | KRF/MRFEZILEI|610 F 1 pui] 274
INRRETH |27 &2 |4 531 [131 |7 | XF/NRFELWLGI617 & P 800
INRETH |27 &3 Eih 108.80 [131 |8 | KF/NRFEZILEI615 F4 '+ 133
INRFRTHI[27T FHE 4 Eih 129.61 1131 |22 | KRF/NRFELUAFI|615 F3 P 158
INRFETEB 27 &5 |EHs 12976 (131 |23 | xF/hRFE#£LFT[614 F 10 1A 32 |&#
INRFRTHI|[27T &S Eih 129.76 1131 |23 | KF/NRFELUAFI|615 F2 P 125 |&#t
INRFETEB 27 &6 |EHs 10882 [131 |9 | XF/NRFE&£ILAT[614 F11 1A 46 |&#
INRETH 27 76 Eih 108.82 [131 |9 | KRF/NRFEZLILFI[615 &1 pui| 87 |&4t
INERTH |27 &7 Eih 11479 1131 |14 | KRF/NRFEZEELLUF1|614 &9 1+ 144
INKRFRTHI|[27T F&ES Eih 11481 |1131 |15 | KF/NRFEL|LUFT|614 FES P 144
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INRFRTHI[2T FHE9 Eih 116.01 131 |16 | KRF/NRFELUFI|614 FEF7 J 146
INRRETH |27 #F 10 |Eih 168.01 |131 |19 |KRF/NRFZEZLLUF1|614 6 A 212
INEFRTHI[27T FE 11 |Eih 15848 |131 |18 |KF/NRFEZL|LUFT|614 FES J 199
INRRETH |27 #F 12 |Eih 11331 |131 |17 | KR=E/NREEZILFT|614 T4 }H 143
INEFRTHI|[27T FE 13 |Eih 117.21 [131 |1 RFENRFELIUAT614 T I 148
INRRETH |27 #FH: 14 |Eih 11505 |131 |12 | KRFE/NRFEEZUFT|614 T2 1A 144
INRETH 27 F 15 |Eih 11490 [131  [13 [X=F/hRFE&£1LF7]614 &3 Y 144
INRERTH 27 #F 16 |Eih 29375 [131 |2 |XF/NRFELLFI616 T2 E 360.72
INRETH 27 FE 17 |Ei#h 3869|131 [3 |KF/NhRFE£ILAT[616 &1 Y 46
INRRETH |27 #F# 18 |=Eih 18042 |1131 |10 |KR=/NRFEEZLUFIT|616 T3 1A 216
IMRETE [27 FE 19 [£H#e 119.34 [131  [11 [XKF/hRFE&£1LF7]616 FE4 Y 143
INRETH [27 FE 20 |Eih 17246 [131 |4 | KF/NRFESHiH 666 F 7 LA 204
INEFRTHI27T FE 21 |Eih 368.58 [131 |5 AFEPMRFEL G618 FE 1 1A 264 | &1F
IZNERETEI[27 F 21 [Et#h 368.58 |131 |5 | KF/IhRFELILG]618 F2 I 165 | &4
IMRETHE[28 F 1 LLI#K 42 [130 [10 [Xx=F/hgREFZE£1LF7[611 FE30 LLIAK 41
INRRETHE |28 #F 2 |Eih 8.00 130 9 1R
INEFRTHI|[28 &3 =iy 80.08 [130 |8 RFE/NRFEEZELIUFT|611 ZFE 29 LAk 80
INRRETHE 28 #F4 |Eih 8106|130 |7 [XKF/hRmFZ&LF7]611 FHF28 TS 79
INEFRTHI[28 &S =i 7794 [130 |6 RFE/NRFEEZELUFT|611 & 27 LAk 77
INRETH |28 &6 Eih 7502 [130 |5 | XE/NWRFEZILAT|611 T 26 £ 74.21
INRETH 28 FIT |EH 94411130 [4 [XkFhRFEE£1LFT[611 FE25 Eih 94.35
INRRETHE |28 #8 |Eih 500|130 [11 1R
INRETH 28 F9 |Ei# 106.18 [130  [12 [Xk=F/hRFE&£1LFT][611 FE24 Eih 105.37
INRETH[28 F 10 |E#h 7385 [130 |13 [X=/hREEZ£LFT{611 F23 £t 73.68
INRETH (28 F 11 |EiHh 7356 [130 |14 |XKF/NRFEELLET[611 & 22 ITESS 73
INERRETH |28 #FH: 12 |Eih 73.39 [130  [15 [K=F/NMRFEEZILFT|611 T 21 L&k 73
INEFRTHI|28 FHE 13 |Eih 68.54 [130 |16 |XF/NRFEZILU51|611 & 20 =ith 68.95
INRETH[28 F 14 |EH#h 7428 [130 |17 [X=/NREEZ£LFT{611 F13 £ 73.26
INREFRTH |28 #H 15 |[FEih 2.00 [130 |18 EEED
INRRETH |28 #FH 16 |Eih 69.44 [130 |19 |XF/NRFEZ|UF7|611 F 16 Eih 67.72
INRETH |28 F 17 |EH#h 702 [130 [20 {234
INRRETH |28 #F# 18 |=Eih 2.98 [130 |21 D
INRETH [28 FE 19 [#fEHw | 145 [130 [22 [KF/hRERFE£LG1[611 &F3 LLIAK 185
INRATH (28 % 20 [4A 271130 [23 [XF/IRFE#£ILFI|595 & I 1847 |9 E|
MNRETH (28  #F 21 :T;ﬂt 200|130 |24 e
INRFETH (28 #F 22 [Eih 94.26 (130 |25 |XKF/MRFEZILFI[611 F18 Eith 93.37
INRATH |28 & 23 |Eih 90.78 |130 |26 |KF/NMNRFEZLIFT[611 & 17 Eih 89.99
INRRTH (28 F24 [EHh 104.09 130 |27 |KF/MRFEZILIFI[611 F12 £ih 104.00
INRATH |28 F 25 |Eih 80.78 |130 |28 |KF/NRFEZLILAT[611 & 11 Eih 81.00
INREATH (28 F 26 |Eih 89.88 [130 |29 |XF/IRFE£IUFI[611 F 10 Eih 89.76
INRATH (28 #F 27 [Ei#h 115.62 |130 |30 |XF/NRFEEILATI611 29 Eih 115.64
INRFATH 28 F28 |HA 180 [130 |31 |AF/NIRFEZIIFI612 F3 P 417 |5 E|
INRETH[28 & 29 |MH 135 [130 |32 |KF/NRFEELLEI[612 FS3 '+ 417 |HE|
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INRARTHIE FE 13 |EiHh 100.53 [96 2 | XKFINRFFE 13171 F36 =i 100.25
INRATHE I8 #F 14 |EH#h 139.00 [96 3 RE
INRIRTH [8 & 15 |HiEh 20 [96 17 {231
INRATE[8 & 16 [E#h 13.00 |96 15 RE
INRIRTH [8 & 17 |HiEHh 23 |96 16 {231
INRARTH[9 & Eih 99.53 [95 10 [(KFNMRFFHR (317 F28 Eith 100.47
INRIRTH [9 xE2 Mg 10 |95 11 {231
INRATEI[9 #HF3 [E# 104.26 |95 12 [(KFINRFFER [317F 14 =i 10452 | &
INRARTHI9 FHEE3 |EH 104.26 [95 12 [ KFIMRFFE (317 F23 Eih 0.74 [ &4
IZNERATE[9 FE4 [E# 117.33 [95 13 | KRFENRFFE [317 F 15 Eih 117.06
INRARTHI9 FHEES5 |EH 139.21 [95 14 | RFIMRFFE [317 & 16 =i 139.20
INRATE[9 FHFe [E#h 110.34 [95 15 | KRFENRFFE [317 F17 Eih 110.20
INRATEBI9 F7  |E# 108.10 [95 16 [ KF/NMRFFE (317 F 18 Eih 108.05
INRATE[9 FHF8 [E#h 109.67 [95 1 | KRFENMNRFEFE [317 F19 Eih 112.00
INRARTHI9 FE9 |EH 110.41 [95 2 | XFINRFFE 817 F20 =i 110.20
IRATEI9 Fi10 [£# 110.09 [95 3 | XKFINRFFH 317 F 21 Eih 110.20
INRATEBI9  ZF 11 |EH# 100.62 [95 4 |KFNRFFHE 317 FES Eih 100.12
IRATEI9D FEi12 [£# 100.46 [95 5 |XFINRFFH 317 F29 =ih 100.51
INRARTHI9 FE 13 |EH#h 100.57 |95 6 | KFIMNRFEFE 317 F24 =i 100.51
INRATEI9D FE 14 [£#e 100.60 [95 7 | XFINRFEFH 317 F25 =ih 100.51
INRATEB 9 ZF 15 |EH#e 100.40 [95 8 |KRFIMRFFHE [317 &26 Eih 100.51
INRATHI9 FEi16 |Eih 100.63 [95 9 | KFIMNRFEFE 317 F27 =i 100.51
INRARTH[10 &F 1 Eih 585.52 |86 1 | XKF/NRFKINL (448 T 1 AR 12128 [9F]
MRATE 0 F2 [EBEREM 98 |86 2 | XF/INRFKIIL]448 T2 =i 145.45
INRATH 11 #F 1 =i 113.00 [87 10 | RF/IRFIKINLL [448 FE 64 Eih 132.61
INRARTH 11 &2 Eih 8.00 [87 11 R B34
IMRATE 11T F3 [£#t 159.67 [87 12 | R=F/NRFK)L [448 25 63 Eih 167.54
INRATH 11 FE4  |Ei 155.28 [87 7 | K=FNRFKIIL]448 FE69 =i 155.00
INRATEB 11 &S5 |EH#e 115.00 |87 6 | XF/NMRFKIIL[448 & 68 Eih 115.00
INRANTH |11 FEG6 Eih 114.97 |87 5 KF/INRFKIILL 448 & 67 E#h 115.00
INEARTE 11 FE7T  |EH 20.00 [87 4 EEED
INRATH 11 FES  |Eih 9521 [87 3 | KF/MRFKIIILL|448 F66 Eih 115.00
INRATEB 11 F9  |EH#s 28.01 [87 13 EEED
INRATH 11 FE 10 |Eih 129.44 [87 14 | KRF/NRFKIILL[448 FE62 Eih 128.53
INRATEB 11 F 11 |EHs 3.00 [87 15 EEED
INRARTH 11 & 12 |E# 240.63 |87 16 R
IMRATE 11 F 13 [£H#t 230.72 |87 17 | R=F/NRFKIN L [448 2 36 ITESS 250
INRATH 11 FE 14 |Eih 157.03 [87 18 | R=F/NRFK)IWL [448 7 31 L #K 159 |&6
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MRATE 11 FE 14 [£H 157.03 [87 18 [ R=F/NMNE=FKJIL[448 F 35 L #£ 481 | &6
IMRATE 11 FE 15 [£# 3.81 [87 19 | X=F/NRFK)IL [448 25 34 ITESS 4.61
INEARTEB 11 & 16 |=Eith 221.34 |87 20 | RF/NRERFKIIL[448 FE 124 LAk 267
INEATE 11 & 17 |EH#h 257.08 [87 1 KFE/NRFEKIIL[448 6 LAk 310
INRRTH [11 ZF& 18 |3#3EHh | 136 |87 2 | Kk=F/INRFKIIL]448 T 80 LAk 165
INRARTH 11 & 19 |[Eih 139.40 [87 8 KF/INEFKIILL 448 & 81 Eih 139.05
INRATH 11 FE 20 |Eih 20.00 [87 9 EEED
INRARTH[12 &1 LLIAK 1,903 [94 1 |[XKFNMRFFE [318 F1 LK 3034 [9Z
INRKRTH 13 & 1 Eih 175.62 [97 8 | KFNEFHFE [317 F2 L #K 198
INEARTH 13 & 2 Eih 132.19 [97 20 | KF/IMRFEFHE 317 F39 LLI#& 149
INRARNTH 13 FE 3 Eih 170.09 [97 9 RKENEFFEE 319 F 17 A 237
INEARTH 13 & 4 Eih 171.31 |97 19 | KFENMEFEHEE [319 F18 +H 238
INRINTH 13 FES Eih 160.51 [97 10 | KRFEINRFFHFEFT 250 FE2 H 179 | &4t
INEARTEH 13 &S Eih 16051 [97 10 | KFEINEFHFE [342 FS 1A 40 |&6
INRKRTH 13 &6 Eih 12.82 [97 11 | KFINRFFER (342 F7 1A 16
INRARTHN3 &7 Eih 17.00 |97 12 721
INRARTH 13 &S |Eih 108.22 [97 13 | KF/NRFFE [319 FS LLI A& 108
INEARTH 13 & Eih 23.00 [97 14 Z2Hh
INRATH 13 F 10 |Ei#h 105.64 [97 15 | KFNMNRFFE [352 F> LLI A& 105
INRATH 13 & 11 |Eih 128.99 [97 16 [(KFNMRFFHER (319 F 1 Eih 59.05 | &
INRATE 13 F 11 | 128.99 [97 16 | KFENRFFE [319 F7 Eih 66.49 | & B
INRARTE 13 & 12 |EH#h 11.00 |97 17 Z2Hh
INRATH 13 F 13 |E#h 115.02 [97 18 | KF/NRF=IU  [380 F 10 T 165
INRATHE 13 #F 14 | 160.73 [97 1 | KRFNMRFFE [341 &2 Eih 165.58
INRRTH 13 & 15 |Eith 12.00 [97 2 {231
INRATE [13 &F 16 [IL#k 195 [97 3 | KFENRFFE 318 &2 LLIAK 224
INRATH 13 FE 17 |H 88 |97 4 [ KF/NRFHBEA (502 &1 H 119
INRATH 13 F 18 |HA 90 [97 5 | RF/NRFHBAR (495 F H 1871 |5 E
INRRTH 13 & 19 |4 228 |97 6 | KRF/MNRFMBAE|275 F I 522 |5
MRATE 13 F 20 [IL#k 630 |97 7 | XFINRFFE 318 F 1 LLIAK 3034 |HE
INRARTH 13 & 21 |Ei#h 56.47 [97 21 | KF/INRFFHFEIT|250 F 1 H 76
INRARTH[14 &FA Eih 230.36 |98 6 | KRFNRFFE (319 F4 =ih 31451
INRARTH 14 &2 E i 78.00 [98 7 EEED
INRATH 14 &3 |ME 77 |98 15 | KFENMNRFEFE [322 &1 *H 95
IMNRATE 14 F4 [£# 199.64 [98 8 |KFIMRFFHE (322 F? 1 245
IRATEB 14 FS5 [E£H#e 122.59 98 9 | XF/IMRFF#%H [351 F10 E 122.47
INEARTH 14 &6 Eih 18.00 [98 10 {234
IRATE N4 F71 [£He 129.08 [98 11 | KRFENMNRFFE [319 F 10 LLIAK 66 |5
IMNRATE 14 F71 [£#t 129.08 [98 11 | RFNMRFFE [351 &9 Eih 61.65 | &6
IMRATE 14 F8 [E£H#e 114.20 |98 12 | KRFENMRFFE [319 &9 Eih 79.00 [ &6
INRATH 14 FES |EH# 114.20 [98 12 | RFNMRFFE [351 &S Eih 33.69 | &5
INRATH 14 FE9 |Eih 116.97 [98 13 | XKFE/NMREFEHEE  [319 F 11 LIk 114
INRANTE 14 ZF 10 |#fEth 35 |98 1 EEED
INEARTH 14 & 11 48 249 |98 2 | KFIMNRFEFER 319 &S 1A 354
IMNRATE 14 FE 12 [£# 129.63 [98 14 | RFINRFFE [319 FE22 1 184
INRATH 14 FE 13 |Eih 129.06 |98 3 | KFNINRFEFER 319 F19 1 183
INEARTH 14 FE 14 |EH 497.02 [98 5 |KRFIMRFFE 319 F6 P 678
INRATHE 15 &I =i 166.39 [105 |10 | KF/NMNRFFHE [113 F?2 H 244
INRATEB 15 &2 | 234 [105 |11 |K=F/INRFFH (332 F2 1 311
INRARTE 15 &3 | 324 [105 |12 | KRFE/NRFFHFEIT|156 &2 1 13 |56
INRATEB 15 &3 |H 324 105 |12 | KF/NRFHF#E (324 F1 1A 480 |&H
INERTHI[15 #FHE 4 Eih 9478 [105 |6 KENRFEFER 332 &1 G 125
INRATEB 15 &S5 |EHs 8887105 |13 |KF/NMRFEFHE [130 F2 H 105 |[&#
IRATE 5 &FS5 [£ie 88.87 (105 |13 |KRF/NRFFHE [130 F3 H 20 |56
INRATEB |15 &6 |Eis 4525 (105 |16 | KF/NMRFEFHE [130 F4 H 64
INRARTH |15 FE7T Eih 3501 (105 |14 |K=F/NRFEFE [130 F 1 1A 49
INRATEB 15 &8  |Eih 7472 (105 |17 [KFE/NRFFHE [130 &S 1A 105
INRARTHI[15 FE9 Eih 128.06 [105 |18 | KF/NRFFE [130 &6 A 181
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IMNRATH[15 T 10 [Ei 155.30 [105 |21 | KF/NRFF#E [340 F4 1A 238
IMRATEH 15 F 11 [£#t 132.46 [105 |22 FINRFFE 340 F2 R 79 |[&#
INRATE 15 &F 11 |E#h 13246 [105 |22 FINEFEE  [340 FES i 124 |56
INEATE 15 & 12 |E#h 200.12 [105 |20 FINRFFE 340 FE3 +H 307
INRIRTH |15 & 13 |Eith 209.24 [105 |15 FINRFIFE (340 FE 1 A 321
INERTH 15 & 14 |Eih 132.35 [105 |1 FINRFFE  [344 T4 I 194
INRIRTH |15 #FE 15 |Eith 173.01 [105 |23 FINRFEIFE (344 FE3 A 254
INEATHE 15 & 16 |FEHh 120.28 [105 |24 FINRFFE 344 F2 +H 177
INRARTH 15 FE 17 |EH#h 12138 [105 |2 FINEFFE [343F3 Y 63 |&f
IZNEATE 5 FE 17 [EH#h 12138 [105 |2 FINRFEFER [344 T I 115 |84
INRARTH 15 F 18 |EH#h 182.65 [105 |3 FINETFEFE [334 F2 Y 9 [&#
IZNEATE[15 F 18 [E#h 182.65 [105 |3 FINEFEFEER  [335 T4 I 189 |&4F
INRARTH 15 F 19 |EH#h 59.11 [105 [4 FINEFEE [335 F3 1A 186 |HE
INRARTH 15 & 20 |Eih 15.51 [105 |5 FINRFEER22 F4 1A 416 |HE
INEATHE 15 & 21 [Ei# 29123 [105 |7 FINRFFE 324 F?2 ES3 423.03
INRATE [15 &F 22 [4H 327 [105 |8 FINRFEHE 325 F 1R 611 |9 =|
INRATE |15 #F 23 |E#h 172.24 [105 |9 FINRFimAR[436 F2 H 39 | &6t
INRATEB |15 #F 23 |Eih 17224 105 |9 FINRFFRAIR 438 FE?2 1 198 |&4t
INRARTH 16 & 1 Eih 158.50 [106 12 FINEFFE [332 F6 Eih 146.96 | & 6F
INRATH 16 &A1 Eih 158.50 [106 |12 FINRFEFE 1332 F7 1R 4 |5
INRATEB 16 &2 |E# 64.01 [106 |8 FINRFFE  [335 &S T 186 |
INRATH 16 FE3 |Eih 366.02 [106 |9 FINRFFE (334 F 1 1 501
INRATEB 16 &F 4 |EH#e 180.02 [106 |10 FINRFFE  [335 E1 T 103 |&6
INRATE 16 &4 |Eih 180.02 [106 |10 FINRFFE 1335 F?2 1 151 | &8
INRATH 16 HES |Eih 1,054.01 [106 |11 FINERFFE [336 F Eih 1,719.00 [
INRATE 16 &FE6 |EHs 485.98 [106 |1 FINRFFE [336 F =i 1,719.00 |5
INRATH 16 FE7T |EH 12179 [106 |2 FINRFEFER 329 &S =i 121.89
INRATE[16 &8 [E#h 12351 ]106 |3 FINRFEFEE 1329 &6 Eih 123.51
INRATEB 16 &9 |EH# 12012 [106 |4 FINRFEFER 329 F1 =i 119.85
INRATEB |16 #&F 10 |Eith 400106 |5 1R
INRATEB 16 ZF 11 |EH#e 13229 [106  [6 [KF/NRFFE (333 F?2 1 157
INRATE 16 FE 12 [E£H#e 166.67 [106 |13 | KRF/NRFFE [333 F 1 1R 199
INRATEB 16 ZF 13 |E#h 15846 [106 |7 | KF/NRFF#E [332 &S 1 188
INEARTH 17 FE 1 Eih 95304 [110 |17 [KRFE/NRFESHI[15 FEi17 LK 1530 |HE|
IMNRATE 17T FE2 [£# 9894|110 |5 | XKFE/NRFEERI[15 F4 ITE:S 117
MNRATH 17 #F3 [£i#h 39713 [110 12 | XFDMRFEERI[16 F7 Lk 500
INRATEB 17 &F 4 |IU#k 1,177 [110 [2 [ KRF/INRFEEHI|16 F1 AR 1,559
INRARTB 17 &S5 |Eih 176.69 [110 |6 | KF/NRFEERI[23 FE4 LI #K 181
INEARTH 17 &6 Eith 9301 [110 [7 [RFE/NRFEERI[35 FH185 LIk 109
IWRATE N7 F71 [£He 1936 [110 |9 | XKF/MRFHFHE [139 F4 H 27
IMNRATE 17 F8 [£# 11235 [110 [10 [KF/DNRFFE [139 T3 H 161
INRATH 17 FE9 |Eih 11250 [110 |1 KENRFFE [138 F H 112 |[&#
INEARTH 17 &9 Eih 11250 [110 [1 KFNRFFE [139 F1 £2] 49 | &#
INRATH 17 FE 10 |Eih 10000 [110 [8 [KF/NRFFHEH [139 &2 H 143
INEARTH 17 & 11 [Eih 15446 [110 [3  [KF/NRFEERI|16 &FES3 g S 194
NRATH 17 FE12 [Eih 20276 [110 |11 | AF/INERFE=ER1]16 &6 s 255
INRARTH 17 & 13 |Eih 14504 [110 |4 | XKF/NREF=IW 377 &2 L& 218
INRATH 17 FE 14 |Eih 13204 [110 [13 [ KR=F/NRFE=IL [377 & 119 L #K 199
IMNRATE 17 FE 15 [£H# 13804 [110 [14 [RFE/NRF=EWL [377 F120 ITE:S 199
INRATH 17 FE 16 |Eih 13504 [110 [15 [R=F/NRF=1L  [377 F 121 L #K 195
IMNRATE 17 FE 17 [£# 12103 110 [16 [KF/NRF=EI [377 & 123 ITE:S 147
INRATH 18 FE A =i 103.14 [111 B|4 | KFE/NRFEERI[21 FE9 =i 102.86
INRATHI18 FE2 |EH 116.78 [111 B[5 [ R=F/NRFEERI[21 &FHE10 Eih 116.16
INRATH 18 FE3 |Eih 10.00 [111 B6 18
INERTH 18 & 4 A 141 [111 B[1 KFENRFFE |86 F1 A 194
INRATHE1S &5 [Ei 10.00 [111 B2 e
INRATHI18 FE6 |EH 10406 [111 B|3 | KF/NRFEERI[21 F14 E 980 [& 6
INRATHI18 FE6 |Eih 10406 [111 B[3 [ R=F/NRFFER[21 &FH15 ES3 93.26 | & B
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INRARTEB 19 &F 1 HiEHh 67 [111 A[15 EET
INRARTHI19 FE2 |Eih 19664 [111 Al14 | KFE/NMNRFEEHI[20 FE 1 ITESS 26 |&
IMNEATE9 FE2 [Ei# 196.64 [111 A[14 [ KRF/NRFEEH|20 F?2 LAk 33 |&#
INRATHE 19 #F 2 |Ei# 196.64 [111 Al14 | KF/INRFEERI[20 &3 Eih 161.98 | &6t
IMRATE 19 FE3 [E£He 29.00 [111 Al31 | KF/NRFETR[21 F2 LAk 337 |5 E
INEARTH 19 #F 4 Eih 2388 |111 A|16 | KF/NRFEERI[20 F4 LLI#& 26
IMRATE 9 FES5 [E£He 11318 [111 A[17 | KF/NRFEERI[17 T4 ITESS 112
INRATE 19 #HF6 |Eis 200 [111 A[18 {REHh
IMRATEN9 FE71 [£H 10256 [111 Al19 | KF/NRFEERI[17 &S LLI A& 102
IMRATEH[19 FEs [£i# 100.89 [111 Al20 |[KFE/NRFEERI[17 &1 e 74.59 | &3
INRINTH[19 FE 8 Eih 100.89 [111 A20 | KF/NRFEBHI|17T &FE7 Eih 28.27 | &4t
INERTHI[19 &9 Eih 11.00 [111 A |21 {REZHh
IMRATE 19 FE 10 [E£He 212.25 |111 A[22 | XKF/INRFESHI|17 _FE6 Eih 230.56
INERTH 19 & 11 |Eih 6.00 [111 A|23 {REZHh
INRARTH 19 & 12 |E#h 166.91 [111 A|24 | KF/NRFEFERI[17 &S Eih 170.64
INRATHE 19 #F 13 |EH#h 4400 [111 A[25 721
INRATH 19 F 14 |Ei#h 272.80 [111 A|26 | KF/NRFEEHI|16 F?2 Eih 308.06
INERSRTHI19 #FE 15 |Eih 12943 [111 A1 FINRFIK)IL 448 FE 65 LL#k 129
INEARTH 19 F 16 |Eith 7422 [111 A2 [ XKFNEFHFR [346 FS Eih 73.94
INRARTHE 19 #F 17 |EH#h 26.00 [111 A3 Z2Hh
INEARTH 19 & 18 |FEith 123.48 [111 A[27 {231
INRATHE 19 F 19 |EH#s 2400 [111 A28 RE
INRATH (19 #F 20 [|Eih 67.00 [111 A|29 |KF/NINRFFE [346 BT Eih 65.91 | &5
INRARTH 19 F 20 [Ei#h 67.00 |[111 A[29 [KRF/NMREFFE [346 F13 Eih 123 [ &
IRATE 19 FE 21 [£H#e 174.40 [111 A]30 1RE
INRATE [19 #F 22 [E#h 17391 [111 Al4 | RFENRFEERI[27 FH1 1R 190
INRATE 19 ZF 23 |E#e 56.00 |[111 A|5 | KRF/NRFEERI[21 F1 LLI AR 169 |9E|
INRARTHE 19 #F 24 |EH#h 11.00 [111 A[32 Z2Hh
INBANTH 19 #F 25 |#fEH 37 [111 A6 {234
INERATE[19 F 26 [E#h 10967 [111 A]7 | KF/NRFEFEER[21 F13 =ih 108.44
INRARTH 19 FE 27 |EH# 106.94 |[111 A[8 [ KRF/NRFEER[21 FH16 =i 106.94
INRATE 19 F 28 [E£H#e 11717 111 A9 [ KF/INRFEERI[21 &S Eih 117.69
INRARTH 19 FE29 |Ei#h 11714 [111 A[10 [KFE/NRFEERI[21 &6 Eih 116.91
IRATE 19 F 30 [E£H#e 11820 [111 A|11 | KF/NRFEERI|21 &7 Eih 118.03
INRANTH |19 #FE 31 |Eih 289.91 [111 A[12 | KFE/NRFEEHI21 FE2 L #k 337 |9 E
INESRTH 19 #FH 32 |Eih 79.46 [111 A|13 | KFE/NRFEETHI21 F1 LK 169 |H=E
INRATH |20 #F E] 20455 [109 |2 | KFEINRFEEHI|18 &S L&k 330
INERTH[20 &2 Eih 247.31 109 |3 KFENMNERFEER[18 &6 LK 276
IMRATEI[20 F3 [£H# 49868 |109 [1 | XF/INRFEFTHI35 &FS ITE:S 584
INRARTH (21 &FA =i 111.76 [115 10 | KRFE/NRFEER[34 F4 1R 40 |56
INRATH [21 F =ih 111.76 [115 |10 | KF/NRFEBRI34 FES I 46 |5
INRATH 21 FA E 111.76 (115 |10 [ KRFE/NRFEERI[35 FE175 *H 56 |&6
INRANTH 21 F2 Eih 7499 [115 [11 | KRF/NRFEEFRI33 F1 }H 1409 |9 ZE|
INgARTHEI[21 T3 [Ei# 355.99 [115 |12 | KR=F/INRFEFRI[35 ZF176 1 456
INEARTH 21 &4 Eih 8465 (115 [13 | XK=F/MNRFFER|35 FH4 I 836 |9
INRKRTH |21 &S Eih 83.96 |115 [14 [KF/NRFEERI6  FE18 MFEHh 16 |56
INRATEB |21 &S5  |EH#e 83.96 [115 [14 |[KF/NRFEEBRI[35 FE174 1A 91 |[&#t
ZNRATE[21 F6 [EiH 71137 [115 |7 | KRFE/INRFEERI[5 FE4 H 836 |5 El
INEARTH 21 &FE7  |EH 162126 [115 [6 | KF/NINRFEERi6 F19 MEFEh 4.85 [ &3
INRATH 21 FET  |EH 1,621.26 (115 [6 [ KF/NRFEER|18 &FE?2 P 895 |&H
INEARTH 21 &7 |EH 162126 [115 [6 [KF/NRFEER|18 FES3 LK 290 |&ft
IMRATE 21 F71 [E£H 162126 [115 |6 | KF/INRFEERI[34 F1 P 480 |& 6
INEARTH 21 FES |EH 35301 (115 |5 | KF/NRFEEHI[18 F4 LK 166 |&46E
INRKRTH |21 &S Eih 35301 [115 |5 [ KRENRFEETHIG FE2 1A 204 [&F
INEARTH 21 & Eih 11738 [115 [15 | K=F/MNRFFER|35 K187 I 121
INESRTH 21 #FE 10 |Eih 166.02 [115 |4 FINRFEERI27 FES A 63 |&F
INRARTH 21 & 10 |Eih 166.02 [115 |4 FINRFEERI35 F188 1A 113 | &
INRATE |21 &F 11 IU#k 135|115 [17 FINRFEERI[S F191 LLIAK 158
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INRARTH (21 & 12 1L 122 |115 |16 | KFPNREE==01]35 25 190 S 143
MRNTH |21 #F 13 [IUK 120 [115 |2 | R=F/IMRFEEAI5 189 LAk 141
MRATH [21 F 14 [ILk 122 115 |1 | KF/INEFEERT|35 % 186 s 22
INRATH [21 #F 15 [Iu#k 120 [115 |18 | KRF/NRFEFHI[35 F192 LLI#£ 72 |&6
INRATH [21 #F 15 [IL# 120 [115 |18 | XF/NRFEAFE[421 F4 LSS 72 |&6
INRATH [21 F 16 [Eh 14215 [115 |3 FINRFEERI|[18 F7T LA 3B &
INRATH 21 FEi16 |Eih 14215 [115 |3 FINRFEER27 &H7 P 121 |&6
INRATE [21 & 17 [E# 106.33 [115 |8 FINRFEER33 FH i 1,409 [HE
INRARTH 21 FE 18 |Eih 75.31 [115 |9 FINRFEERIZ &1 P 1,409 [HE
INRARTH (22 &1 |EiHh 222131108 [5 FINRFEERI35 F 11 LLI & 323 |23
INBARTH 22 #F 2 Eith 146.20 [108 |6 FINRFEEFI14 &1 LAk 161
MRATH[22 #F 3  [IU# 438 [108 |4 =NSEEER15 17 s 530 |5 E
INRARTH 22 FE4 |Eih 129.47 [108 |8 FINRFEEBRI15 &6 LAk 142
INERTH 22 &S Eih 44239 (108 |1 FINRFEBR11 FEI Eih 464.62
INRATHE |22 &6  |HiEH 3.33]108 [13 FINRFEER|15 Fi1 LLIAK 3.66
INRARTH 22 FT |EH 131.45 108 |2 FINRFEER]15 F1 LI A& 144
INERTH 22 # 8 Eih 13324 |108 |7 FINRFEERF[5 &FES LIk 146
INERTH 22 &9 Eih 226.60 |[108 |3 FINRFEER12 F L #K 231 | &
INRATH [22 &9 £ 226.60 [108 |3 FINRFEER[14 E3 EZS 42 |&H
INRANTH |22 & 10 |[EH#h 134.63 [108 |11 FINRFEEERI15 FI LL#K 148
INRARTH (22 F 11 [EHh 132.75 1108 |10 FINRFEERI[15 FES LAk 146
INERTH 22 FE 12 |Eih 127.09 [108 |9 FINEFEEFI|15 &7 L #K 139
INRRTH |22 #F 13 [agmax]| 103 [108 [12 FINERFEER15 F10 LAk 113
INRATE [23 #F 1 Eih 120.03 [104 B9 FINRFFEL 337 &S i 135
INRATH 23 FE2 |Ei# 112.00 [104 B8 FINRFFE (337 &7 1A 126
INRATHE 23 F3  |EH#s 139.16 [104 B[4 FINRFFE  [337 F4 Eih 139.08
INERTH |23 & 4 Eith 181.04 [104 B |5 FINEFFER  [337 &S Eih 191.77
INRARTHI[23 &S Eih 162.86 |104 B |6 FINRFEEIL [372 F7 Eih 3581 [ &4t
INRATEB |23 &5 |E#e 162.86 [104 B[6 FINEFEIL [372 &S Eih 135.81 | &6
INRRTH (23 #F 6 |[MtdHh 95 |104 B[1 FINRFEERIN13 B LLIAK 59 |&f
INRARTH (23 &6 [#MiE 95 [104B[1 | KRF/NMRFETRI[3 &F?2 MiEHh 51 |&6
INRATH 23 &7 4@ 56 [104B[2 |XF/NMRFFHFE [337 F9 A 65
INEANTH |23 #& 8 Eih 123.92 [104 B[10 {234
INRARTH[23 FH9 Eih 123.94 [104 B|[11 {72
INRARTH 23 FEE10 |[Eih 11100 [104 B[3 [ RF/NRFFE (337 F2 +H 125
INRARTH 23 F 11 |E#h 11207 [104 B[7 [ K=F/NRFF% [337 &6 1A 126
INEANTH 24 &1 Eih 19.00 [104 A5 {234
INERATE[24 F2 [E#h 10061 |104 Al6 | XF/NRF=IL [372 F 10 =ih 115.71
INRATEB |24 &3 |E# 10435 (104 A|7 | KF/IRFEIL  [372 F12 Eih 115.70
INRANTH 24 F4 |EH 33.00 |[104 A8 {72
INRARTH 24 &5 |48 392|104 A|9  [KF/MRFEIL 372 F 1 +H 7.69
INERTH 24 &6 Eih 157.10 [104 Al10 |X=F/INR=F=IU [372 &S5 E#h 158.78
INRANTH (24 #F7 [ 234 [104 Al11 [KFNRFEIL [372 F 1 I 177 __| &6t
INEARTH |24 &7 |4 234 (104 Al11 | KRFE/NRFEEIL |372 F2 A 69 |&f
IZNEATE[24 F7 @ 234 (104 A[11 | KF/NRF=IL 372 F13 i 15 |&6
INEARTH |24 &7 |4 234|104 Al11 | XKFE/NEFEIL [372 F 14 A 35 |56
MWRATH[24 #F8 |[Eih 197.26 [104 A1 | KF/NIRF=I 372 &4 £ 165.34 &4
INRATH[24 #FS [E# 197.26 [104 Al1 | XF/NRF=IL [372 &6 Je 66 |&f
INERANTH |24 &9 Eih 143.82 [104 A2 {23
INESRTH 24 #F 10 |Eih 178.03 [104 A |14 {R 23
INRATE |24 ZF 11 |EHs 160.11 [104 A[3  [KF/NDRFEIL [372 F9 Eih 165.68
INRARTH |24 #F 12 |EH#h 6.47 [104 A]12 R 503
INEARTH 24 F 13 |EH 115.40 [104 A |4 {23
INRARTH |24 #F 14 |EH#h 6.72 [104 A]13 R 503
INRATH |25 #F =it 15740 [103 [4 [ R=F/NRFFE [341 F4 =i 162.90
INRARTH 25 &2 |4 70 103 |7 FINEFEFHBEAER [271 F 9 8 75
INRATE 25 &3 M 283 [103 |6 FINRFFE 339 F 1A 3328 |9 E|
INERTH 25 &4 [48 521 [103 |5 FINRFEIL 364 FE 10 8 705

51




LTEMH/NMNRIE TRE284F 98
— IR FEXIER
HT o IH

HE3 BE [ W [ R | x| HE2 HE I
INRIRNTH |25 FES J 624 [103 |2 KENRFEIL (365 F 10 1A 841
INRATEB 25 &6 | 741 [103 |1 FINRFEIL [373 F 1A 919
INRATE |25 &7 |IU#k 235 [103 |3 FINEFEAGR[421 F 14 LLIAK 289
INRATH |26 #F 1 1 560 [102 |2 FINREFHBEAE (271 &8 1A 664
INRINTH 26 FE 2 J 942 [102 |4 | KFE/NRF=I [364 FE9 A 13
INRSRTH |26 #E 3 1A 2208 [102 |1 FINRFEIL [366 F 1A 95 |&f
INRARTE |26 &3 M 2208 [102 |1 KENRFEEIL [370 F2 1A 535 |&H
INRATHE 26 &3 M 2208 [102 |1 FINRFEIL [371 F *H 2489 |&H
INRIRNTH [27 FE 1 A 627 |101 |5 KE/NEFHEAE[271 &7 A 757
INEARTH 27 &2 LLI#% 245 [101 [4 FINRFEIL 377 F126 L4k 385
INRINTH 27 FE 3 Eih 142831 [101 |3 RKFENEFEFHE 345 F1 Eih 1,893.38
INRARTH 27 FE 4 Eih 63.26 [101 |6 FINRFFRAR[421 FE 13 LA 85
IMRATE 27 &FF5 [ 1914 J101 [2 [X=/IhRFEFZ [339 F i 3328 |9 E
INRANTH 27 &6 |4 151 [101 |1 KE/NEFMHBAE 271 & 1 1A 179
INRARTH |28 F 1 Eih 15729 (93 B|11 | KF/NRFFE [341 &3 Eih 162.87
INRARTH[28 &2 Eih 12.00 [93 B]12 721
INERTH |28 # 3 Eih 104.02 |93 B[13 | X=F/INRFIFE [342 &S Eih 103.25
INRATH 28 F4 M 221 |93 B|7 [KFE/NRFEHFHE [342 F1 1 331
INEBRTH |28 &S P 209 [93 B[14 [ KFNEFHE [342 Fb6 *H 311
INRATHE 28 F6 |EHh 153.05 (93 B[15 [KF/NREFFE [343 F 1 1R 226
INRATE 28 FE71 [E£H# 165.03 [93 B[22 [KF/NIWRFF#E [343 F?2 T 244
INRARTH 28 #FS  |Eih 6771193 B|16 | KF/NRFEHF#% [346 F>S Eih 67.19
INRARTH 28 FE9  |EH 12.00 [93 B[17 R
INRANTE |28 #F 10 |Eih 3.00 [93 B]20 1R
INRATE 28 FE 11 [£H#e 12.00 [93 B][21 1R
INRATE |28 #F 12 |Eih 89.14 [93 B|18 |KF/NMRF=IU [379 FE62 Eih 89.11
INRNTH |28 #F 13 |FEith 12.00 |93 B]19 {231
INRANTE |28 #F 14 |Eih 75.03 [93 B]1 AXF/NRFFER [346 F9 Eih 75.12
INRATH |28 FH 15 |EiH#h 17757 (93 BJ2 EEED
NRATH |28 #E 16 |Eih 23777193 B|6 | AF/NE=%1Z |346 &1 T 293
INRATE |28 ZF 17 |E#e 15437 |93 B8 [KF/NRFFE (342 F?2 1 177
INRARTH 28 F 18 |Eih 16124 [93 B9 | KF/NRF=IL [363 F7 1 189
INEATH |28 F 19 |Ei# 16.00 [93 BJ[10 EEED
INEARTHI[29 FE 1 Eih 1200 [93 Al6 )
INRARTH[29 &2 =i 7523193 A7 | XF/NRFFE [346 F4 Eih 75.28
INRARTH[29 #HF 3 J] 39 [93 Als [XKFINRFSERI[7T7T F 1A 1,789 |9 =
MRFTH |29 &4 [ 189 193 Af9 [XKF/NRFKJINL[448 F 1 Wk | 12128 |5
INRARTH[29 #FHS Eih 19907 [93 A[10 [ KFE/NRFFEAFE[438 F 1 R 234
INRATEB |29 &6 |E#s 13394 [93 A1 RFNRFFHE 346 F 20 Eih 133.91
INRARTHI29 FET  |Eih 14400 [93 A2 | KF/NRFFE [346 FE 19 Eih 143.72
INEARTHI|29 FES |EH# 1446793 A3 | KF/IRFFE [346 & 18 Eih 145.70
INRATHI29 FE9 |Eih 14106 [93 Al4  [KF/NREFFE [346 F 16 1A 141
INRATHE |29 ZF 10 [E#s 14289 193 A[5 [ KF/NRFFE [346 F 17 1A 142
INRARTH[30 #FH 1 =i 101.45 [92 12 [ XENMNREFER [351 FS =i 100.55
INEATHI30 FE2 |[EH 101.15 [92 10 | KF/NMNEFFE (351 F7 Eih 100.70
INRATHI30 FE3 |Eih 106.35 [92 8 [X=F/IhRFEHE#% [351 &6 =i 106.11
INEATHI30 HFE4 |EH 111.42 [92 7 | RFIMNRFFE |351 F2 3 9296 | &4
INRATHI30 FE4  |Eih 111.42 [92 1 | XFIhRFEHFER 352 F4 LIk 18 |&f
INRARTHI[30 #ES Eih 123.36 [92 15 | KF/NMNEFFE [350 F4 Eih 12257
INRRNTH |30 6 Eih 101.25 [92 16 | KRF/INRFFHE 350 FES E#h 101.08
INRARTHI30 F&7  |EH 100.15 [92 17 | RFNMRFFE [350F6 Eih 100.02
IMRATEI[30 F8 [E£He 99.52 |92 18 [KF/IMRFFHE [350F7 Eih 99.30
INEATHI30 FE9 |EH 84.86 [92 19 | KF/NMEFFE [350 FS Eih 84.28
INRATH 30 FE 10 |Eih 4516 |92 20 | X=F/IhRFEF%Z [350 F3 =i 57.18
INEATH 30 FE 11 |EH# 477.23 [92 21 | KRFINRFFHE 350 F2 Eih 604.61
INERTHI30 FHE 12 |=Eih 929.55 [92 3 KFEINRFHE (348 FE: 1 =ih 1,144.75
INRATE |30 #F 13 |Eih 683.02 [92 2 | KFIMNRFEFHE 347 F?2 Eih 871.09 | Z|
INERTHI30 FHE 14 |=Eih 746.21 |92 1 KFENRFEFER 347 H 1 =ih 45408 | & {3
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IMNRATHI[30 FE 14 [Ei 746.21 92 1 KFENRFFE [347 &3 ES3 42963 [& 6B
INRARTH 30 FE 15 |Eih 365.26 |92 4 | RFNRFFHE 349 F2 LI £ 618 |5 E
INRNTH (30 & 16 |[HiEHh 72 [92 5 R
INRATE |30 #F 17 |#fEth 16 |92 6 R 52 3h
INRATH 30 FH 18 |Eih 2.00 [92 9 EEED
INRATH 30 FE 19 |Eih 2.00 [92 11 R 52 3h
INRATH 30 FE 20 |Eih 2.00 [92 13 EEED
INRARTH 31 F 1 Eih 27.00 [91 10 EEED
INRATHI[31 &2 L £k 487 |91 6 RENEFEFEE 349 F 1 L #K 618
INERTH 31 &3 L #4& 120 |91 5 KF/INREFFE (349 F?2 L #K 618 ||
INRRTH |31 &FE 4 P 859 |91 4 | KFEINRFEHE [354 F A 161 |&4t
INRARTH 31 FE4 | 859 |91 4 [ KRFNRFFHE |35 F i 1,087 |&6t
INNEATE[B1 &F5  [4H 458  [91 3 | KRFENRFHFEEZ [357 F 1 1A 568
INRATE |31 #F6  |Eis 51.71 [91 2 | KFINRFEFER 347 F2 Eih 871.09 |5 Z
INRARTE |31 &F7 | 798 |91 1 KFENRFFH [357 &S i 989
INERTH 31 &S Eih 140.02 |91 1 | KFINRFEFER 352 &7 Eih 140.02
INRATEB (31 &F 9  |E# 27.00 |91 8 R 53 3h
INRARTH (31 F 10 |E#h 157.35 |91 9 | XKFE/MNEFFHFE 352 FS8 Eih 99.35 | &4
INRATE (31 ZF 10 |E#e 157.35 [91 9 | XFINRFFE (352 F9 Eih 59.95 | & B
INRARTH([32 #FA Eih 120.28 |90 16 [KFIMNRFFHR [353F7 1R 175
INRATHI32 FE2 |Ei# 120.15 [90 17 | X=F/NhRFFE  [353 &8 T 175
INRATE[32 &3 [E# 120.34 |90 18 [KF/IMRFFH [353F9 1R 175
INRATE (32 F 4 |E# 120.12 [90 19 | KFNMNRFFE [353 F1 LLIAK 62 |&6F
INRATH 32 FE4  |Eih 120.12 [90 19 [KFNMRFFH (353 F 10 P 55 |&6
INRARTHI32 FE4  |EH 120.12 [90 19 | RFINRFIFHREE[537 &F?2 T 51 |&6F
INRATHE 32 FHFS5 |EHs 53.05 [90 8 RE
INRARTHI32 FEE6 |Eih 141.29 [90 7 | XKFIMNRFF% (352 &6 LLI AR 140
INRARTHE 32 &7 Eih 152.31 |90 11 | KFENMNEFEEE [356 F3 1A 183
INRATHI32 HES |EH# 152.20 [90 12 | KRFENRFFE [356 F2 1 183
IRATEI[32 FE9 [£# 139.76 [90 13 | RFENRFFE [356 F 1 1R 168
INRATE (32 ZF 10 |4 132 [90 20 | KF/INRFEFH 357 &F4 1 165
IRATE[32 FE 11 [ 132 [90 21 | KF/INRFFH 357 &S 1R 165
INRATE (32 ZF 12 |4 132 [90 1 | KRFENRFFE [357 F2 1 165
INRATE[32 F 13 [£H#s 139.74 [90 2 | XKFINRFF% [356 &6 1R 168
IMNRATHE[32 F 14 [£H# 152.05 [90 9 |XKFINRFFH% (356 &FS 1 183
INRATEI[32 F 15 [E£H#e 152.03 [90 10 | KRFENRFFE [356 F4 1R 183
INRARTH 32 FE 16 |Eih 187.33 [90 3 EEED
INRATH |32 #E17 |EiHh 11514 (90 |4 | KF/IRFHE |353 &2 T 67
INRARTH 32 FH 18 |EH# 118.23 [90 5 |XFINRFF#% [353 FS3 1 172
INRATEI[32 FE 19 [E£H#e 121.49 [90 6 | KRFNRFFE (353 F4 I 177
IMNRATHE[32 FE 20 [£#t 127.24 [90 14 | KRFENRFFE [353 &S 1 185
INRNTH 32 #F 21 |HiEH 2.41 190 15 | KF/INRFFHE [353 %6 1A 353
INRSRTH[33 &1 LU 4% 209 |88 8 | X=F/MR=FEKIILL]442 15 LAk 243
INRARTE |33 &2 | 1,044 |88 5 | XFMRFKIIL|441 F P 1,315
INRNTH (33 #FE 3 |HiEHh 1.50 |88 27 | X=F/MRFEKIIL|442 17 1 1.89
INRATH I3 FE4  |Eih 135.21 |88 18 | R=F/NRFKIIL[440 7 1 169
INRATH 33 #FS5 |Eih 134.19 [88 15 | XKF/NMREFKIIL[440 &6 P 168
INRATHI33 FE6 |Eih 133.50 |88 14 | K=F/NRFKINL[440 FE 5 1 167
INEARTH |33 &7 Eih 133.50 |88 13 [ KRF/NRFKIIL[440 F 4 Ji] 167
INRATH 33 FES |Eih 133.50 |88 12 | R=F/NRFKINL[440 FE 3 1 167
INRATHE |33 F 9 |EHs 133.50 [88 11 | KF/NRFKIL [440 F 2 1A 167
INRATHI[33 FE 10 [Ei# 200.03 [88 9 | KFIMNRFmARZR|421 T3 L #K 285
INEATH 33 FE 11 |EH 141.75 |88 31 | KRFINRFEHAR421 FE12 g S 202
INRATH 33 FH 12 |Eih 14181 88 10 | KFNMRFmAR[421 F 11 L #K 202
INRARTH (33 & 13 |#iEHh | 223 [88 1 KFINRFFE |84 F11 P 301
IMRATE[33 F 14 [ 9.32 [88 2 | KFINRFFHE |84 F96 P 48
INRARTH 33 FE 15 |Eih 155.23 |88 24 | X=F/INRFEKIILL]440 £ 13 P 195
INRATH 33 FE 16 |Eih 120.02 |88 23 | K=F/INRFKIIL]440 FE 12 1A 150
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IMRATE[33 FE 17 [£H#e 135.25 |88 22 | K=F/NRFKIILL]440 FE 11 1A 169
INRATH 33 F 18 |EH 135.26 |88 21 F/NRFIKII L [440 FE 10 1A 169
INESRTEB (33 &F&E 19 |=Eih 135.25 (88 20 FINRFK)IL (440 FE9 J 169
INRARTH 33 FE 20 |Eih 135.25 |88 19 FNRFKJI W [440 F 8 +H 169
INRARTHI33 #HE 21 |Eih 155.18 [88 17 | KFENRFEFHE |84 FE175 A 180
INRARTH 33 FE 22 |Eih 138.92 [88 16 FINRFFHE (84 FE174 *H 161
INRARTH 33 #H 23 |Ei#h 138.90 [88 4 | KFEINRFHFE [84 FE173 A 161
INRARTH (33 & 24 Mg 3.75 [88 26 FINRFKIINL 442 FE 16 1A 471
INRANTH 33 #E 25 |agmum| 453 (88 25 [ XK=/hR=FEkI)1L[440 F 14 A 28 |56t
INRATH |33 & 25 |azmE®R| 453 |88 25 FINEFKJI W [442 F 2 I 541 | &8
INRANTH [33 ZFE 26 |[#FEHh | 334 ]88 3 | XFINRFFE |84 F176 i 135 |56
INEATHE[33 F 26 [#7iEH# | 334 [88 3 | RF/IMRFKIINL]440 T 1 P 273 | &6t
INRARTH 33 #H 27 |Ei# 133.01 [88 30 [ XK=/hE=FEKINL[440 FE 17 A 167
INRARTH (33 FE 28 |Eih 133.01 [88 29 | X=F/IMREZFEKIILL]440 Z 16 1A 167
INRRTH 33 F 29 |EH# 133.46 |88 28 | R=F/INR=FKIILL[440 FE 15 1A 167
INRANTE (33 #F 30 |Eih 167.30 |88 6 | KF/NRFEKIL]442 F 20 1R 242
INRFNTH (33 #F& 31 |4 246 |88 7 | X=F/NRFKIIL]|442 10 1A 376
INRANTH |33 #F 32 |E#h 167.31 |88 32 |R=FE/MR=EKIIL442 F&T 1A 242
INRARTH 34 FA Eih 120.87 [89 8 | XF/MEF=IL 1363 F13 Eih 119.71
INRATE 34 F2 |EH#s 120.49 [89 10 REH
INRATEB (34 F 3 |E# 120.64 |89 19 R
INRANTH[34 F 4 Eih 130.58 |89 22 {72
INRATEB |34 &FS5  |E#e 120.60 |89 23 R
INRATE[34 #F6 [E#h 108.01 |89 11 1R
INRATEB (34 F7  |E# 72.02 [89 12 | KRF/NRFEIL [363 F3 *H 97
INRATE[34 &8 [E# 180.02 [89 13 [KF/NRFEEIL [363 F 11 1R 19 [&6F
INRATEB |34 &8 |E# 180.02 [89 13 | KF/NMRFEIL  [363 F16 T 15 |56
INRATE |34 #HFS8 |E#h 180.02 [89 13 | KFE/NMRFEIL [363 F17 Eih 4972 [ &8
INRATEB |34 &8  |E#s 180.02 [89 13 | KF/NMRFEIL  [363 F19 1 58 |&6F
INRATE[34 F9 [E#h 200.60 |89 17 [ KF/NRF=IL [358 F 1 1R 270
INRATHE [34 FE 10 [£H#t 200.77 |89 20 | KF/INRFFHE 337 &1 i 249
INERATE [34 F 11 [E#h 127.62 189 4 [ KRFENRFHFEHT|162 & 20 H 160
INRATE [34 FE 12 [£# 3.75 [89 21 | KFIMNRFHIAIT|164 &3 H 4.82
INRATE [34 F 13 [£H#s 592 |89 39 [ XF/NRFHEAT[162 F 30 H 9.30
INRARTH 34 F& 14 |EH 26.59 [89 4 [ RFNRFmAKL|418 &2 AR 36
INRANTH |34 #F 15 |EH#h 1.94 189 38 | KFINRFHEAR]|419 F6 LI #K 2.70
INRARTH 34 FE 16 |EHh 15452 [89 15 | RFNMNRFmAR[418 &1 AR 214
INERSRTH 34 FE: 17 |Eih 11.28 (89 37 | KFEIMNEFFEAR|419 FES LK 15
INRATHE [34 FE 18 [£H#t 16.13 89 42 | KFENRFEmALE|418 &3 ITE:S 22
INERSRTH 34 #FE 19 |Eih 1.17 |89 36 | KFENMNEFmAR|419 F4 LK 1.62
INRRTH (34 #F& 20 |Ei#h 148.45 [89 21 | XFIMRFmAR|420 F 1 AR 206
INRATH 34 T 21 |Eih 165.75 [89 26 | KF/INRFIFAZE|420 F 10 L #K 230
INRARTH [34 T 22 [Eih 165.72 [89 25 | KRFINRFFHAR]|420 FO g S 230
INRATH 34 FE 23 |Eih 165.71 |89 24 | KRFINRFImAZE|420 TS L #K 230
INRATE [34 24 |Eih 143.01 [89 1 AEINEFEHAE[420 F7 L #K 198
INRATH |34 T 25 |HiEH 4.00 [89 33 | KFINRFmAR|420 F 17 L #K 5.56
INRARTH [34 & 26 [Eih 145.36 |89 32 | KRFINRFEFHAR]420 F 16 g S 201
INRATH 34 T 27 |Eih 165.84 |89 31 | KRFINRFmARZE|420 F 15 L #K 230
INRARTH [34 & 28 [Eih 165.84 [89 30 | KFINRFEFHEAR]|420 ZF 14 g S 230
INRATH 34 FE29 |Eih 165.84 |89 29 | KFINRFmARZE|420 F 13 L #K 230
INEARTH 34 FE 30 |EH# 148.46 [89 28 | KRFINRFHEAR]|420 FE12 g S 206
INRATH 34 FE 31 |Eih 17.38 [89 35 | KFINRFmARKR|419 T3 L #K 24
INEATH 34 FH 32 |EH#H 165.81 |89 2 | XFINERFmAR|419 FEA g S 230
INRATH[34 FE33 [Ei 28.50 [89 34 | KFINRFmARZR|419 F2 L #K 39
INERARTH 34 7 34 |E#h 9.74 |89 3 | XFINRFHFET|162 F17 H 15
INEATE |34 &35 |FEi#h 127.55 |89 40 |[KRFENRFHIAT[162 F28 H 160
INRNTH |34 # 36 |#fEHh 1.40 [89 43 | R=/NR=EKIINL[457 F 20 Ji] 167
INRRTH (34 FE 37 |EH# 199.14 [89 14 |X=/NRFFE  [337 F: 11 1A 27 |&6t
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GE2 BE | WE [ WE | 0 P me WE E | E | e
MNRATH [34  F 37 [Eh 19914189  [14 [KRF/NRFEL 358 F2 LLI A 85 |&H
INEARTH (34 FE 31T | 199.14 (89 14 [ XKFE/NEF=IL [358 F4a I 99 |&4E
MRATH [34  F 37 =t 19914189 [14 [RF/NRFKJILL]457 F 1 ] 48 | &
INRANTH (34 #F 38 [E#h 200.56 [89 16 | K=F/NRFKIIL]457 FE19 I 241
INRANTH (34 F 39 [Eih 165.36 |89 5 |KRENMNRFEIL (363 F4 Eih 132.66 | &
INRRTH [34 & 39 |[Eih 165.36 |89 5 [XKFMRFEIL 1363 F 14 e 2491 | &
INRANTH (34 #FE 39 |[Eih 165.36 |89 5 |KENMRFEIL [363 F15 Eih 12.38 [ &6
INRIRTH (34 & 40 [Eih 82.18 189 6 | KFNMRFEIL [363 F12 e 82.21
INRARTH (34 &/ 41 8 124189 |7 EZ
INRRTH |34 % 42 [Eih 120.62 189 |9 R
MRATH (34 #F 43 [Eih 11.00[89 [18 R
INRATH [101 & ARMER| 2472 B
MNRINTH [102 & R AR | 9,041 B
MNRATH [103 F ARAERE| 80 BE
MNRANTH [104 & aRAER| 220 B
INRATH [105 & ARMEB| 45 B
NRINTH 106 ARAEH| 323 B
NRATH [107 #F ARAEHE| 199 B
NRNTH [108 aRAER| 890 B
INRATH [109 & ARFER | 1,400 B
MNRNTH [110 ARAEH] 115 B
MRATH 111 & AR AESE| 991 B
NRINTH 112 aRMER| 244 B
MRATH [113 & SRAEH | 1,610 B
MNRINTH |14 F ARAEH| 195 B
NRATH 115 & ARAES| 603 B
NRINTH |116 aRAEH| 338 B
MRATH [117 & ARAEH | 131 B
NRINTH [118 & ARAEH| 597 B
MRATH [119 & ARAEH| 465 B
NRINTH 120 & AR AEH | 1,227 B
MRATH [121 & ARAEH| 237 B
INRINTH [122 & R AEH | 3102 B
MRATH [123 & ARAER| 949 B
INRINTH [124 & ARAEH| 608 B
INRATH [125 & ARAEH| 188 B
INRINTH [126 RAEH | 661 B
INRATH 127 & AR | 351 B
INRINTH [128 & ARAEH| 526 B
INRATH [129 & ARAEH| 46 B
NRINTH [130 ARAEH| 392 B
MRATH |131 & ARMAEH| 714 Bk
INRINTH [132 & RAEH| 131 B
MRANTH |133 #F SRAER| 142 Bk
NRINTH [134 & ARAEH | 649 B
MNRATH |135 & ARAEH| 579 B
NRINTH [136 & RAEH | 852 B
MNRATH |137 & SRAEH| 1,587 B
NRINTH [138 ARAEH| 146 B
MRANTH |139 #F ARMAER| 249 B
MRNTH [140 & sRMAER| 1,428 B
MRETEN  F1 [ 795 [56 |6 [KF/NMRFEI [375 &2 I 175 | &6
MNREETHN  &F1 [ 795 [56 [6  [KF/NRF=W [375 F3 I 872 |&Ht
INNEETHE |1 EF2 |[E# 684.17 |56 5 |[XKFEDNRFEIL [374 F 1 1H 396 |&B
INEETH | E2 |[Ei# 684.17 |56 5 [XFEMRFEIL [374 F2 I 231 &6
NNEETEBEN FE2 [E# 684.17 |56 5 |KRFENRFEIL (374 K4 I 202 |&6
MRETH|1 &2 |[Eih 6841756 |5 [RF/INRF=IL [374 &5 1E 54 |&6Bt
INREETHE |1 EF3 |E# 261.28 |56 1 | KF/INRFE=I 367 & I 201 | &4
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IMNRETH | %3 |[EH 261.28 |56 1 KENRFEIL 368 F T 208 |&f
INRETH | 4 |[EH# 163.85 |56 2 | KFNMRFEIL 369 F I 128 |56
NRETH[N  #F4  |=£th 16385156 |2 | AF/INRFE=IL 370 & 1 1 9% |&6
MRETH|1 &S UM 54 |56 |7 |KF/NRFEEHI[5 &1 g 323 |2
NRETH [ &6 M@ | 209 |56 [3  [KF/NMRFmARE[421 10 S 283
MRETH[2 &HE1 Eih 26525 [54 [5 | KRF/IMRFEIL [377 F125 LIk 415
NNRETH[2 FE2 £ 23444 |54 |6 | KFDMRFHAE[421 F8 S 316
MNRETHI|[2 %3 [Eih 45944 [54 |4 |KF/IRFEIL 364 F4 Lk 639
MRETH[2 F4 = 79310 |54 |3 | KF/INRF=IL 365 & 3 1 1242
INRETH[2 &S5 |[Eih 63289 [54 [2 [KF/MRFEIL [364 F1 LIk 218 |[&6t
INRETH[2 &5 [EHh 63289 [54 |2 | KFE/NMRFEIL (364 F3 AR 2777 | &6
MNRETHI|[2 %5 [Eih 63289 (54 [2 |XF/INRF=I [364 &5 Eih 165.28 | &
INRETH[2 &5 [EHh 63289 [54 |2 | KFE/NMEFEIL (364 &6 LK 21 | &6
MRETH[2 FEe [Eib 51632 |54 [8 [KF/INRFFRALK|421 &9 LLI#K 696
INRETH |2 7 Eith 762.68 |54 1 KE/NRFEI 364 &2 1A 1,061
INMNRETH |3 EF1 P 151 |51 6 KFENRFE=IL [365 &F2 I 254
IMNRETH 3  F2 |[EiHh 226.05 [51 5 |KRFENRF=IL [363 &S =i 30771
MRETHI[3 FHE3I [Eib 21215151 |4 R
MRETH |3 &4 |[MiEH 3B _[51 8 T
INNRETH |3 &E5 Eih 218.62 |51 3 [ XKEPMRFEIL 363 &1 = 25518
MRETHI[3 #FH6 |[Eih 30.00 |51 2 Rt
NMRETH 3  F'71 =i 137.78 [51 11 | KF/INRF=IL 359 &5 A 195
MRETHI[3 #F8 |[Eih 153.26 [51 1T | Ak=/REEL 359 &1 1 217
IZNRETH([3 #E9 [Eih 147.64 [51 9 | KF/NEF=IL 359 &3 1A 209
INNRETH 3  F 10 [E#h 150.31 |51 10 | KE/NRE=IL  [359 &4 I 213
IMNREETH4  FEA Eih 120.49 49 12 | KRFENMNRFHAGFE[420 &S TS 170
INRETH[4 F2 |[EHh 120.48 [49 13 | RFIMRFmAR[420 &6 (LIAK 170
INEETH |4 &3 Eih 221.68 |49 6 KE/NRFE=LL 377 & 122 LI #& 337
INEETH 4 FE4 | 12158 [49 7 | KENSRFEEqgi|15 & 16 (LI#k 139
INRETHE (4  FS5 (Mg 3.52 |49 16 | AKF/INR=E=I  [375 &8 1A 244
INRETH|4 FE6 |Eih 124.37 |49 8 |XFE/NRF=IL [375F 1 D 2 |4 66 |20t
INNREETH4 F6  |Eih 124.37 [49 8 | KRFIMRFmAR|421 &7 LLI#A 89 |&f
INRETH 4 FH7 Eith 14533 [49 10 | KFNMNEFmALR[421 FS (LIAK 202
NMRETH[4 &S [IU#k 140  [49 4 | KRENRFFAE[421 F1 g3 195
MRETH[4 9  [IUM 563 |49 3 |RF/IEFIKINL448 F 1 LAk 12128 [DF]
INRETBE 4  ZF 10 |Eih 152.10 |49 9 | XFIMNRFFHEAR]422 F3 g3 198
MREETH[4  F11 DLdk  [1266 |40 |1 | KFINRFmAE[422 F WLk | 1.795
INRETH [4 F12 |Ei 231.40 [49 2 | KF/INEFEAR (422 54 HLIAK 300
INRETH 4 F13 |Eih 49.00 [49 14 | KENRFEAIE (422 5 (LIAK 63
INRETH [4 14 |EH 144.11 |49 15 | KF/INRFEAE[421 &6 HLIAK 200
INEETH |4 & 15 Eith 125.86 |49 5 KENRFAR[420 &3 g S 178
INRETH 4 FE16 |Eih 125.97 |49 11 | KEINRFEZEAR[420 & 4 LIk 178
MRETHI[S F1 =t 13272 [43 71 [ XFIRFFAZE[435 &3 Eih 132.28
INRETH |5 &2 Eih 259.69 [43 6 | KFINRFAlR|426 &1 Lk 317
INEETHI[B &3 Eih 120.02 [43 1 | KEIPNRFERIR 426 & 2 (LIAK 146
IMNRETHI FE4 |Ei 182.00 |43 12 | KEINRFEAE 426 & 3 LIk 222
INEETHID #ES5 |Ei 590.74 [43 1 | KEIPNRFE AR [425 & 1 (LIAK 466 | S5
INNRETHIS FES5  |Eih 590.74 |43 1 | KEINREFEZAE[425 & 4 LIk 119 | &
INNRETHI5 #HFS5 |Eih 590.74 [43 1 | KF/INRFm AR |425 &5 AR 119 |&6
MRETHIS #F6 [ 531 143 |2 [ KF/IRFFmAZR|424 F4 I 1488 |9 E|
NMNEETH[ &7 [H 121 143 3 | RFIMRFmAR|430 &3 P 119
INRETHI|D &S Eih 120.37 |43 4 | KEINRFE AR [423 25 1 s 193
INRETH |5 &9 Eih 4542 (43 8 | AF/INR T AR 423 252 (LIAK 73
INRETHI5 F 10 |[Ei#h 75.26 |43 5 | KREDNRFERAR|424 F1 I 118
INRETH IS FHE 11 |EHh 135.79 [43 9 | KRFIMNREFmAR|424 FES8 I 215
INRETH |5 12 |=Eih 34.21 |43 10 | XENEEEAR[424 Fo I 53
NMRETH[6  &HE 1 MiEhh | 204 [42 5 | XKFINRFFEAZE]425 F3 LAk 273
INRETH |6 E2 Eith 86.29 (42 6 | KFINRFERAR|427 T30 T 36.30
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MRETEI6 FE3 [E£He 103.15 [42 7 | XEPNREZAIFE]429 FE12 E 103.00
INRETHI6 FE4 |Eih 77.42 |42 8 | XFINRFmAZE|427 F29 Eih 77.36
INRETHI6 FES |Eih 79.83 [42 9 | KFINRFEFHAR]|427 F28 E 78.59
INRETHI6 #H6 |E 71.13 |42 10 | KENRFiFALRE|427 F 27 Eih 70.26
NEETE[6 FE7 [E# 7.00 [42 11 1R B
INRETH[6 #ES [Eih 61.57 [42 1 [ KFIDRFFFAR[427 FE 26 ) 61.54
INRETH |6 2 9 |MiEth | 284 [42 |2 | KF/INRFaAlR[429 &3 s 230
INERETHI6 #FH 10 |[FEih 32.58 [42 3 | KFINRFHARE]|429 FE 11 LAk 32
INRETHI6 FE11 |Ei# 142.82 [42 4 | KFENRFHAE][429 F10 LAk 142
INRETH |7 &I HigHh 35 |41 13 EEED
INgETHBHI7T FHE2 |Ei# 103.58 [41 14 | RFNMRFImAR[427 & 31 Eih 102.47
INNRETB|7T #3 |E# 16.00 |41 15 EEED
INRETHI7T FE4 |EH 137.89 [41 16 | XKF/INRFFHAE[427 &S =i 137.24
INRETH |7 &5 Eih 153.52 [41 17 | RFENRFFHAE|427 &6 E#h 153.70
INEETH |7 &6 Eih 2.00 |41 18 F it
IMNRETH|7T F7  |EH# 181.10 |41 19 | KRFENMNRFmAGR[427 &7 LLIAK 185
INRETH |7 %8 Eih 4.00 [41 20 {231
INRETEBEI|7T &Y Eih 69.35 |41 21 | KRFE/INREFEFAR]427 FE17 Eih 70.10
NRETH |7 #F 10 [IU# 68 |41 22 | KFINRFmAR|427 F 18 LLI AR 67
INRETB 7T &F 11 |E#h 2.00 |41 23 1R
INEETH |7 12 (=i 70.82 |41 24 | KFEINRFEAR[427 TE19 L& 71
INRETH (7 F 13 (M 71 |41 25 | XKFINRFFHAR]427 F 16 TS 71
INRETHB |7  &F 14 [E£H#h 71.50 [41 26 | KF/INRFEAZE[427 F 15 Eih 71.67
INRETH |7 FEI5 |Eih 71.43 |41 21 | KFINRFmAR|427 F 14 LLI A 71
INRETH |7 16 [E£ih 72.93 |41 28 | KFINRFImAR|427 F13 L #K 72
IZNRETEBE 7 F 17 [E# 97.65 |41 29 | KRF/IMRFmAZ|427 F 10 Eih 96.54
INEETH |7 18 |Eih 99.29 [41 1 KENRFAR[427 T Eih 98.72
INEETH |7 & 19 |[E£i#h 105.25 [41 2 KEDMNRFmAR|427 F 11 L #K 104
INRETH |7 220 |[E#h 103.00 |41 3 |[KFEDNRFEEAR[427 F12 LIk 103
INRETBH 7T FE21 |Eih 6.00 |41 4 13
INRETBH |7 #F22 |Ei#h 88.34 [41 5 | XFIMNERFmAZR|427 F3I9 Eih 87.00 [ &4
INRETB |7 #F 22 |E#h 88.34 |41 5 | RFIMRFimAF]|427 F40 Eih 163 | &6
INRETH |7 223 |[E#h 7.00 [41 6 {234
IZNRETB[7T F24 [£H#e 119.68 [41 7 | XFINREFFHAR]|427 F1 =ih 119.88
INRETB |7 FE25 |E#s 97.17 [41 8 | XFIMRFEmAR|427 F38 Eih 96.74
INEETH |7 xE 26 |Eih 91.77 |41 9 | XKFEIMNRFZ=ARE[427 F36 Eih 91.81
INEETH |7 & 27 |[E£i#h 119.15 [41 10 | KFENEFEAGRE[427 F 32 Eih 118.39
INRETB |7 #F 28 |Eih 6.00 |41 11 R
INRETH |7 29 |[E#h 18.00 |41 12 {234
INNRETH |7 FE30 |Eih 501 |41 30 | XKFINRFmAR|427 F 3T LLIAK 5.89
INRETH |8 £ NE 2,598 NS
INNRETH9  FA E 176.87 |48 6 | KFINRFmAR|417 FE6 Eih 200.87
INRETHBI9 ZFHF2 |EH#s 46.00 [48 7 EEED
INRETHI9 FE3 |FEih 98.66 |48 8 | KFIMNRFmARZR|417 FES =i 120.05
INRETHBI[9 F4 [E#h 158.27 |48 11| KRFIMRFHAR[417 F7 Eith 192.61
MRETH[9 %5 |E# (10543248 |5 | KAFIRFmARE[413 F1 Wtk [ 1797 [5E]
MRETH |9 %6 LLI#% 241 48 4 KFENEFFFARE417 T L&k 315
MNRETH|9 &7 [EiHh 14214 (48 |10 |KF/NRFEI 365 & 1 P 161 |&#
MRETH[9 F71  |[EHh 14214 (48 |10 |K=F/MRFEIL (375 &7 X8 63 | &4
MRETH |9 %8 Eih 145.10 |48 1 KF/INRFEERIIS &2 LR 172
INRETH |9 %9 Eih 132.23 |48 12 | KF/NMNEFEERI[15 F13 LIk 157
INRETH |9 & 10 [Eih 175.11 [48 2 KENRFEFHAR406 & 58 LK 180
INRETHI9 FHE 11 |EHh 135.00 [48 13 | KF/NMNRFEERI[15 F15 L3S 163
INRETHI9 FE12 |FEih 138.21 |48 3 | KFNRFEEEI|15 Fi14 L #K 157
INRETH[10 F 1 =it 15160 |50 A[53 [R=F/NRF=IL (362 &FE3 =i 156.21
INRETHI10 FE2 |Eih 8377 (50 A|54 |KF/NMRFE=EIU [362 F2 LLIAK 90
INRETH 10 # 3 Eih 5.00 [50 A[55 R
MRETBE 10 FF4 [£H 8203 [50 A|56 |KF/NMNRFELL [362 &1 LLIAK 59
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INEETHI[10 #FH5 Eih 12718 [50 A |57 | K=F/NRFE=IW [379 &FE55 Eih 128.20
INRETHI10 FE6 |[EH 118.63 [50 A|[58 FINRFEIL  [379 F56 Eih 118.16
INEETH 10 F 7 Eih 121.08 [50 A[59 FINRF=IL 379 F57T Eih 119.66
INRETHI[10 ZES Eih 118.99 |50 A|[60 FINRFEIL 379 FES8 Eih 117.77
INRETHI[10 FE9 Eih 116.99 [50 A[62 |X=F/MRF=IL [379 FS59 Eih 117.21
INREETH 10 & 10 |FE#h 91.98 [50 A|[63 FINRFEIL 379 FES4 Eih 99.17
INRETHI[10 & 11 |E#h 132.62 [50 A1 RKENEFEIL [382 &S Eih 131.83
INEETH 10 FE 12 |EH# 147.47 |50 A3 FINEFEIL [379 63 Eifh 13.65 | &3
INRETHI[10 ZFHE 12 |Ei#h 14747 [50 A3 AKENEFEIL [382 F6 Eih 106.28 | &4t
NMNEETHE[10 & 12 [Ei#h 1474750 A[3 FINEFEIL [382 F7 =it 5.02 | &6
INRETHI[10 ZFHE 12 |E#h 14747 [50 A3 RKENEFEIL [383 F2 Eih 281 | &4
NMNEETHE[10 & 12 [Eih 1474750 A[3 FINRFEIL [383 F4 =i 20.62 | &
INRETH 10 13 |Ei#h 12825 [50 Al4 | KF/NRFEIL [382 &FE 11 Eih 49.89 | &4t
INEETH 10 FE 13 |EH# 12825150 Af4 [KF/NMRF=EIU [383 &S Eih 7791 | &6
IMNEETHE 10 F 14 [Ei# 11658 |50 A[5 [R=F/NR=F=IL [382 &S ES3 115.66
INRETEBE[10 F 15 [E#h 110.12 |50 A6 | KF/NRF=IL  [382 F12 Er 109.64
INRETHE |10 #F 16 |Eih 3.00 |50 Al7 {F 2t
INNRETB 10 &F 17 |E#h 30050 A8 1R
INRETH 10 FH 18 |EH# 10039 |50 Al9 [KR=F/NR=F=IL [381 &S Eih 91.66 [& B
INRETH[10 F 18 |EHh 100.39 [50 A[9 | XKF/NINREFEIL [382 F 13 Eih 8.59 | &4
INRETHBH 10 FE 19 |EH# 10054 |50 A[11 [R=F/NREF=IL [381 &6 Eih 91.88 [& 6
INRETEBE[10 &F 19 [E#h 10054 |50 Al11 | KF/NRF=L [381 F 10 Eih 8.38 | & Bt
INEETHB [10 ZF&E 20 |=Eih 10523 |50 Al12 | XK=F/NMNREF=IL [381 F7 Eith 96.70 | &
INRETEB 10 #F 20 [EH#h 10523 [50 Al12 | KRFE/NRF=IL [381 F 11 Eih 830 |5
INEETHE 10 #FE 21 |Eih 2.00 [50 A]13 {R B #h
INRETH 10 F22 |Ei#h 14567 |50 A[14 | XF/NREFEIL [381 F12 Eih 143.85 | &6t
IMRETE 10 FE 22 [£H#e 14567 |50 Al14 | XK=F/NREF=IU [381 F 13 Eih 1.99 [ &
INRETE [10 #F 23 [E#h 11487 |50 A|15 |[KF/NRF=IL  [381 &8 Eih 115.28
INEETH 10 FE 24 |EH# 6.00 [50 A[16 EEED
INRETH 10 #F 25 |[E#h 11435 |50 A[17 |X=F/MR=F=IL [381 &3 Eih 114.37
INRETH 10 FH 26 |Eih 11492 [50 A|18 | KF/IRFEIL [381 &22 Eih 114.68
INRETB 10 #F 27 |E#h 6.00 [50 A[19 1R
INREETH 10 FH 28 |EH# 12159 [50 Al20 |KF/NRF=IL [381 FE23 Eih 121.42
INRETE[10 F 29 [E#h 139.43 [50 Al21 | KF/NRF=ILU [381 F24 =ih 139.19
INREETH 10 F 30 |[Ei#h 14864 [50 Al22 | KF/IRFEIL [381 & 14 Eih 148.16
MRETH[10 #F 31 [azmeEr| 27 |50 Al23 [XFEDMRFEIL (381 F19 AREERE| 26
INRETH [10 &FE 32 [azmex| 28 [50 Al24 EEED
INRETH |10 # 33 |[E#h 14457 |50 A[25 |XKF/NPMRFEIL [380 F4 Eih 163.53 | &6t
INREETH 10 F 33 |Ei# 14457 [50 Al25 |KR=FE/NRF=EIL [381 F 21 Eih 192 [ &6
INRETH |10 7 34 |E#h 22,00 [50 A[26 )
INRETHI[10 &35 |Eih 24324150 A27 |[RF/NMNREFEIL [380 &5 E#h 265.78
INRETH 10 FE 36 |Eih 23.00 [50 A28 1R 2
INEETH 10 FH 37 |EH 11.00 [50 A]29 EEED
INRETH |10 #F 38 |Eih 19550 [50 A[30 | KF/NRFE=IL [380 &6 E#h 188.76 | &t
INRETB 10 #F 38 |Eih 19550 |50 A[30 [K=F/NRFEEIL [381 & 26 Eih 16.44 | &5
INRETEB 10 #F 39 |Eih 10091 [50 A[31 [KFE/NRFEIL [380 &1 =i 13041 | &6
INRETB 10 #F 39 [E#h 10091 |50 A[31 [KFE/NRF=IL (381 &F 1 Eih 083 |5
INERETH |10 #FE 40 |Eih 11359 [50 A[32 | KF/NMRF=I [380 F 7 E#h 112.42
INRETHI[10 &F 41 |/H 344 |50 A|33 [K=E/NMRFEIL [380 F3 }H 456
INRETEBE 10 #&F 42 |4 238 |50 Al34 |XKF/MRFEIL 379 &3 *H 942 [HE|
INRETHE[10 #F 43 [IL# 363 |50 A[35 [KFE/NRFFHAE|399 F 1 LLIAK 557 [9Z
IMNgETHE 10 T 44 [Ei# 8576 |50 A[36 | KF/NRFEIL [379 F 61 =i 85.54
INEETH 10 FHE 45 |EH# 700 [50 A[37 EEED
IMNEETHE 10 FE 46 [Ei 89.45 |50 A|[38 [XK=F/NRFE=IL [379 60 =i 89.18
INRETB 10 #F 47 £ 180.71 |50 A[39 [K=F/NRFE=IL [361 &F1 Eih 18223 | &
MRETBE 10 FE 47 [£#e 180.71 [50 A[39 |KF/NRF=IL [361 F7 NRREH 162 | &6
INRETH[10 & 47 |E#s 180.71 |50 A[39 |XF/NMREF=IL [361 &8 4\ FE R 0.33 | &
INRETB 10 #F 47 |E#h 18071 [50 A[39 | KF/NRFEIL [361 FE9 E 3.30 | & B
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INRETH 10 FE 48 |Eih 8.00 [50 Al40 e
INRETH |10 #F 49 |=Eih 8.00 [50 A |41 R
INRETH 10 ZFE 50 |Ei#h 18581 [50 A[42 = F= Il [361 &F 3 19252 | &6
IMRETH[10 FEs50 [£ie 185.81 [50 A[42 = =L [361 F4 585 | &6t
INRETH 10 ZFE 51 |Ei#h 186.96 [50 A[43 5 Fe Il [361 F2 192.00
INRETH 10 #F 52 |Eih 8.00 [50 Al44 REH
INRETEB |10 ZF 53 |E#h 3.00 |50 AJ45 EEED
INEETH |10 ZFE 54 |=Eih 17258 |50 A |46 5 Fe= Il (360 &1 174.99
INRETH[10 FE 55 |Eih 186.48 [50 A[47 5 F= Il [360 F2 198.42
INEETH |10 ZFE 56 |[Eih 5.00 |50 A |48 {REFHh
INRETEB |10 ZF 57 |E#h 24.00 [50 A]49 EEED
INEETH |10 ZF&E 58 |[=Eih 183.34 |50 A|[50 5 Fe= 1l 360 &3 198.49
INRETH[10 FE 59 |Eih 17619 [50 A[51 5 F= 1l [361 &5 8.58 [ &
IMRETH[10 FE59 [£i#e 176.19 [50 A[51 = =0 [361 &6 176.94 [ &
INEETHI[10 #FE 60 |Eih 10.00 |50 A][52 F it
INRETH 11 &HF 1 Eih 147.01 |50 B|6 {723
INgETH 11 &2 I 465 |50 B]1 5 7= 379 &3 942 [ E|
INRETH 11 #H3 Eih 109.28 |50 B2 5 2=l |379 &5 Eih 108.97
INERETHB 11 FE4  |EH# 5.00 [50 B3 D
INRETHE |11 &S Eih 148.41 |50 B4 5 2=l 379 &7 Eih 148.87
INRETH |11 6 Eih 136.20 |50 B|5 5 el |379 &8 Eih 136.30
INEETH 12 FE 1 Eih 100.14 |53 5 5 77 448 7 94 TIES 126
INRETH[12 F 2 =iy 100.08 [53 4 5 7 448 793 LLI#K 126
INEETH 12 &3 Eih 100.30 |53 3 5 77 448 7% 92 TIES 126
INRETH |12 FHE4 =iy 100.05 [53 2 5 7 448 Z& 91 LAk 126
INEETH 12 &S Eih 100.17 |53 1 5 77 448 7 90 LAk 126
INRETH[12 &6 Eih 100.39 |53 29 5 X 448 Z& 118 LIk 126
INEETH 12 &7 Eih 121.38 |53 30 5 77 448 #& 119 LA 152
INRETH 12 % S8 Eih 100.12 [53 27 5 £ J 448 & 116 LLI#K 126
INRETH 12 &9 Eih 121.75 |53 28 5 3 448 #& 117 R 152
INRETH[12 & 10 |Eih 100.23 [53 25 5 7J 448 F 114 LLI#A 126
INRETH 12 & 11 |EH# 121.78 |53 26 5 3 448 115 R 152
INRETH 12 & 12 |Eih 100.25 [53 23 5 7J 448 & 112 LLI#A 126
INRETH 12 & 13 |E# 4.01 |53 32 5 25 448 7 121 LLI A 5.05
INRETH 12 & 14 |Eih 121.23 [53 24 5 75 448 & 113 LLI#A 152
INRETH 12 #F 15 |E#h 100.33 |53 21 5 25 448 110 R 126
INRETH |12 #& 16 |Eih 121.34 [53 22 5 75 448 ZFE 111 LLI#A 152
INRETH 12 & 17 |E# 100.19 |53 20 5 3 448 Z& 109 R 126
INRETH |12 #& 18 |Eih 100.16 [53 19 5 75 448 Z& 108 LLI#A 126
INRETH 12 & 19 |[E#h 100.08 |53 18 5 3 448 7 107 R 126
INEETH 12 FE 20 |Ei# 50.15 [53 33 5 £ J 448 & 122 LI K 63
INRETH |12 FE 21 |Eih 50.18 |53 17 5 Z 5 448 Z 106 LK 63
INRETE [12 & 22 |Eih 100.33 [53 16 E 7] 448 & 105 LLI#A 126
INRETH |12 #FH 23 |Eih 121.18 |53 15 5 Z 5 448 Z& 104 LK 152
INRETH [12 T 24 [Eih 100.50 [53 14 5 3 448 Z& 103 LLI K 126
INRETH |12 #FE 25 |Eih 121.35 [53 13 5 Z 5 448 Z 102 LK 152
INRETH 12 FE 26 |EH 3.98 [53 31 5 £J 448 & 120 LI K 5.05
INRETH 12 # 27 |Eih 100.01 [53 12 5 Z 5 448 Z& 101 LK 126
INRETE [12 & 28 |Eih 121.34 [53 11 E 7] 448 & 100 LLI#A 152
INRETH |12 #F 29 |Eih 100.28 [53 10 5 Z 5 448 F& 99 LK 126
INRETH[12 &30 |Eih 121.48 |53 9 5 X 448 & 98 Lk 153
INRETH |12 #F 31 |Eih 100.28 [53 8 5 Z 5 448 F& 97 LK 126
INRETE [12 & 32 |Eih 121.24 |53 7 E 7] 448 & 96 LLI#A 153
INRETH |12 #H 33 |Eih 100.25 [53 6 5 Z 5 448 & 95 LK 126
INEETH[13 &1 Eih 2,341.10 |55 2 5 3y 376 &1 LI A4 3,242
INEETH[13 FE2 Eih 132.17 |55 3 5 3= 376 &% 39 LK 132
INRETBE 13 &HF 3 |EHh 192.01 [55 1 3 3 365 7 4 +H 265
INRETHE 14 FEA =i 1,661.15 [52 1 5 F 377 & 124 LIk 2,363
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B3 BE | wE | wE | 0x Bt HE3 BE BE [ BE | e
INKETH |15 &1 A 429 |47 10 | KF/NRFEZILIT|663 F83 A 507
INRETHI15 FE2 |EH 340.70 |47 6 |KFINRFHARI4I6FE1 D 1 [FEHh 310.74 | &4
IMNgETH1s FE2 [Ei# 340.70 [47 6 | KFIMNRFEFHAR]|416 &S =i 12561 | &6
INRETH 15 & 3 Eih 571.96 |47 5 | KFINRFHEAR]|416 T4 LA 723
INRETH 15 FE4 |Eih 18.00 [47 12 EEED
INRETH 15 &S Eih 76.20 |47 13 | KFNEFEHFE (346 F6 Eih 67.72 | & Bt
IMRETBE 5 &FS5 [E£He 76.20 [47 13 | XKF/NRFFE [346 FE12 E3 8.03 [ &4
INRETHI[15 &6 Eih 105.93 [47 14 | KRFENMNRFmAR[415 F 11 Eih 104.33
MRETBE 5 F71 [£He 102.92 [47 15 | XKF/NMNRFFHAE[415 FE10 ES3 102.77
INRETH 15 & 8 Eih 134.94 [47 4 [ RFENRFmAZ|415 F9 Eih 133.16
IMRETBE 15 FE9 [E£He 222.43 [47 3 | KRFIMNRFFAR]415 F1 ES3 107.58 | &6
INRETHB[15 &9 Eih 222.43 |47 3 | XKFENMNEFFAR|415 F4 Eih 7414 | &3
MRETBE 15 FE9 [E£He 222.43 [47 3 | KFINRFEFHAR]|415 &S E3 88.72 | &6
INRETH 15 & 10 |E#h 0.84 |47 20 | KF/MREF=IL 382 F Eih 197.34
INRETH 15 F 11 |EH#h 145.52 |47 21 | KRFINRFFAR|415 F12 Eih 7057 [& 6
INRETB 15 &F 11 |Eith 14552 [47 21 | KFINRFmAR|415 F 14 Eih 4863 [ &8t
INRETH 15 & 11 |Eih 145.52 |47 21 | KFINRFHARE]415 FE 16 Eih 58.20 [ &
INRETBE 15 #F 12 |EH#h 25.94 [47 17 | KRFENRFE=IL [380 F 12 1R 36
INRETEB |15 ZF 13 |E#h 6.02 [47 24 | KF/INRFTIL 380 F 14 T 8.48
INRETH 15 F 14 |EHh 127.18 |47 22 | KFINREFEmAZE|415 F 13 Eih 61.74 | &4
INRETH |15 & 14 |Eih 127.18 |47 22 | KFINRFHEAZR]|415 FE15 Eih 4254 | &6
INRETH 15 F 14 |EH#h 127.18 |47 22 | KFINREFmAR|415 F1T Eih 5091 [ &4t
INRETH |15 FE 15 |Eih 38.06 [47 23 | KF/MREF=IL [380 F 13 *H 53
INRETB |15 #&F 16 |Eih 16.00 |47 18 R
INRETHBH 15 FE 17 |EH#h 274.31 [47 19 | KFEINRFEHEAFE[415 F2 =i 328.96
INRETH (15 & 18 (Mg 391 |47 1 KEFENEF=AIR][399 FE 2 L4 761 |52
INEETH 15 F 19 |[Eih 236.69 [47 2 | XFEINRFHEAR[415 F3 Eih 251.77
INRETHE 15 & 20 [ 93 |47 1 | KFINRFEmAR|416 F6 1A 126
INRETH |15 & 21 |4 156 |47 8 | KFNIMRFEFE [305 F1 i 1,066 |9
INRETB [15 &F 22 [4H 309 [47 9 | KRFNMRFFE [306 F1 1R 732 |HE
INRETH[16 & 1 E] 165.42 [46 4 | KRFNMNRFESEI|22 FE21 LI K 212
IMRETBE 6 FE2 [E£H 198.68 [46 5 | XKFNRFELLT]663 82 R 228
INRETB 16 &3 |EH#s 55.75 |46 17 | KRFEMRFEZLILIT[663 & 96 P 64
INRETBE 16 &F4 [4H 309 [46 6 | KRF/NRFHEAE|286 F 1 1R 677 |H =
INRETH |16 &S P 1,270 |46 2 | XKF/INEFERE (284 & I 2185 |9 E
IMNRETBE16 FE6 [E£He 11.00 |46 7 REH
INEETH16 &F7 Eih 175.80 [46 8 | KFEINRFEFHAZE[414 &S5 EHh 186.50
IMRETBE 16 FE8 [E£H#e 165.99 |46 9 REH
INRETH 16 FE9  |MfEh | 156 |46 1 | RFIMRFRAR[M4ET AR 159
INRETH |16 #FHE 10 |Eih 140.60 |46 3 KENMREFEmAGR|412 &2 R 178
INEETHI[16 &FHE 11 |Eih 140.84 |46 10 | KFINRFFRAE|412 FE3 LAk 178
INRETH 16 FE 12 |Eih 138.15 [46 11 | KFEINEEHEAR[412 F4 L #K 175
INRETH 16 FE 13 |Eih 140.75 |46 12 | KRFEINEFmARE[412 TS LIk 178
INRETH 16 FH 14 |Eih 137.34 |46 13 | XKFENMNEREHEAE[412 F6 L #K 174
INRETB 16 #F 15 |#fEth 1.87 [46 15 [ KRFEDMNRFEAR[412 FS g 2.37
INRETH 16 FE 16 |Eih 137.65 [46 14 | XKFENMNREHEAE[412 F7 L #K 174
INRETH |16 & 17 |[FEih 32.72 (46 16 | RF/NMRFEER[22 F19 Lk 42
INRETH 17 FE 1 Eih 144.19 |44 4 |KFENRFHEAZFE[414 FA4 LK 143
INEETHE 17 FE2 |EH 11156 |44 5 | KRFINRFHAR]|415 &S 3 111.77
INRETH 17 F 3 Eih 145.20 |44 6 RKREINREFZAR|414 T2 LK 176
INEETH 17 HFE4 |EH 105.51 [44 7 | XFINRFEARE]399 FT ITE:S 145
INRETH 17 FES |Eih 105.52 [44 1 KFENRFRALR|399 &6 L #K 145
INEETH 17 FE6 |EH 153.50 [44 2 | KRFEINRFEAR[414 B3 Eih 154.00
INRETH 17 &7 Eih 2.00 [44 3 R B34
NNRETH[18 &F 1 LU 4% 789 |45 18 | RFNMNRFmAR[412 &1 LLIAK 991
MRETE 18 F2 [ 134 |45 23 | KR=F/INRFHAAE [284 & 1A 2185 |9 E|
INRETEBE 18 &3 [|H 855 |45 19 | RF/NRFHEAE[285 &4 1A 939
INRETH 18 F& 4 |iEHh | 165 |45 20 | XFINRFEHEARE|414 F6 LIk 172
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INRETH |18 FES Eifh 23.00 |45 21 R
INRETHI18 FE6 |EH 137.52 [45 22 | KRFINRFHAR]|414 FES L #K 137
MRETBE 18 FE71 [E£He 133.08 [45 1 KFENRFEFFALR 406 120 LAk 33 |56
INRETHE 18 &7 Eih 133.08 [45 1 KRFENMNRFmAR|414 & 15 L #K 49 |&6
MRETE 18 FE8 [E£He 155.38 [45 2 | KFIMNRFEFARE|406 ZF 98 MfEHh | 156
INRETH 18 &9 Eih 77.70 |45 3 | XFINRFmAR|406 F 106 Eih 7750
INRETH 18 FE 10 |Eih 4,00 |45 4 EEED
INEETH 18 & 11 |Eih 3.00 |45 5 {REFHh
IMRETBE 18 FE 12 [E£H#h 73.19 [45 6 | KF/IMNRFEFHAR]|406 F 102 E3 72.49
INREETH 18 & 13 |E#h 77.92 |45 7 | XFINRFFAR]406 & 105 Eih 77.69
IMRETBE 18 FE 14 [E£H#h 77.43 [45 8 | XF/IMRFrmALR|406 F 104 E3 77.69
INEETH |18 & 15 |Eih 2.00 |45 9 {REZHh
IMRETBE 18 FE 16 [E£Hh 78.32 [45 10 | XF/NRFFHAE[406 2 103 E3 77.36
INEETH |18 & 17 |=Eih 121.79 |45 11 | KFENRFZAR[406 FH 1 Eih 134.77
MRETBE 18 FE 18 [E£Hh 109.60 [45 12 | KFNERFm AR [406 F 109 LLI#K 109
INRETH |18 #FE 19 |=Eih 189.21 [45 13 | KFE/INEFErmALR[406 & 79 E# 192.25
IMRETE 18 FE 20 [E£H#h 3.00 |45 14 1R B4
INRETHE 18 #F 21 |EH#h 4.00 |45 15 {72
INRETE 18 #F 22 |E#h 162.30 [45 16 | RF/IMRFimA[406 & 59 Eih 163.02
INRETHB 18 #F 23 |EHh 119.74 [45 17 REH
INRETH[19 FE 1 Eih 117.08 |40 10 | KFE/NRFEAGFE[406 F57 Eih 116.74
INRETH[19 FH2 Eih 2.00 [40 11 {72
INRETH 19 &3 Eih 159.20 |40 12 | KFINRFHEAE[406 T 32 Eih 159.78
INRETH 19 FE4 |Eih 2.00 [40 13 1R
ZNRETEH[19 FS5 [£ 11185140 |14 | KRF/IRFm AR [406 F 31 Eih 111.89
NEETH[19 #FE6  |[Eth 17500 |40 |15 |KF/NRFFRALR|406 7 30 LI #A 181
MRETH[19 F7 |[Eih 92.82 [40 16 | AF/NR AR 406 & 29 LAk 92
INRETH 19 FES |Eih 4.00 [40 17 1R
INRETB 19 F9  |E# 110.91 [40 18 | RF/IMRFmAR[406 F62 LLIAK 110
IMRETBE 19 FE 10 [E£H#e 112.72 |40 1 [ KFINRFFHAGF[406 264 =i 111.14
INRETH 19 F& 11 |Eih 84.73 |40 2 | XFEDNRFEAR[406 F 28 LIk 84
INRETH 19 #FE 12 |Eih 61.43 [40 3 KFE/NREFrAR 406 & 65 LK 62
INRETH |19 #F 13 |=Eih 67.41 40 4 | KFENEFE=AR]406 56 EHh 67.39
INRETBE 19 #F 14 |Eih 2.00 [40 5 1R
INRETB 19 ZF 15 |E#s 84.50 [40 6 | XF/INRFrmAZ]|406 & 99 LLIAK 84
INRETBE 19 #F 16 |Eih 108.29 [40 7 | XFINRFRmAR]|406 F 55 =i 112.30
INEETH 19 FE 17 |EH# 500 [40 8 EEED
INRETH 19 FE 18 |Eih 155.75 [40 9 | XFINRFrRmAR|406 F 54 Eih 158.78
INNRETH |20 F 1 =i 168.23 [39 8 [ XF/IMRFEAZE[406 F53 LI K 171
INRETEB 20 #F 2 |E#h 6.00 |39 9 1R
INRETHB |20 &3 [IU#k 175 |39 10 | RFNMRFmAR[406 F 27 LLIAK 178
INEETH |20 FE 4 Eih 116.59 [39 11 | KRF/NRFEFAR|406 F 26 Eih 115.16
INRETHB 20 FHF5 |[EHs 14753 [39 12 | KFINEFrmALR[406 F 25 Eih 146.78
INEETHI|20 &6 Eih 117.42 |39 13 [ KF/NMREFmALR[406 F 70 Eih 119.16
INRETEB 20 FHF 7  |EHs 102.63 [39 1 | RFIMRFmAR[406 & 69 Eih 102.93
INRETHI20 FES |Eih 85.16 [39 2 | KRFINRFImAR|406 F 24 =i 84.60
INRETH 20 F9 |EH#h 85.15 [39 3 | XFINRFFHFAR]|406 F 43 Eih 84.75
INRETH 20 FE 10 |Eih 114.41 [39 4 | KFEINRFHAR]|406 F52 LIk 112
INRETH 20 F 11 |EHh 99.16 [39 5 | XFINRFFHFAR]|406 51 Eih 84.68 | &1
INRETH 20 F 11 |Eih 99.16 [39 5 | KRFINRFiHARZ|406 F60 =i 1413 | &6
INREETH 20 FHE 12 |EH#H 2.00 [39 6 EEED
INREETH |20 # 13 |E#h 117.91 [39 7 | KFEIMNRFrRAR|406 & 50 Eih 117.38
INNRETH |21 #F =i 118.02 [38 1 | KRFINRFmAR|406 F 49 LAk 117
INRETH |21 &FE2 Eih 6.00 [38 8 R B34
INEETH 21 HFE3 |EH 173.65 |38 9 | KFINRFEFHAR]|406 F 16 =i 17651
INRETH 21 FE4  |Ei 156.72 |38 10 | KFNMNRFrmALR[406 F 15 L #K 160
INRETH |21 &S Mg 148 [38 11 | KRFEINRFFHAR|406 F 14 L #K 156
INRETH 21 FE6 |Eih 119.37 |38 12 | KFEINERFHEALE[406 F13 L #K 129
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INEETH |21 &7 Eih 7.00 |38 13 R
IMNRETHI[21 Fs [£H# 134.28 38 1 [ KRFEDMRFEAR[406 F 10 LLIAK 133
INRETEB |21 &9  |E# 3.00 [38 2 R
INEETH 21 F 10 |EH# 133.53 [38 3 | KFINRFHAZ]406 F 11 E 133.07
MRETE 21 FE 11 [£He 126.72 [38 4 [ XKFNRFFFALE|406 FE 123 LLIAK 125
INRETHB 21 F 12 |EH#s 14.00 |38 5 {REZHh
IMRETE 21 F 13 [£H#e 331.01 [38 6 | XKFINRFEFHAIR]|406 & 12 ITESS 161 |56
INRETHB |21 #F 13 |EHh 331.01 [38 6 | KRF/NRFimALZ|406 F42 ITESS 178 | &
IMRETE 21 FE 14 [£H#e 4.67 |38 15 | KFENRFFAGF[406 #FE 233 ITESS 4.89
INRETH |21 & 15 |FE#h 10.46 |38 14 | XFINRFFHEAE[406 3 232 LLI#& 10
NRETH[22 F 1 [£ih 1901531 |5 [KRF/PNRFHE [714F 14 £hh 200.59
INRETH 22 #H2 Eih 99.23 |31 6 | KFENMNEFHE |714F2 LIk 99
NRETH[22 #HF3 [£ih 1033531 |7 [KRF/IRFHE [714 F17 £hh 103.50
INRETH 22 FE4 |Eih 116.11 [31 8 | KFIMNEFHE |114FE15 ITESS 116
IMRETEBE 22 F5 [E£He 108.40 [31 1 ARFNRFHE 714 &S LAk 120
INRETHBI[22 ZFHF6 |EHs 11.00 [31 2 RE
INRETEB |22 F7  |E# 104.41 [31 3 | XFINRFHE 714 F 13 Eih 122.21
INRETHI[22 &S Eih 38.00 |31 4 Z2Hh
INRETH[23 FE1 =i 16278 [30 |18 | KF/IRFHZE 714 &S LLI#£ 166
INRETH 23 FE2 |Eih 116.71 [30 9 | XFINRFHE |7114F 18 Eih 117.30
INEETH [23 &3 |£th 10868 [30 |10 [KF/IRFHZE [714 &F 19 Eih 108.84
INRETE[23 #F4 [E# 97.83 [30 11 [(KFNMNRFHE (714 F 20 Eih 96.25
INEETH[23 &5  |£th 1011930 12 [KFNINRFHE [714 &9 Eih 89.93
INRETH 23 FE6 |Eih 87.03 |30 13 | KRFENMNRFHE [714 F 21 LLI#K 85
INRETH 23 &7 Eih 190.50 |30 14 | XKFENERFHE (7119 F7 LAk 200
INRETHE 23 F8 [EHh 10.00 [30 15 RE
INEETH[23 &9 |£th 13521130 |16 [KRF/IWRFHZE [719 &6 LLIF£ 135
NNEETHEI[23 F 10 [#i@EH# [ 118 [30 17 [XKFNRFHE [7119 FS Lk 117
INRETH (23 F 11 [ 130.18 [30 |18 |KF/NRFHE [719 F4 LAk 70 [&6
IMRETE 23 FE 11 [£H#e 130.18 |30 18 | KRFENMRFHE [720 &S g3 58 |&6F
INRETH |23 ZF 12 |E#s 4,00 [30 19 EEED
INRETH |23 #F 13 |E#h 17.00 |30 20 )
NRETH (23 & 14 [£ih 14602130 |1 [KF/IRFHE [714 F4 LK 112 | &6
INRETH 23 FH 14 |Eih 146.02 [30 1 KFENEFHE 720 F4 LLI 4 33 _|&f#
INRETH (23 F 15 |[EHh 11508 [30 |2 | KXF/IRFHE [714 &6 LLI#£ 127
INNRETBE 23 F 16 [E£Hs 116.14 |30 21 | XKFINRFHE 714 F 34 g3 128
INRETHB |23 ZF 17 |E#s 6.00 [30 3 EEED
INRETHE |23 #F 18 |Eith 82.68 [30 4 [ KRFENEFHE |14 F7 LLIAK 81
INRETHB |23 ZF 19 |E#s 15.00 [30 5 1R &
INRETE [23 F 20 [E#h 14521130 |6 | KFNRFHE [7114 F 16 Eith 160.78
INRETH |23 ZF 21 |E#s 3.00 [30 7 EEED
INRETH 24 FA E 100.63 [29 3 | XFIMRFHE 719 &3 =i 82.06 | &5
INRETH 24 #F E 100.63 [29 3 | XFINRFHE 720 F9 Eih 18.25 | &
INRETH 24 FE2 |Eih 102.23 [29 2 | KFINRFHE |7119F2 Eih 1.15 [ &4
INEETH 24 FE2 |EH 102.23 [29 2 | KFEIMNRFEHE 720 &S 3 10056 | &4t
INRETH 24 FE3 |Eih 102.96 [29 1 RFNMNRFHE 720 F7 =i 102.36
INRETH[25 &1 =i 101.32 [35 12 | KFE/NRFFFAGE[406 126 Eih 111.15
INRETH 25 FE2 |FEih 133.18 [35 13 | KFNMNRFrmALR[406 &6 L #K 132
INEETH25 3 Eih 86.71 [35 14 | KRFEINEFrmAR|406 FE127 L #K 86
IMNRETBE 25 T4 [£He 87.40 [35 15 | KFNMNRFrmALR[406 F7 Eih 86.33
INEETH|25 &S Eih 128.18 |35 16 | KRFEINEFrmAFR|406 F116 Eih 128.04
IMNRETBEI[25 FE6 [E£ie 69.50 [35 17 | KRFIMRFimAGFR[406 F117 =i 69.15
INRETB |25 &HF 7  |EH#s 2.00 [35 18 R &
IMNRETBE 25 F8 [E£He 63.32 [35 19 | KF/IMRFimAGFR[406 F119 =i 63.24
INRETH 25 #E Eih 64.85 |35 20 | XRF/INRFmAR|406 FE 118 L4k 64
INRETH 25 FE 10 |Eih 70.00 [35 1 KF/NMNRFrE AR |406 F 84 ITE3S 69
INRETH |25 FHE 11 |Eih 84.30 [35 2 | RF/IMRFimAR 406 F 108 ITESS 85
INRETH 25 FH 12 |Eih 91.19 [35 3 | XFIMRFRmAR|406 F 107 ES 90.45
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INRETH 25 F 13 |Eih 77.37 [35 4 | KFINRFFHALR|406 FE 76 Eith 76.95
INRETH |25 #H 14 |[Eih 2.00 |35 5 {23
INRETH 25 FH 15 |Eih 6.00 |35 6 R
INRETH |25 #F 16 |Eih 173.20 [35 7 | XFIMNRFEFHFAR]|406 F 80 ITESS 174
INRETH 25 F 17 |EH# 99.87 [35 8 FINRFEAR[406 FE 81 ITESS 100
INRETH |25 # 18 |[=E#h 145.96 |35 9 | XFINRFmAZE|406 &3 Eih 145.74
INRETH 25 FH 19 |Ei#h 500 |35 10 EEED
INRETH |25 FE 20 |Eih 137.47 [35 11 | XKENRFEFHEAE[406 F4 L #K 136
INRETH[26 FE 1 Mg 131 |36 12 [ XKENEFE=AR[406 F 23 LL#k 130
INRETH |26 FHF2 Eih 100.61 |36 13 FINRFRAR 406 F22 L #K 100
IMRETE 26 F3 [E£He 114.40 |36 14 | XKF/NRFFHAG[406 F 21 ES3 114.93
INRETH 26 #F4  |E#h 115.43 [36 15 | XKFENRFEHEAE[406 F 20 Eih 114.91
MRETEI[26 F5 [E£He 143.97 [36 16 | KFE/NRFmAGE[406 F 19 LLIAK 143
INRETH 26 FE6 |Eih 2.00 [36 17 EEED
IMRETE 26 F7 [E£He 158.67 |36 18 | KFE/INRFmALE[406 FE 18 ES3 159.08
INRETE |26 &8 |Eih 112.84 [36 19 | KFEINRFmAGE[406 F17 Eih 116.93
INRETH |26 &9 Eih 8.00 [36 20 {REE b
INRETH |26 #F 10 |3iEH 55 |36 1 AXFINRFEFmAGZ[406 7 88 LLIAK 55
INRETH |26 & 11 |Eih 2.00 |36 2 {F2Zith
INRETH |26 & 12 |EH#h 3.00 |36 3 {72
IMNRETE 26 F 13 [E£H#h 89.77 [36 4 |XxFENRFEAZE]406 FE 110 ITESS 83 |56
INRETH 26 F 13 |E#h 89.77 |36 4 | KRFENEFFmALE]406 F 111 gD 6.41 | &6t
INRETH 26 FH 14 |Ei#h 85.30 |36 5 | XFINRFrmARZ|406 FT7 Eih 84.64
INRETH 26 FE 15 |Eih 101.01 [36 6 | KFINRFFHEAR]|406 FE 41 Eih 98.80 [& B
INRETEB |26 ZF 15 |E#h 101.01 [36 6 | XFINERFrmAR|406 F 229 Eih 2.00 | &6
INRETHE 26 ZF 16 |EHh 82.62 [36 7 | KFEDNRFiAR 406 & 66 Eih 82.55
INNRETH (26 F 17 |Eih 144.26 [36 8 | XFINRFrmAR|406 & 74 LLI AR 84 |&H#
INRETH 26 FE 17 |EHh 144.26 |36 8 | KFIMNREFEmAZE|406 FT5 L&k 59 |&4t
INRETHB |26 ZF 18 |E#h 86.32 [36 9 | XFINRFmAR|406 &F67 AR 84
INRETBE 26 F 19 [E£H#e 106.39 |36 10 [ KF/NRFFHFAGF[406 68 Wk 111
INREETH |26 FH 20 |Ei#h 7.00 [36 11 EEED
INRETB |27 &F 1 =ih 120.87 |37 10 | KRFENMRFmAR[406 F63 g 120
INEETH 27 FE2 |EH 2.00 [37 11 EEED
INEETH 27 &3 Eih 79.73 |37 12 | XKFEINERFEmALE[406 F 48 LK 79
INRETB |27 F 4  |E# 85.21 [37 13 | KF/IRFEmAR[406 & 95 ITE:S 85
INRETBI[27 F5 [£H#e 105.88 |37 14 | KRFENMRFmAR[406 F 94 =ih 106.58
INRETH |27 &6 Eih 3.00 [37 15 {234
INEETH 27 &7 Eih 166.86 [37 16 | XKF/NEFrm AL [406 F 93 LK 167
INRETH 27 # 8 Eith 73.54 |37 17 | KRFINREFFHAIE]|406 F 113 LAk 73
IZNRETE[27 F9 [E# 72.63 [37 18 [KF/MNRFFFAIR[406 FE 115 g3 73
INRETH |27 F 10 |Ei# 2.00 [37 19 EEED
IMNRETH[27 & 11 |=ih 107.93 [37 |20 [KF/INRFFEAE|406 & 92 LLI £ 107
INRETB |27 #F 12 |EH#s 77.51 [37 1 | KRFINRFEAGF[406 FE 90 L4k 77
INRETH |27 F 13 |Eih 3.00 [37 2 18
INRETH 27 & 14 |E#h 95.37 (37 3 | KFIRFmARE|406 & 91 LUK 95
IMNRETB 27 FE 15 [£H#e 8485 [37 4 | KFNMNRFFHAZ|406 F 40 =i 84.78
INRETB |27 ZF 16 |Eih 84.74 [37 5 | XFINERFmARZ|406 & 39 Eih 84.75
IMNRETB 27 FE 17 [£#e 84.34 [37 6 | KFIMNRFiAR|406 F 38 =i 84.75
INRETH 27 #&F 18 |Eih 84.33 |37 7 | KFIMNRFEFHALE|406 & 37 E#h 84.78
IMNRETB 27 FE 19 [£H#e 8484 [37 8 | KFINRFimAR|406 F36 LIk 84
INRETH[27 & 20 |Eih 166.00 [37 9 [ KFE/INEFEAR[406 FE 34 Eih 83.02 | &
INRETH |27 FE 20 |Eih 166.00 [37 9 | KFINRFmARZE|406 F 35 =i 8477 | &
INEETH |28 F 1 Eih 278.95 |33 29 | KFNMNRFEFHAE[399 &3 Eih 368.49
MWRETH (28 #FH2 |[HiEH 193 [33 28 | K/NE R AR (399 25 2 s T EE]
MRETH[28 &3 |4 213 133 |25 [KXF/NRFE£ILT|663 & 69 Y 239
MRETE 28 F4 [ 80 [33 30 |KFNRFELILT|663 F2 T 92
INEETH[28 &S Eih 111.71 [33 31 | KF/INRFFAR]399 &S5 LI 4K 143
INRETH 28 FE6 |Eih 107.47 [33 24 | KFINRFEFAE|399 &4 L #K 137

63




LTEMH/NMNRIE TRE284F 98
¥ﬁ % %ﬁlaiﬂg-‘jll\\ﬁ
HT 4 IH

HE3 BE [ W [ R | x| HE2 HE I
INNRETHI[28 F71 [E£#p 177.09 [33 23 | KFINRFmAR|414 F9 LIk 189
INRETH 28 %S |Eih 11.00 [33 22 EEED
INRETH 28 FE9 |Eih 9.00 [33 21 R
INRETH |28 F 10 |Eih 64.19 [33 20 | XF/INRFFAE]|406 2 101 ITESS 63
MRETE 28 FE 11 [£H#e 64.03 [33 19 | XKF/NRFFFAGE[406 96 LAk 63
INRETH |28 F 12 |Eih 172.03 [33 18 | XKFE/NRFiEAE[406 & 33 Eih 181.39
IMRETE 28 FE 13 [E£H#h 147.21 [33 17 | KFENRFFAR[406 & 45 LLIAK 146
INRETH |28 FH 14 |Eih 11.00 |33 16 EEED
INRETH 28 FH 15 |Eih 500 |33 15 EEED
INRETH |28 FE 16 |Eih 113.02 [33 14 | KRFINRFmAR[406 F 44 Eih 112.96
IMNEETHI28 FE 17 [Ei# 129.02 [33 13 | XKFE/NRFEEAG[406 F 61 ES3 136.70
INRETH |28 F 18 |Eih 4.00 [33 12 EEED
MRETE 28 FE 19 [E£H#e 106.15 [33 11 [ KFENMNRFEAGR[406 F 72 LLI#K 105
INRETH [28 FE 20 |Eih 3.00 [33 10 EEED
IMRETE 28 FE 21 [E£H#e 105.56 |33 9 | XKFINRFmARE]|406 F 73 Eih 105.17
INRETH |28 FE 22 |Eih 6.00 |33 8 {723
INRETHE |28 #F 23 |E#h 182.15 [33 7 | XFINERFrm AR ]406 7 89 Eih 186.50
INRETH |28 #FH 24 |Eih 77.85 |33 6 KFENMNEFrmAR406 F 100 L #K 77
INRETHE |28 ZF 25 |Eih 77.28 |33 5 | XKFINRFrmALR|406 FE 1 Eih 76.47
INRETH (28 F 26 [EHh 28.20 [33 36 | KF/INRFiEAR|406 F 231 Eih 28.16
INRETHE |28 #F 27 |E#h 107.67 [33 4 | KFINRFrRALR|406 & 87 Eih 111.47
INRETH |28 FE 28 |Eih 135.33 [33 3 | XFINRFmAR|406 7 86 Eih 135.84
IMNRETE [28 F 29 [£H#e 76.01 [33 2 | KFNRFEAZ]406 F85 ITESS 98
INRETH |28 #F 30 |[HMiEHh 3.10 [33 35 | KFENMNEFmAR|402 F3 L #K 410
INRETHE |28 ZF 31 |E#h 120.20 [33 1 RFNRFRAL 402 & 16 LU AR 158
INRETHE |28 #F 32 |EHh 120.09 [33 32 | KRFINRFimAER]402 F 15 TS 158
INEETE[28 #F 33 [E#h 120.14 |33 33 | XF/IMRFEAZE[402 FE 14 LAk 158
INRETH |28 #FH 34 |Eih 160.36 [33 34 | KFENMNEFrmAR[402 F 13 L #K 211
INEETH |28 #F 35 |HMfEH 26
INRETEB 29 #F 1 =i 127.47 |34 4 | KRENRFFAZF[406 F 82 =ih 125.97
INRETH 29 F&E2 |EH#H 99.55 |34 3 | KFEIMNRFEHARE|406 F2 =i 102.07
INEETHI[29 &3 Eih 81.72 |34 2 KFE/NEFrAR[406 & 83 LK 80
INRETHB |29 F 4 |E#s 80.70 [34 1 | KFEINRFE AR [406 H112 g 73
INRETH[30 F 1 mrEnh | 597 |26 14 | XKFENRFHE [7135 &F 1 LI #K 689
NRETH (30 ‘2 [£is 21972126 [15 |[KF/INRFHE [736 & 14 Eih 149.85 [& B
INEETHI[30 &2 Eih 219.72 |26 15 | KRFENMRFHE [736 F16 Eih 97.13 |56
INRETHB |30 &F 3  |E#s 96.94 [26 16 | RFINRFHE [7136 F15 Eih 95.23
INEETH 30 &4 Eih 26.00 [26 17 721
NRETH (30 ES5 |[£i 13871 (26 |18 |KF/NRFEHE [736 F13 Eih 138.23
INEETHI30 &6 Eih 112.15 |26 19 | KRFENMNRFHE [736 F2 Eih 67.60 | &
INRETEB |30 &6 |Eis 112.15 [26 19 | RFNMRFHE [7136 F12 Eih 4225 | &6
INRETHI30 FE7 |Eih 118.42 [26 20 | KF/IMRFHE 736 F 21 Eih 11116 | &6
INRETH 30 F&7 |EHh 118.42 [26 20 | KFIMNRFFHE |736 F22 3 6.27 | &4
INRETHI30 FES |Eih 19513 [26 21 | KRFINRFHE 736 F7 1 68 |&6
INRETH 30 %S |Eih 195.13 [26 21 | RFINRFHE 736 &8 1A 139 |&H#
INRETHI30 FE9 |Eih 15.00 [26 22 1R 2
INREETH |30 #HF 10 [FEih 9.00 |26 23 R
INRETH 30 FHE 11 |Eih 17552 [26 24 | KF/INRFHE (736 I Eih 182.36
INRETHB (30 ZF 12 |E#h 19.00 [26 25 EEED
INRETH 30 FH 13 |Eih 140.34 [26 26 | KFINRFFHFE 736 &3 =i 151.47
INRETH (30 F 14 |Eih 202.29 [26 271 | KFIMNRFEHE |737 &6 Eih 218.17
INERETH |30 #FE 15 |Eih 41.00 |26 28 Rt
INNEETE[30 F 16 [E#h 184.02 |26 29 | KRFNRFHE [71371 K4 MiEHh | 164
INRETH 30 FH 17 |Eih 18.00 [26 30 18
INRETH |30 # 18 |[FEih 20.00 [26 31 {2
MRETH[30 FE 19 [Eih 24424126 [32 | KRF/IRFEHZE [737 &S i 216 | &6
INRETH (30 FE 19 |Eih 24424 |26 32 | KFENEFHE 71371 &7 MEFEHD 2 |&6t
IMRETH (30 ZF 20 [azmem| 426 |26 33 |[KEPMRFELILT|653 F 1 H 202 |&6
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NRETH[30 #F20 [azmem| 426 (26 |33 | KF/IMRFHE 737 & 12 Ji 275 | &6
INRETH (30 F 20 |asmeEr| 426 |26 33 | KFINREFHE |737F 15 +H 97 |&B
IMNRETH[30 FE 20 [ammeaw| 426 [26 33 | KFINRFHE |738 F4 E 178.62 | &6
INRETH (30 #F 21 |Eih 233.53 |26 34 |KFNMRFEELILT|653 &5 A 58 |&6
MRETE[30 FE 21 [E£H#e 233.53 [26 34 | KFINRFHE |737 F 16 P 202 | &6
INRETHE (30 #F 22 |HFEth | 422 |26 42 [ KFNRFEZLIIT|653 4 A 50 |&6F
INEETH (30 & 22 [HiEHh | 422 [26 (42 | XFIMRFHE (7137 F 17 Je 417 | &6t
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INEINTHI[21 FE6 Eih 13.00 [19 4 {7231
INENTH 21 F7 |EH 5772 [19 2 | KFNMRFELILT|661 FE12 Eih 57.72
INRINTH |21 &S Eih 11.00 |19 5 Rt
INRINTEB 21 FE9 |EH#s 4545 [19 6 R 52 3h
MNRINTH |21 & 10 [Mi@Hh 02519 |12 [ KF/NIRFHE [708 F10 LA 0.33
INRJNTB |21 #F 11 |#fE 0.95 [19 11 | KFENEFEHE (708 F9 ITESS 1.24
NRINTH 21 FE12 [ 10026 [19 |9 [KF/NRFHZE [708 F7 LAk 130
INRANTH (22 FE 1 Eih 132.32 [18 4 | KRFENRFFHE 712 &S Eih 132.35
NRINTH[22 FE2 [£ih 937918 |5 |XF/NIRFHE [111F16 £hh 93.84
INRINTH 22 FE3 |Eih 9472 [18 6 |XFINREFHZE |711 &F15 Eih 94.71
NRINTH22 FE4 £ 1942118 |9 [KFNIRFHZE [712 F4 £hh 23.99
INRINTH 22 &S Eih 532.00 [18 1 | KFINRFEHE |7T12 &1 Eih 663.01
INRINTEB |22 &6 |E# 119.91 [18 1 EEED
INRINTHB 22 #7  |E# 196.66 [18 2 | XKFIRFHE 709 F29 1A 230
MRANTH[22 F8 |[Eih 11841 (18 |3 |KF/IRFEHE [709 F7 X 155
INRINTEB 22 F9 [EH# 119.31 [18 8 |XKFIMRFHE [709 F32 1R 156
INNRINTH (23 F A EZ 118.94 [17 6 | XF/INRFHE 711 F29 =i 118.58
INEJNTH |23 FE2 Eih 29.00 [17 7 Z2Hh
MRNTH[23 F3 |[Eih 20695 [17 |2 [XF/IRFHE 711 F27 Eith 108.06 | &
INRIANTHI[23 &3 Eih 206.95 [17 2 | XFIMRFHE |11 F30 Eih 123.63 | &4
INRINTH 23 &3 Eih 206.95 [17 2 | KRFIMNRFHFE |711 F33 Eith 255 | &6
INRINTEB 23 FE4 |EH#s 13193 [17 8 RE
MRNTH[23 F5 |[Eih 10743117 1 [ KFDMRFHE (711 &2 Eith 105.04 | & #
INRANTHI[23 &S Eih 107.43 [17 1 KFENMNEFHE [711 &34 Eih 252 | &4
INR\NTEB |23 &6 |EH# 10.00 [17 3 1RE
INRIN\TE[23 &F7 [E# 11128 |17 |4 | KFNRFHE [711 F28 Eith 110.81
INRNTEB |23 &8 |E#s 13.00 [17 5 RE
INRINTEB |24 #F 1 Eih 165.54 [16 6 | XKFINRFHE (722 %3 Eih 165.28
INRNTH [24 FE2 |=ih 1884216 |71 [ KFIMRFHE [723 &3 H 240
INRINTH 24 FE3 |Eih 110.10 [16 9 | XFINRFHE 7123 F4 1 139 |&6
INNE)\TEBE[24 F3 [E#h 110.10 |16 9 | KRF/INRFXAMAEI|776 &S5 1 0.70 | 585
IRINTBE 24 FE4 [£H 11257 [16 1 | KRFENMRFHE [7123 FS P 15 |&6
INRINTH 24 FEE4 |EH 11257 [16 1 KRFE/INRFERE 755 &4 +H 31 |56
INRINTEB |24 F4 |Eih 11257 [16 1 RKFE/NRFRMEEI|776 F&2 1 88 |&f
INRINTH |24 &S Eih 31.00 [16 2 {234
INRINTH 24 FE6 |Eih 72.12 [16 3 | XFINRFHE 722 F1 P 76
INRINTHE [24 &7 [EHh 102.61 [16 10 [RFENRFHFE [7122 &5 P 17 | &6
INRINTH 24 FE71  |Ei 102.61 [16 10 | RFENMNRFHE [722 K6 P 91 |[&f
INRINTH |24 8 Eih 3.00 [16 4 {234
INRINTH 24 FE9 |Eih 164.83 [16 5 | XKFINRFHE 722 F4 P 165
INRINTH (25 &1 Eifh 20788 (15 Al4 | KFINRFFHE |725 &6 Eih 231.39
IRINTBE 25 FE2 [£H# 209.86 (15 A5 | KRFINRFFHFE 7256 &7 =i 231.00
INRINTB |25 #HF3 |EH#s 10.00 [15 A6 EEED
IMRINTEB 25 FE4 [E£He 20956 (15 A7 | KRFNMNRFFHFE 7256 B Eih 226.61
INRNTB 25 #&HF5 |EHs 160.12 [15 A1 EEED
INRINTH |25 &6 Eih 17412 |15 A2 R
INRI\NTB |25 &HF7 |EH#s 18.00 [15 A8 EEED
INRINTH |25 &S Eih 10767 [15 Al9  [XKF/IhRFEZILTI[659 FES Eih 97.18 | 56
INR\NTB |25 &8 |EHs 10767 [15 A|9 | KF/INRF/KHH][828 &7 Eih 10.38 | & 6
IMRINTBEI[25 FE9 [E£He 338.09 [15 A3 | KFE/NRFHE 725 F1 1 264 |&B
INRINTHI25 F&E9 |Ei#h 338.09 [15 A3 | KFNRFHE [725 &S 1A 104 |&46
INRINTH 25 FE9 |Eih 33809 |15 A[3 | XKF/INRFHE [726 F4 LLIAK 10 |56
INRANTH 26 FA Eih 113.97 [14 11 | KRFE/NRFHE [729 &8 +H 23 |&#
INRANTE |26 FA =i 113.97 [14 11 | KFNMNRFEHE [133 F7 LIk 132 |58
INRI\NTB |26 ZF2 |EH#s 113.77 [14 16 | XKF/NEFHE [729 F 13 I 155
INEJ\NTH |26 FE3 Eih 14.18 |14 17 | KFENRFHE 729 F 14 A 19
INRINTH 26 FE4 |Eih 99.70 |14 12 EEED
INRINTH |26 &S Eih 22.00 |14 13 {7231
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INEJ\NTHI|26 FE6 Eih 183.25 [14 14 [ KFENMNRFEFHE [729 F1 A 198
INRINTHE 26 #F7T  |Eh 37.00 [14 15 RE
NRIN\TH26 %8 |[£ih 24017 [14 |5 | XFINRFHE [729 &S Ehh 269.16 [ & B
INRINTH 26 #HFS8 |Eih 24017 [14 5 | XKFNMRFHE [729F 1 MiEHh 098 | &
NRINTHE[26 &8 [Eih 2401714 |5 | KRF/IRFHE 1729 #F12 MiEHh 0.58 | &
INRI\NTEB 26 FE9 [EH#s 153.74 [14 2 | KFNRFHE 7143 FE1 P 707 |5El
MNRIANTHI[26 F 10 [E£i#h 70402 [14 |1 [KF/IRFHE [728 &1 Jii 929
INRINTE[26 &F 11 [E#h 289.57 [14 3 | KFNRFHE [729 &3 e 161.50 | &
INRINTH 26 F 11 |Ei#h 289.57 [14 3 | XKFINRFHE 1729 E6 Eih 160.90 | & 6F
INRINTHB |26 #F 12 |Eih 21.00 |14 4 EEED
NRI\TH 26  #F13 [£ih 17108 [14 |7 [KRF/DRFHE 729 F10 Jii 199
INRINTH |26 #F 14 |Eih 5293 [14 8 | KRFIMNREFHE 729 F9 1A 55
INRINTEB |26 ZF 15 |E#h 45.00 [14 9 EEED
INRINTHE |26 #F 16 |Eih 224.54 |14 10 | RFENMNRFHE [729 &7 Eih 165.00 | &3
INRJ\TH [26  F 16 [Eth 22454 [14 |10 [ KXFIRFHE [733 &F6 IS 83 |[&f6t
INRINTB |27 #F 1 Eih 139.42 [22 4 | KFENRFHE |7115 F3 Er 138.52
INRINTB |27 F2 |E# 10.00 [22 5 R 53 3h
INRINTEB |27 &3 |E#h 268.00 |22 6 | KRFNMNRFHE 714 F1 LI A& 297
INRIANTH[27 FE4 =i 4120222 17 [ XFIRFHE [7113 & IEZS 489
INRINTH 27 FES |Eih 146.35 [22 10 | RFENMRFHE [720 F12 LI A& 168
INRANTH 27 #FE6  |Eih 129.48 |22 | XFINRFHE (720 F13 LAk 148
INRJINTH |27 &7 |#iEH 1.81 |22 12 | XKFENEFHE [720 F 14 LLI#K 210
MRNTH[27 F8 =i 17931122 1 [KFIMRFHE [7121 & LA 254
INRANTHI[27T & Eih 136.01 |22 2 | KFIMNRFHE 720 F1 LL#K 156
INEJ\TH |27 F 10 [FEih 136.55 [22 9 [ KFENMRFHE [720 F 11 LIk 157
INRINTE [27 F 11 [E#h 145.23 |22 8 |XFIMRFHE [720F 10 TS 167
NRANTH[27 F 12 [£i 1320022 |3 |XF/INRFHE [715 F1 £l 151.48
INRANTH |28 FA Eih 39501 [13 5 | XFEIMNRFHE 733 FS =i 444.25
INEINTH |28 F2 Eih 121.84 (13 3 KRFINRFFmAR|422 T2 LI K 130 | &4
INRINTH 28 FE2 |Eih 12184 [13 3 | XFINRFHE [7132F?2 P 13 [&
NNEINTH[28 F3 [EiHh 100.69 [13 11 [ RFENRFHFE [7132 &5 P 114
INRIN\TE[28 FE4 [E#h 170.59 |13 13 [XKFIMRFHE [732 %6 i 194
INRANTH[28 FES5 |[Eih 15944 [13 16 | KF/IRFHE 731 &6 Ji 171
INRINTH 28 FE6 |Eih 147.41 [13 12 | RFENMRFHE [7131 F16 P 158
INRI\NTB |28 &7 |EH# 12.00 [13 7 EEED
INRINTH 28 FES |Eih 70.00 [13 8 1R
INRANTH[28 F9 =i 26734 113 [9 | KF/IRFHE (7131 F7 Ji 264 |&6k
INRINTH 28 FE9 |Eih 267.34 [13 9 | XFIRFHE 7131 F9 P 56 | &#
INEJ\NTH |28 #F 10 |[FEih 181.81 [13 10 [KFE/NRFFHE [731 &S Eih 193.58
INRJ\TH |28 F 11 |iEH 49 13 1 )
INRJ\TH |28 ZF& 12 |4 1,161  [13 2 | KFINRFHE 7130 & +H 1,325
INRJNTH |28 FE 13 |EiHh 281.01 [13 4 | KFNRFHFE 7133 F1 LLIAK 399
INRINTH[29 FE 1 =i 11311 [12 5 | KFNMNRFEFHE |731 F 14 3 113.91
INRINTHI29 FE2 |Eih 102.01 [12 6 | KFINRFHE 731 F 13 =i 101.99
INR\NTEB |29 #HF3 |E#s 14464 [12 7 | KFINRFEFZE 731 FE12 3 144.63
INRINTHI[29 FE4 |EH# 5.00 [12 8 R
INRINTH 29 FEES5 |Eih 19120 [12 9 | KRFINRFHE |740 F2 Eih 56.19 | &4
INNRNTE[29 FES5 [Eih 191.20 |12 9 | KRFIMRFHE [7141 &6 Eih 153.50 | &3
INRINTHE 29 #F6 |Eh 133.90 [12 10 | KFEIMRFEFE [141 &9 Eih 147.78
INRINTH |29 &E7 Eih 47.00 [12 11 R
INR\NTEB |29 &8 |E#s 433.01 [12 3 | XFEIMRFHE 731 F 1 1A 509
MNERINTHE 29 F9 |4 37 |12 12 | KFNRFHE (144 F2 P 566 |5 =
INRINTEH |29 #F 10 [Eih 24043 [12 1 | KRFENRFHZE [141 &S Eih 260.28
MRINTBE 20 FE 11 [#fEH [ 160 [12 2 | KFINRFHE 7125 &S P 220
INR\NTB |29 ZF 12 |E#s 165.23 [12 13 | KFEIMRFEHFE [731 F17 1A 194
MNRNTH[29 F 13 [Eih 7577112 14 | KRF/NRFHE 731 F18 P 89
INRINTH (29 FE 14 |Eih 100.31 [12 4 | KFEINEFHE 731 F 15 Eih 100.00
MRANTH [101 & AR AR | 5347 B
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MNRINTH [102 F SRAER| 809 B
MRINTH [103 & ARAEH| 1,195 B
MRANTH [104 & aRmEs| 214 B
MNRINTH 105 & ARAEE| 138 B
MRANTH [106 & aRAEH| 491 B
MNRINTH [107 & AR A | 7,876 B
MNRIANTH [108 & R AR | 1564 B
MNRINTH 109 & ARFAES| 295 B
MRIANTH |110 & SRAER| 721 B
MRANTH 111 #F sREER| 730 B
MRNTH [112 F ARMER| 473 B IR
MRANTH 113 & AR A | 1,786 B
MRNTH [114 F ARMER| 293 B IR
MRANTE 115 & ARAEH| 296 B
MRANTH (116 & R AR | 2,880 B
MRANTH 117 & sgmEn| 611 B
MRANTH 118 F ARAEH| 302 B
MRATH 119 F ARFAEH| 69 B
MRNTH (120 F ARAEH| 686 B
MRANTH 121 F ARAE%| 261 B
MRINTH (122 F ARAEH| 262 B
MRANTH [123 & ARMER| 463 B
MRINTH [124 F aRAEH| 188 B
MRANTH [125 & ARMER| 178 B
MRINTH (126 F aRAEH| 223 B
MRIATH [127 & ARAES| 998 B
MNRINTH [128 ARAEH| 122 B
MRNTH [129 & ARMAER| 1,052 B
MNRINTH [130 F ARAEH| 365 B
MRANTH [131 & ARMER| 499 B
MNRINTH [132 & R AE | 231 B
MRATEH[T &1 |4 1281 (73 |7 [AFNRFEZIGH[571 FK2 H 9 |A#H
INEATHE | &1 J 1281 |73 7 | XFDRFEZIG5T1 ES H 56 |&f
MEATEN F1 [ 1281 [73 |7 | KRF/INRFEFH 668 & Eih 1,279.33 | & 6f
MREATEHN FE1 |4 1281 [73 |1 [ KF/NMRFEESHM][669 F A 512 |56
MRATEN  #FE2 [EHs 566.23 |73 [8 [ ARF/INRFEHh[683 F 1 £ | 238354 |92l
MRATEHN &I |4 564 (73[9 |[KRF/NRFEHHM[680 F A 714
MRATHN &4 [ILUH 375|713 10 [XF/NRFE§MH 682 F 1 g2 569
MRATHN &S5 [ 313 [73  [15 | KF/INRFFHRETE[525 & 1 X 486
MRATHNN #F6 [EiHh 77751173 |11 | KF/INRFEH M (683 FF 1 £i [2,38354 [HF]
NRATHN &7 [azmesw| 22573 [36 [ KF/NIMRFE3H[683 F2 Eih 3.23
NRATHN &S |szmem| 327 |73 [35 [KF/IRFEH|684 &7 [ 241 |58
INRATH [ %8  |ammem| 327 |13 [35 | KF/INRFSHM[684 F 17 I 191 [&H
MEATEHN &9 £ 12276 [73 |29 |KF/INRFESHM[684 F 11 i 165
MERATH |1 #F 10 |EH 11604 |73 |28 [RF/INRFE M (684 2 10 P 156
NRATH [ F11 b 1111373 |31 | KF/INRFESHM[684 FF 13 P 54  |&f
MNRATHN & 11 [EHh 11113173 |31 [KRF/INRFEHM (684 2 16 P 95 |&f#
NRATH [ F12 [Eib 11122 [73 |30 | KF/INRFEESHH[684 F12 P 54 |&6E
INRATE[  HF12 £ 11122 (73 130 [ RF/NRFEHH]684 F 15 i 95 | &
IMNRATE [ F13 [Eih 227.00 [73 12 | XFINRFEE 684 F1 I 306
INRATEB[  &FE 14 [E#h 119.41 |73 27 | KF/INRFEHH]684 FO i 108 |&f#F
INRATHE ([ FE14 [EHh 119.41 |73 27 | KREFENRFEHH]684 F 14 I 52 |56
INRATH 1 %15 [EH# 102.49 {73 13 | KF/NRFSHH (684 F2 *H 79 |&#
INRATEHN  FEI15 [EHh 102.49 |73 13 | XKF/NRFEEHMH[684 Fs I 58 |56
INEATH | E 16 |Eih 102.04 |73 14 | XKFENEFE§H[684 F 18 +H 132
ZNRATE[  HFE17 [£#h 10215 [73 |32 [ KRF/NINRFEEHH][684 F19 I 131
MREATH 1 & 18 [Eih 116.20 |73 33 | KFE/NRESHM[684 F 20 I 150
INRATH [ F 19 [#iEH 2.55 [73 34 [ KF/INRFEHH 684 F 21 I 3.91

76




LTEMH/NMNRIE TRE284F 98
S IR FEXIER
r BT 4 I=]

HE3 BE [ W [ R | x| HE2 HE I
INRATH & 20 [lLu#k 254 |73 1 RKEINEFE 684 &S LK 214 |&1#
INEATH 1 20 [LLu#k 254 |73 1 RENRFEFiH (684 FE6 L #K 115 |&4t
INERATH 1 21 |1@ 100 |73 2 RKENMRFEZEILF]|586 F& A 413 |5HE|
INEATAH |1 & 22 |[=Eih 130.34 [73 3 {RE b
INRATH 1 & 23 |agmum| 111 |73 22 F it
INEATAH |1 & 24 [Eih 135.32 [73 16 {RE b
INRATH |1 % 25 |[Eih 132.26 [73 17 EEED
INEATAH |1 26 [Eih 137.03 [73 18 R 1h
INRATH |1 E 27 |EH 136.07 |73 19 EEED
INEATAH |1 28 [=Eih 113.74 |73 20 R 1h
INRATH |1 & 29 |HiEH 22373 21 EEED
INRATE 1 T 30 |HiEHh 1.48 |73 26 {2
INRATH |1 E 31 |EH 140.66 |73 4 EEED
INEATAH |1 & 32 [Eih 177.48 |73 25 {RE b
INRATH |1 % 33 |[Eih 139.22 [73 23 EEED
INRATH [ & 34 [Eih 139.04 [73 24 RE
INRATH |1 % 35 |[Eih 123.00 [73 5 | XF/INRFEHM 667 F 1 LLI AR 290 |59 E|
INRATH |1 & 36 |Eih 1,286.26 |73 6 | KF/NEFHEAE|272 &F 1A 1209 |&4
INRATH |1 % 36 |Eih 1,286.26 [73 6 | XF/INERFEHMH (679 F T 760 |
INRATH[2 &A1 Eih 17.00 [71 16 REH
INEATE |2 F2 |E 993 |71 19 | RF/INRFRAHAI[808 & =i 581
INRATH |2 &3 EHh 336 |71 21 | KF/INRFXHE 806 & Ehh 244
INRATH 2 &4 |8BAH | 527 |71 9 [ KF/IMRFX#HEI|805 &1 Eih 24843 | &6
INRATH |2 &4 [#BR | 527 |71 9 | KRF/NRFXHHHT]|805 &2 ERH | 416 [&6
INNEATE |2 &S5 |4 112 |71 10 | KF/NRFRMEHI[798 FE2 P 396 |7 E|
INRATHE |2 Fe |HA 106 |71 11 | RF/INRFRHA1[798 F3 P 133
INEATHI2 HE7 |EH 116.09 [71 12 | XKFE/NRFRMEFI[799 F5 Eih 145.34
INRATE[2 &8 [E# 361.00 |71 1 | XFNRFEE][799 ZF 1 =i 422.74
INEATH |2 &9 Eih 190.07 |71 2 | RF/INRFXRHEF[804 F 1 }+H 272
INERATE[2 F 10 [E# 188.13 |71 17 [ K=F/NRFXHE][804 & 3 I 271
INRATEB 2 ZF 11 |EH# 115.56 |71 3 EEED
INRATH |2 Fi12 |H 66 |71 4 | KF/NRFXHHET|807 F i 452 [HE|
INRATH |2 13 |EH 264.32 |71 13 [KFE/NRFEEFHH[671 T2 Eih 215.43 [ &6
INRATHI[2 F 13 |EH#h 264.32 |71 13 | KF/INRFEFH[671 T4 Eih 92.00 | &6
INEATH |2 %14 [Eih 120.50 |71 5 | XKF/INREFKHF]810 &3 }H 157
INRATH |2 15 |Eih 120.47 |71 22 | KRF/INRFEX#H]|810 F4 1A 157
INEATH |2 FHE 16 |Ei 153.98 [71 23 | XKF/INRFEEF]|810 FS 1 200
INRATH |2 %17 |/ 101 |71 24 | RFE/NMNRFXEI/810 FK6 1A 132
INEATH |2 FHE 18 |EH# 190.35 |71 6 EEED
INRATHE |2 F19 |Eih 58.00 [71 14 1R
INRATH |2 & 20 [Eih 57.70 |71 15 | KRF/NMERFELILUT|661 F13 Eih 57.78
INRATHE I3  FEA 1 345 |66 12 | KFNRFELILT (664 & P 459 | &
INRATHI3 FEA pui] 345 |66 12 | RF/INRFKHA[813 &S 1 161 [ &6
INRATH |3 &2 e 198 |66 11 | KRFINRFEXMAT)810 F 1 1A 271
INRATHIZ FHEE3 |Eih 34.00 [66 13 EEED
INRATH |3 & 4 Eih 17.00 |66 22 F it
INRATEBI[3 &HFS5 [E#h 94.07 |66 23 | XF/IMRFKHHT|811 &S Eih 92.15
INRATH |3 E6 Eih 3.00 [66 14 R B34
INEATHIZ FE7 |EH 110.23 [66 15 | RF/NRFKET[811 F16 Eih 109.83
INEATH |3 8 AR FER 53 |66 16 [ KF/MNRFK#HRI[811 F12 4N FE 48
INEATHIZ FE9 |EH 104.24 |66 17 | XKF/NRFKEEI[811 FE13 3 103.65
INRATE |3 #F 10 |E#h 3.00 |66 18 18
INEATH [3 11 |EHh 5.00 |66 19 {23
INRATHIZ FE12 |Eih 86.10 |66 20 | KR=F/MRFEKHEI811 FA4 =i 86.18
INEATHIZ FHE 13 |EH 135.81 66 21 | KF/INRFEKEET811 &S Eih 90.19 [ &5
MRATEI[Z FE 13 [E£H#e 135.81 |66 21 | KR=F/MRFEKHET|811 FI ES3 33.04 |56
INRATH I3 FH 14 |Eih 179.03 |66 2 EEED
INRATHIZ FE15 |Eih 333.39 [66 1 KF/NRFKFHE[812 FES Eih 429.89
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INRATH |3 16 [=Eih 123.16 |66 2K #HET 811 FE 11 122.90
INEATHIZ FTE17 |EH 100.85 |66 Fok i [811 F 14 100.08
INRATE |3 ZF 18 |E#s 2.00 |66 R
INRATE I3 #F 19 |EH#s 101.10 [66 RFE/NMNRFKHHEI|811 FE 15 S 100.56
INRATE |3 ZF 20 |E#h 4,00 |66 EEED
INRATH I3 #FE21 |4 216 |66 2K #ET[811 & 1 *H 312
INRATH |4 1 Eih 420.30 |62 77K 814 T 1 A a1 |5
INEATH[4 FA Eih 420.30 [62 F7K$4 1814 F 4 i 133 | &6t
INEATHIA FE2 |Ei# 769.29 [62 FEZA (903 &1 Y 786
INEATHIA FE3 |EH 938.50 [62 FEA  [902 F Eih 1,054.54
INERATHEI4 4 |4 91 |62 £k ¢8ET /813 & 1 *H 98
INEATH |4 x5 Eih 42274 |62 FEA 905 F 1 Eif 496.77
INRATH |4 %6 Eih 59.04 |62 2 ER |905 &6 Eih 69.68
INRATEI4 F7 |4 1.29 |62 7 X 8 E1 [801 F4 *H 2.15
INNREATE 4 S | 6.78 |62 7 K #HE[793 &S i 11
INRATHI4 FHY Eih 190.05 [62 rEA [905 & 7 207.00
INEATHIA FHE 10 |Ei# 71.40 [62 7R #8793 &2 68
INRATHI4A FE11 |EH 30.00 [62 1R
INRATH 4 FE12 |Eih 30.00 |62 {231
INRATHI4 F 13 |EH#h 140.57 [62 5 rE#A  [906 & 15 139.24
INERATH |4 14 | 31 [62 5 77K 78E1] |813 & 6 34
INRATHEI|4 #FHE 15 |EH#h 84.22 [62 5 7K t8E 813 & 7 92
INEATHIA FHi16 |Ei#h 16.25 |62 5 7 E2A  [906 Z 38 17
INEATH |4 17 |Eih 100.24 |62 5 r X [906 &F& 37 108
INEATH A FH 18 |EH# 100.27 [62 5 7 E#A  [906 Z 36 108
INEATH |4 19 |Eih 100.21 62 5 r AN [906 & 32 108
INERATH |4 & 20 [Eih 100.16 [62 5 2 ER [906 FE2 107
INRATHE |4 21 |#fEH 0.90 [62 5 FEZA  [906 Z 34 0.97
INERATH |4 22 | 0.07 [62 5 FEA  ]906 &35 0.08
INRATH 4 F23 |EH#h 9.14 |62 5 rEx  |906 & 33 9.86
INRATEB 4 224 |E#s 110.36 [62 5 7 E2A  [906 & 18 108.86
INRATHI4 F25 |Eih 104.60 [62 5 rEA |906 FE 17 104.18
INRATEB |4 226 |Eis 103.73 [62 5 7 EZA  [906 Z 16 103.75
INRATH 4 F27 |EH#h 114.61 [62 5 rEA [906 & 14 115.24
INRATEB |4 228 |E#s 120.18 [62 5 rEZA  [906 & 12 119.69
INRATHI4A F29 |E#h 131.38 [62 5 2 EA 1906 F 11 131.67
INEATHIA FHE30 |Ei# 122.63 [62 5 rEA  [906 & 10 1043 [ & B
INRATEHI|4 #F30 |[EH#h 122.63 [62 5 7 E#A  [906 & 13 112.42 | &8
INRATEB 4 ZF 31 |EH# 6.46 |62 5 FEA  [906 F 25 002 | &6
INRATHEI|4 #F31 |E# 6.46 |62 5 FEA |906 26 771 | &8
INRATEB 4 232 |E# 111.83 [62 5 rEA  [906 Z 28 20.39 | &5
INRATH |4 & 32 [Eih 111.83 [62 5 2 ER  ]906 F 30 92.70 | & {#
INEATHIA FE33 |EH 130.96 |62 5 rFA  [906 8 31.46 | &4t
INRATH 4 FE33 |Eih 130.96 [62 5 FEZA [906 9 10159 | &6
INRATEB 4 33 |EHs 130.96 [62 5 rFA  [906 F27 0.44 [ &
INRATH |4 & 33 |[Eih 130.96 [62 5 2 ER  |906 FE 29 0.85 | &1
INRATH |4 #34 |[Eih 32.00 |62 D
INRATH |4 & 35 [Eih 141.48 |62 5 2 ER ]905 F4 158.11
INRRTHI|4 36 |Eih 186.98 [62 5 FEZA  [905 &8 198.42
INRATH |4 & 37 |[Eih 247.28 162 5 2 ER  |905 &S 257.66 | & {3
INEATHIA FE37 |EH 247.28 |62 5 rEAR (910 &F4 6.61 | &Gt
INRATH |4 & 38 |[Eih 36.98 |62 5 2 ER  |904 &S 40.73
INEATHIA FE39 |EH 120.04 [62 5 2 ER (904 F A 119.16 | &4t
INRATH |4 & 39 [Eih 120.04 |62 5 2 ER  |904 &S 12.96 | &4t
INEATHIA FE 40 |EH 233.11 [62 5 2 AR (904 &6 115.46 | &4t
IMNEATHEI4 T4 [Ei 233.11 [62 5 FEA [904 7 14107 | &6
INRATEIA TEM | 673 |62 5 27K 28817901 & 1 757
INRATH |4 &z 42 [Eih 72.23 162 5 2 ER ]905 FE9 81.03
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INRATH |4 & 43 [Eih 198.33 [62 43 | KFE/NRFEAR [905 FE 10 Eih 222.92
INRATEB |4 44 |EHh 16.00 |62 31 | KF/NRFEXREHI801 F2 1A 20
INRATHIS &1 =i 127.29 |65 12 | XKE/NRFXMEFI[800 F 3 1A 165
INRATHIS FE2 |Eih 132.59 [65 6 | KRF/NMNRFXRHHI[800 F2 1A 172
INRATHIS FHE3 |EH# 100.18 |65 7 | KRF/NRFEX#FE[800 F 4 1A 117
INEATH |5 % 4 Eih 100.06 |65 8 | XF/MNEFXHHEI|800 FE 11 I 117
INRATHIS FHES5 |EH# 100.09 |65 9 | KF/NRFEX#F800 F 12 Y 117
INRATEI[S &6 [E# 120.00 |65 13 | RF/NRF R85 [800 & 13 I 128 |&4F
INRATH | %6 Eih 120.00 |65 13 | KFENRFEAR 937 & 16 A 10 |&f
INRATEI[S &HF7 [E# 130.11 |65 14 | XFMRFEEILF[624 F2 H 138 |&4F
INRATHIS FE7 |EH# 130.11 |65 14 | KFENRFESN [937 &E17 1A 24 |&6%
INEATHEI|S #HFS8 |Ei# 110.06 |65 15 | XFNMRFEZILAT[624 F6 H 144
INRATHIS FEO |Eih 100.03 [65 10 [R=FE/NRFK#HE[801 FS Eih 99.87
INEATHI|S  #HF 10 |Eih 101.68 [65 11 | KFE/NRFRMERI[801 &9 Eih 101.03
INRATH |5 11 [Eih 147.54 |65 1 KFE/INREFEKEF1[801 & 10 Eih 147.29
INRATHIS FH12 |4 731 |65 2 | KF/INRFXHE|802 FE 1 1A 836
INRATH |5 FE13 |IUK 128 |65 3 | XKF/MRFELLG]603 F 1 LLI AR 182
INRATHIS  #H 14 |4 32 |65 4 |KFINRFEHH]695 F1 1A 50
INEATH |5 & 15 | HiFH 1.50 |65 21 | XK=/ RFXmi1[803 &8 JG 1.76
INRATEIS #FH 16 |FEih 128.83 [65 5 | KRF/INRFX#HHE]|803 FE2 1A 150
INRATHIS F 17 |EHh 131.67 [65 16 | KF/NRFEE[803 3 *H 154
INRATEIS #H 18 |EH#h 122.24 |65 17 | KF/NRFKMEEI[803 FE 4 1A 143
INRATHIS FE19 |Eih 130.03 [65 18 | KF/NRFEHE[803 FES5 *H 152
INRATE [ & 20 [E#h 133.83 [65 19 [KF/NRFX#EI[803 &6 1R 156
INRATE IS F 21 |E# 130.46 [65 20 | K=F/INRFXHE]|803 F7 T 152
INRATHI[6 & Eih 104.39 [64 9 | KRF/NRFXREI]|794 FE3 Eih 88.33 |56
INRATH |6 E A Eih 104.39 |64 9 | KRFINRFXRMAEI|794 F6 Eih 15.36 | & 6F
INRATEI6 F2 [EHs 104.23 |64 10 | RF/INRFRHA[794 F 4 Eih 4786 | &6
INRATH |6 &2 Eith 104.23 |64 10 | KRF/INEFREF][794 &S Eih 56.40 | &3
INERATHIE &3 Eih 10.00 [64 11 {72
INERATHIE FHw4 |[Eih 110.29 |64 25 {234
INRATH |6 %5 Eih 116.47 |64 12 )
INRATHEI[6 #FE6 |Ei 106.00 |64 13 | KRFE/NRFXRMAI[793 F6 Eih 13.78 | & B
INRATE 6 #&HE6 |Eih 106.00 |64 13 | KRF/INRFRHA[793 &S Eih 7.95 |56
INRATHEI[6 #FE6 |Ei 106.00 |64 13 | KF/INRFXRAH[794 & 10 Eih 3765 | S5
INRATHI6E FH6 |Eih 106.00 |64 13 | RF/NRFRMEI[794 T 11 Eih 4577 | &6
INRATHIE FE7 |EH 108.66 |64 14 [ KF/NREFREF[793 FE 22 Eih 64.60 | & B
INRATHIE &7 Eih 108.66 |64 14 [ KF/NRFEX#HFI[793 F23 Eih 4282 | &
INEATHI[6 #FS |Ei 105.28 |64 15 | KFE/NRFEMEF[793 & 15 Eih 69.32 | & B
INRATH (6 EE) Eih 105.28 (64 15 | RF/INRFEXMA][793 & 17 Eih 35.42 | &3
INEATEI6 #F9 [|E# 102.30 |64 16 | KFE/NRFRMA[793 & 16 Eih 7381 [ &5
INRATHIE FE9 |FEih 102.30 |64 16 | XKF/NRFRMEEHI[793 & 18 =i 2789 | &6
INRATH |6 E 10 |=EHh 99.14 |64 17 | KRFINEFEREE[793 F9 Eih 31.24 | &6
INRATHIE FE10 |Eih 99.14 [64 17 | XK=F/NRFXMET[793 & 35 =i 032 |56
INRATH |6 E 10 |=EHh 99.14 |64 17 | KRFINEFREE][793 & 38 Eih 5151 | &
INRATHIE FE10 |Eih 99.14 [64 17 | XKF/NRFXHET[793 2 39 =i 17.25 | &6
INEATHI6E FTE 11 |EH 100.24 |64 18 | KF/INRFXMHT[793 &7 Eih 34.92 | &6t
INRATHIE F’E11 |Ei 100.24 |64 18 | XK=F/NRFXHAI[793 & 37 =i 65.05 | &5
INRATH |6 12 |Eih 100.17 |64 1 KFI/NRFRKMAT]793 & 36 Eih 100.00
INEATH [6 F 13 |Eih 93.75 (64 2 | KF/INRFKHFE]|793 FE 4 =ih 9418
INEATHI6 FE 14 |EH 140.32 |64 3 | XF/IMNRFEEE]|801 FS Eih 139.50
INRATE 6 #FE 15 |Eih 102.56 |64 4 | x=E/NRFEXHEFI[801 F6 =i 101.13
INRATHI6 FE 16 |Eih 101.33 |64 5 | KFE/NEFXHH|801 FE7T Eih 101.50
INRATH |6 &z 17 |[Ei#h 11.00 |64 6 R B34
INRATH 6 #F 18 |HiEHh 2.01 [64 24 | K=F/INEFR44H7[800 F 10 R 2.37
INRATH |6 19 |[Eih 100.12 [64 7 KEFE/NRFERKHFI[800 FE 1 A 118
INRATHI6E FE20 |Eih 101.20 |64 19 [ XZE/NRFXKMEHI[800 &5 I 119
INRATE 6 FE21 |E#h 120.03 |64 20 [ X=/IREXHE][800 F6 1A 141
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IMRATEI6 FE22 [£H 101.27 |64 21 | KR=F/NRFEXHAET]|800 F7 1A 119
INRATHI6 FE23 |EH 129.91 [64 22 | KRF/INRFXRHFE]|800 FS8 I 153
INRATHI6 FE24 |Ei 110.45 |64 23 | XF/INRFXMHE1(800 F9 i 129
INRATHI6E FE25 |Eih 24.00 |64 8 R 52 3h
INRATE 7T FEA =i 90.32 |63 10 | KF/NRFELILAT[622 & H 125
INRATEB|7T #F2 |E# 18.90 [63 17 | XFIMRFEZILT[642 &3 A 27
INERATH |7 % 3 Eih 107.73 |63 18 | KE/NRFEZILT|642 T2 H 153
INRATEB|7T #4 |E# 119.36 [63 11 | RFENRFELILIT (642 F 1 H 168
INRATHI7T FHES |Ei 181.16 |63 12 | XK=F/NRFRMET[795 25 1 1A 248
INRATH|7T %6 Eih 165.12 |63 19 | XZE/NRFERMEF[795 &2 *H 226
INRATH |7 %7 Eih 15.96 [63 13 | KRF/INRFEHH|704 FES5 A 20
INRATHEI|7T FHES |Eih 176.79 |63 16 EEED
INEATHEI7T FEO |Ei# 176.69 |63 14 EEED
INEATEB |7 #F 10 | 241 |63 15 | XKF/NRFKEE[813 &8 1A 267
INERATH |7 %11 |/@ 401 |63 1 KENRFER [906 FES3 1A 452
INRATHE (7 & 12 (Mg 15 |63 2 | KFINRFEHE1]793 7 26 MiEHh 491 | &6
INRATH |7 & 12 |HiEH 15 |63 2 | KF/NMNRFEAFE|793 & 33 Mg 10 |68t
INRATEB |7 #F 13 |Eih 98.63 [63 3 | RF/IMRFKAHAE]|793 F13 Eih 96.59 | &5
INRATEB |7 ZF 13 |EH# 98.63 [63 3 | KF/IMNRFEXR#HE]|793 FE25 Eih 1.20 [ &6
INRATEB 7T #F 14 | 101.48 [63 4 | XKFNRFX#FI]793 F 19 Eih 101.03
INRATEB 7T F 15 |EH#e 101.77 [63 5 | KF/IMNRFEXR#HHEI]793 & 24 Eih 101.05
INRATH |7 16 |Eih 105.75 |63 7 | KRFINRFEXHEI|794 B9 Eih 100.11
IMNRATET FE 171 [ 105.50 |63 8 | XKF/INRFXREH]|794 &S Eih 105.12
INRATEB 7T ZF 18 |EHs 108.97 [63 9 | XF/INRFXEE]|794 F7 Eih 108.93
INRATH I8 &1 P 208 |70 6 | XF/INRFEHM 1698 F 1 1A 694 |HE
INRATHIS F2 [|Ei#h 329.00 [70 1 | XKFINRFEMF1]|787 F?2 Eih 694.21 | &
INRATHIE FEE3 |Ei#h 17759 |70 1 RFENRFEHH]699 F 1 1A 232
INRATHIS F4 |EH 117.64 |70 8 | XF/INRFEHIM|699 F7T P 153
INRATHI8 FES5  |Eih 5357 [70 10 | RF/INRFRMAN[795 &S P 73
IMNRATEI[E FE6 [E£He 83.37 [70 9 | XF/INRFEHH]699 FS 1R 108
INEATH |8 &7 Eih 87.54 |70 2 | RFINRFEX#EF]795 B3 G 119
INRATH I8 &S |HMiEh 2.04 |70 11 | RF/NRFREE[795 F4 P 2.79
INRATHIS &HE LLI#K 103 [70 3 | KRFIMNRFHE |708 F4 LLIAK 138
INRATE[8 F 10 [E#h 156.28 |70 4 | xK=ENRFXMHET]798 FE 1 =ih 193.70
INNEATEI8 #F 11 |4 199 [70 5 | XKFINRFEXM#HT|798 F2 1 396 | E|
INRATH |9 &1 J] 500 |72 5 |KFNRFEHH]681 F1 1A 660
INRATHI9 FE2 | 370 |72 8 | KRF/INREFEHIH|682 &2 i 557
IMRATEID FE3 [£# 1,361.58 |72 4 | KRENRFEEFH]687 F Eih 2,076.03
INRATH |9 % 4 Eih 264.39 [72 6 | KFE/MNRFEHIH]|685 F 1 Eih 76.03 [ &6
INRATE[9 F4 [E# 264.39 |72 6 | KRF/INRFESHH][686 F1 Eih 30082 | &
INRATHI9 &S5 |4 293 |72 7 | KFNRFESHIH]693 F +H 419
INRATEI9 &6 | 938 |72 1 KENRFEE 5697 & 1A 1,338
INRATHE[9 &7 [ 247 |72 2 | KRFNRFEFH 694 F i 353
INRATEI9 &8 | 104 |72 3 | KRF/INRFEESHM|685 F2 1 62 |&f
INRATHI9 #FE8s |4 104 |72 3 | XFINRFEHH 686 &2 P 39 |&ft
INRATH [0 FE 1 P 173 |69 7 | KFINRFEEHIM|695 F3 1A 282
INRATE 10 &F2 |4 167 |69 16 | RF/INRFHEAE[279 &2 P 261
INRATHII0 FE3 4@ 426 |69 8 | XKF/INREFEHIM|692 &F P 687
NEATH[O0O F4 [/ 273 [69 9 | KRFNRFFHETE|529 H 1 1,024 |5El
INRATE1I0O &S5 | 36 |69 10 | KFE/NRFSHIHM([702 F6 *H 18 |56
INRATE 10 &FS5 |4 36 |69 10 | KRFE/NRFEHH[702 &8 1A 23 |&#
MRATE[1I0 FE6 [ 447 |69 |11 |AF/INREESHH[702 Z 1 1 860 [
NNRATE [0 HF7 [ 256.21 |69 12 | KRF/MRFEHH[701 F2 =ih 297.52
INRATEH [0 #F8 [=£#h  [136980[69 [1 [KF/NMRFEFHH[701 F =i [2,231.40 [ E]
INEATHI[I0O &9 Eih 512.73 |69 2 | KFE/INREFLSHH[701 &1 =ih 2.231.40 |52
INERATHE 10 & 10 [ 393 |69 3 RKFEINEFE 695 &2 A 638
INRATE 10 ZF 11 |4 662 |69 4 | KFINRFRHEAT|251 F 1A 588 |&f
INEATE 10 &F 11 |4 662 |69 4 | KFENRFEHFEIT|252 F2 H 129 |&6
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MRATE 10 FEi12 [ 772 [69 5 | KF/INRFEHH 689 F i P 1246 | E
INRATE 10 #F 13 |4 30 |69 13 FINRFE 698 F 1 1A 694 |5 E
INRATH 10 FE 14 |4H 230 |69 14 FINEFEMBAE [279 F 1 A 359
INRATHE (10 &F 15 [/ 5.70 |69 15 | K=F/INRFEHH 688 F I 1490 |52
INRATH 10 FE 16 |L%k 47 [69 6 | KF/INRFEHH[689 F2 LLI A& 62
INEATH 11 F 1 & 450 |68 9 FINEFEHM (696 F i 704
INRATH 11 FE 2 Eih 136.30 [68 10 | KF/NRFEEHH 700 FE6 A 136
INRATH[11 &3 Eih 139.01 [68 11 | KFE/NREFESHH|[700 F7 Eih 138.79
INERATH |11 &4 Eih 14.99 |68 12 | KRF/INRFEHH]700 F12 A 15
MNEATE 11 &5 [EHh 181.55 |68 14 | XF/NRFEFHH [700 2 11 =it 189.77 | &
INRATH |11 FES Eih 181.55 [68 14 | KFENEFEHH|700 F13 A 6.15 | &6
INERATH|[11 &6 Eih 15.00 |68 19 {RE b
INEATH 11T FE7T  |EH 14357 68 15 EEED
INEATH |11 &8 Eih 14,00 |68 16 {RE b
IMNEATE T FF9 [Ei# 159.73 |68 17 | XK=F/NRFEESFH (700 2 1 ES3 164.06
INRATE 11 F 10 |EH#s 150.81 |68 1 | RFENRFE (700 F 10 1R 150
INEATHE 11 FE 11 |EH# 12.00 [68 18 R 53 3h
INRATE 11 F 12 | 175.43 |68 2 REH
INEATHE 11 F 13 |EH# 17.00 [68 3 D
INRATE 11 F 14 |EH#h 196.49 [68 4 | RFENRFEFH][700 F 3 =i 126.09 | &5
MRATE 11 FE 14 [£He 196.49 [68 4 | KF/NRFEHH 700 &8 Eih 87.88 |56
INRATE |11 #F 15 |EH#h 111.62 |68 6 |KFE/NRESHH[700 FS5 Eih 111.97
INRATHE 11 F 16 |EH#h 14.00 [68 7 R
INRATE 11 F 17 |EHe 138.48 [68 8 | XF/INRFEHM]699 F3 I 184
MRATE 11 FE 18 [E£H#e 138.50 [68 20 | KR=F/INRFEHM]|699 K4 T 184
INRATE 11 F 19 |EHh 138.37 68 21 | KF/INRFEFHH]699 FS I 184
MRATE 11 FE20 [E£He 138.42 68 22 | KF/INRFEH 699 F6 *H 184
INRATH 12 & NE 2154 NE
INRATH 13 FEA P 599 |61 5 | XF/INERFEMAEI|797 & pui 793
INRATH[13  &H 2 i 493 |61 4 KEFE/INRFEXKHE] (796 T I 846 |5 =
INRATH 13 &3 H 22 |61 6 |KRFIMRFEZILT|642 F4 53] 30
IMRATE N3 FE4 [£#e 1,158.66 |61 3 |XF/INREFEXHF[787 F 1 =ih 1,451.23
INRATH 13 &S5 |4 287 |61 7 [ XEINRFEX#E[786 F 1 R 360
INRATE N3 FE6 [E£He 139.96 |61 8 [ XF/INRFXHFE[786 F2 =ih 175.27
INRATH 13 &7 |4 701 |61 9 | KRF/INRFEHM|698 &2 P 915
MWRATH[13 #FHF8 |[Eih 231.22 [61 1 [ KF/INRFRE(787 F2 Eih 694.21 [ Z|
INRATH [14 F 1 =i 135.73 [60 13 | KF/INRFXRME[[792 &S 1 187
IMWRATBE N4 FE2 [£# 135.55 |60 5 [ XF/NRFEXEE[792 F2 1R 187
INEATHE 14 &3 | 788 |60 3 | KF/INRFEX#HEI]|789 &FE i 191 |&6
INRATH |14 #FE3 |4 788 |60 3 | XF/NRFEXHH]|790 F 1 1 720 |&6F
INRATH 14 &4 |48 213 |60 7 | KRF/INRFXHE]|783 & +H 1,464 |9
INRATH 14 &FES5 |ME 667 |60 2 | KFINRFXMFI|776 F 1 *H 747
MNEATH[14 Fe6e  |[/H 374 [60 6 | RF/INRFRAMAE]]|778 F 1 H 407 | &6
INRATH 14 FE6 |/E 374 |60 6 | KFINRFXMF1|778 F3 1 1 |56
IMNRATE4 F71 |4 219 [60 1 [ KFINRFRHAE[775 &2 i 257
INRATH |14 FH 8 MEiEHh 1.39 |60 8 | XK=F/IMRFEeni[791 &6 1A 1.93
IMNRATE 14 FE9 [£# 111.64 [60 4 [ KFE/INRFEXMET|791 FE 1 1A 152
INRATE 14 ZF 10 |Eih 119.13 |60 9 | XKFINRFXMFI|791 F?2 1 162
INEATH 14 F 11 [Eih 144.46 |60 10 | KF/NRFEXRMEHI[791 &3 1 197
INRATH 14 FE12 |Eih 159.45 |60 11 | KF/INRFRMEE[791 F4 1 156 | &8
IMNRATE 14 FE 12 [£# 159.45 [60 11 | KENRFRMEF[792 &3 +H 62 &
INRATH 14 FE 13 |Eih 144.30 |60 12 | KF/INRFXMEI[791 FES 1 79 |&f
INEATH 14 F 13 |EH 144.30 [60 12 | KF/INRFEXRME[792 T4 1A 119 [&#
INRATH (15 &E 1 H 643 |58 5 | KFNMRFEEH 1937 F1 1A 1,739  [9EI
INEATHI15 FE2 |EH 277.09 |58 8 |KFIMRFEER [937 F29 1A 314
IMNEATHEI5 T3 [Ei 138.63 |58 7 | KFMNRFEER [937 F28 1A 157
INRATE 15 FE:4 |EHs 138.62 |58 6 |KFIMNRFEER [937 F27 R 157
INRATHI15 FES |Eih 193.44 |58 1 RKFENRFEA [937 & 19 1A 219
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IMRATE5 FE6 [£H 199.43 |58 2 | KRFINRFEESR [937 FA4 1A 131 |58
INRATHI15 FE6 |Ei 199.43 [58 2 | KFMRFEER 937 F10 R 92 |&f
INRATH |15 FE7 Eih 163.36 [58 3 RKENRFESD (937 FE12 Eih 118.05 | &4t
IMNRATE[I5 FE71 [£#t 163.36 |58 3 | XKFINRFEAR 937 F 14 Eih 4851 |56
INRATH |15 FE 8 A 837 |58 4 |KFENRFER [937 &H1 A 1,739 |9 E|
INRRATH |16 FHF 1 Eih 144.10 |57 6 | KFENEFEAHR 937 F18 J 156
INRATH |16 FE 2 Eih 2,154.43 |57 2 KENRFESD 938 F E#h 257219 [=
INRATE 16 &F3  [|H 219 |57 7 | XFINREFEHE773 F 1A 10711 |5=E
INRATH |16 & 4 P 171 |57 8 | RF/NRFX#F[[773 F A 1071 |9 E
INRATE 16 &FS5 [ 193 |57 9 | KF/INRFXHE|781 & 1A 508 |9 E
MRATE 16 FE6 [ 79 |57 10 | KRF/NRFERF[771 F2 i 76 |&6
INRATE 16 &6 [ 79 |57 10 | KF/INRFRME[774 F2 +H 26 |&6
INRATH |16 &7 P 339 |57 11 | KRFEINRFERXMRI]|T779 T 1 A 432 | &
NWNEATBEEe FE7 [@ 339 |57 11 | KFE/INRFERME[[779 &3 I 5.39 | & 6
MRATH |16 #FES |EiM 71298 [57 1 | KF/NRFEHR 940 FE 1 B 94753 | |
INRATEB 16 F 9 |HiEt 0.25 [57 18 | XF/NRFEAR [937 & 26 1R 0.28
INRATHE 16 #FE 10 |HiEH 1.16 |57 17 [ K=F/NRFEAR [937 F25 JG 1.31
INRATE 16 F 11 |EHh 120.32 [57 3 | XKFINRFEAR 1937 F2 1R 136
INRATHE 16 & 12 |Eih 120.23 |57 12 | KFINRFELR (937 F20 }H 136
INRATHE 16 #F 13 |EHh 120.33 [57 13 | XKFNRFER [937 F 21 1R 136
INERATHI16 FHE14 |Eih 100.58 |57 14 | KRFNEFEA (937 &22 I 114
INRATE 16 ZF 15 |EHh 100.38 [57 15 |XF/NRFER [937 F23 1R 113
INRATE 16 ZF 16 |E#h 90.10 [57 16 | KF/NRFES [937 FE24 T 102
INRATEB 16 & 17 |Eih 10.72 |57 4 | KF/NRFXME|752 &8 L4k 16
INERATH |16 #FHF 18 |[FEih 161.09 [57 5 | KFIMNRFEER 937 &S Eih 165.28
INEATH 17 FEA P 456 |59 7 | XFINRFEXHH 780 F 1 1 575
IMRATE N7 FE2 [E£He 213.67 |59 8 FINEFELEA (938 FE 1 Eih 257219 [ EI
INRATH[N7T &S A 74 |59 9 | KRFEPMRFEE£ILT|642 FES A 107
INRATH 17 &4 |48 174 |59 12 [ KRFE/NMRFKHFI[816 FE1 I 833 ||
INRATBE 17 &F5 [4H 118 |59 13 [ K=F/NRFRMAI[792 F 1 1R 182
INRATH |17 6 e 112 |59 10 | KF/NRFRME[769 FH 1 }+H 155
INZNRATBEB 7 &F 7 [H 445 |59 11 [ KF/NRFERMRI[774 F 1 i 535
INRATH 17 8 A 224 |59 1 KFNRFER [941 F pui 528 |9 El
INRATE[17 &9 [E# 102.57 [59 2 | XKFINRFEAR 940 F 1 =ih 94753 [H =
INRATEB 17 ZF 10 |4 234 |59 3 | XF/INRFXRaEF]|TI5 F 1 1 290
INRATBE 17 &F 11 [4H 96 |59 4 | KFINRFRAHRT]|796 F 1R Y EE]
INRATEB 17 F 12 | 330 |59 5 | KFNREFEXHE|771 F 1 i 456
INRATE 17 & 13[4 45 |59 14 | KF/INRFXMEEI[796 F 1A 846 |0 E
INEATHE 17 &F 14 | 195 |59 6 | XF/INERFEMAE|781 & H 598 |5 E
INRATH[18 &1 Eih 841.45 [67 1 | KFINRFEXRHE|765 &1 Eih 1,078.54
INRATH |18 &2 P 457 |67 8 | KRF/INRFXRHE|764 T 1 pui 600
INRATH |18 #F3 Eih 856.14 |67 6 | KF/INRFXMHE]|784 F 1 1A 1,123
INRATE[18 &HE4 [E#h 977.91 [67 5 |RF/IMNRFRAE]]|785 & 1 i 1,289
INRATH |18 &ES H 741 |67 1 RKFE/NRFX 71783 F 1A 1,464 [HEI
INEATH|18 &6 P 182 |67 2 | KFE/MNRFEHIH]|689 F 1 I 1246 |9 ZE
INRATH 18 &7 H 287 |67 3 | KFE/NREFEHIM]|698 F 1 1A 694 |9 E
INRATE 18 &8 | 42 |67 4 | KFINRFEFH 688 F 1A 1,490 |9
INRATH 19 FE 1 Eih 850.97 |9 7 | KF/INRFRFE|758 &3 Eih 757.02 [ &
INRATH[19 #F 1 Eih 850.97 |9 7 | RFINRFRAE|759 & P 510 |&6F
INRATHI[19 FE2 |EH# 235.74 |9 8 | KFINRFEXHF|758 F 4 1 353
INRATE 19 FHF3 |EHs 233.80 |9 9 | XF/INERFE#FE|758 F 1 1A 357
IMNEATEN9 T4 [Ei# 225.88 [9 10 | KF/NRFELILAT[624 1 H 339
INEATH19 FES P 219 |9 16 | KF/NREFRMEE[755 &3 +H 319
INRATHI[19 FE6 Eih 154202 |9 1 RKFENRFEEE|767 & E#h 2,251.23
INRATBE[19 &F: 7 [lL# 724 |9 2 | XFINRFmAR]|420 F A IS 1,021
INRATHI[19 F 8 A 14 |9 3 RKFE/NRFE R |755 &2 A 20
MNEATHN9 F9  [IU# 33 |9 4 | KRF/INRFRHE|750 & 15 IS 49
INRATHE 19 & 10 [4@ 1,071 |9 5 |KRFIMRFEXWE|758FK2 D 2 [1H 72 |5
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MNERATH[19 10 [4@ 1,071 |9 5 | RE/NREREE|766 & Th 1487 |55
MRATH 19 F 11 |4 129 |9 6 |KF/INRFRET|164 &1 I 170
MRATE[19 FE12 |4 108 |9 11 =5k 20 | 756 & ta 158
INEATHI[19 ZF 13 |18 274 9 12 FINREFR MR [757 &8 I 200
INEATHE 19 F 14 |4 47 19 13 | KE/INRE R [783 & I 1464 | Z]
MWRATH[19 FE15 |4 14 |9 14 FINREFRHET[803 F 1 I 17
MERATH19 #E 16 [ 93 |9 15 | AN HE (723 &1 Ha 800|503
INRATH[20 F 1 pui] 632 |6 7 FINREFRME] 782 T I 088
MNRATHI20 F2 [£i#h 38.85 |6 14 | KF/INRF X 4 755 25 1 1 52
INEATH[20 #F3  |[Eth 47.59 |6 16 = NS Rk AR 757 3 7 I o4
MRATH[20 F4 |[=h 88.20 |6 15 | KF/INRF R MR |757 2% 6 1 119
MNRATH|20 %5 [Eih 88.90 |6 8 | AKF/NEFXRME|157 &3 I 120
INRATH[20 FE6  [EHh 60.42 |6 18 | KE/INRE X8R |768 & 8 LR 36
INRATH (20 & 7 Eih 61.12 [6 19 | KF/NRFXHFE|[768 FEI 1L %k 37
INRATHI|20 #E 8 Eith 62.87 |6 20 |[KF/NRFEX#EE|768 F 10 (LI %K 39
INRATHE (20 &9 Eih 167.49 |6 17 | K=F/NREFEXME[768 T 7 L& 239
MRATH |20 % 10 |EHh 139.04 |6 9 | KF/INEFAME|768 26 LI #& 198
INRATHE (20 F 11 [Ei#h 94.27 |6 10 | KFE/INRERMARHI 772 &6 I 116
MRATH |20 #F 12 (£ 115.45 [6 1 | KFDRFRMA]772 T 7 1A 110 |56
INRATH (20 F 12 [Eih 115.45 [6 11 | KF/INRFRMAIL 942 E 8 1A 28 | &t
MWRATH[20 ZF 13 [Eih 126.78 |6 24 | KF/INRFRMAI| 172 2 8 I 110 |&6F
INREATH 20 F 13 |Eih 126.78 |6 24 | KF/IMNREFERAI[042 FE9 I 41 |aa
WRATH[20 F 14 |[Eih 48.09 |6 25 | KF/MEFRAI[942 & 10 I 52
INEATH 20 F 15 |Eih 48.24 (6 26 | KFE/NRFEX#I[945 F5 L1 & 64
MWRATH[20 FE 16 |[Eih 104.52 |6 23 | KFE/NEFRaIL[045 & 4 (LIAK 4
INEATH 20 F1T |Eih 102.54 |6 22 | KEF/IMNRFER#IL]|945 FH 3 L%k 138
MWRATH[20 ZF 18 [Eih 102.45 |6 21 | KF/INR TR [945 25 2 (LIAK 137
INEATH 20 F19 |Eih 225.89 |6 12 | K=/NREX#IE[045 FE 1 L%k 304
INEATH |20 ZF 20 |Eih 36.00 |6 13 | KE/INRERAI[942 & 11 I 39
MRATH[20 F 21 |[Eih 160.21 |6 1 | XFDhRFXHEI][042 F6 Eih 158.67
MNRATH |20 #F 22 [Eih 306.00 [6 2 | KF/INEFxRmMmIL]|42 &7 I 8 |ah
MNRATH |20 #F 22 [Eih 306.00 [6 2 | KF/NRFEXRMIL|946 FE2 X 254 | &
INRATH (20 F 23 [E#h 127.57 |6 28 | KF/INEFRaIL (043 & 4 HLIFR 162
INRATH |20 FE24 |EH 120.00 |6 3 KE/NEFERMIL[043 F 1 L1 & 152
INRATH |20 F 25 |Eih 120.32 |6 27 | KF/NRFXKmI (943 &3 g S 153
INRATH (20 26 [MiEh | 189 |6 4 | KkFhRExA[944 & (LK 238
MRATH (20 27 |4 316__[6 5 | KF/INRFRMRE|713 5 I 1071 |5 =]
INRATH[20 #F 28 |4 320 |6 6 KFEINRFERMET[772 T 1 I 247
INRATH (20 F 29 [E#h 27.00 |6 29 | KFE/NEFRaIL][942 & 1 I 29
INRATH (21 &H 1 Eih 592.85 |3 9 | XKFE/IhREXMI[042 F2 I 753
WRATH (21 F2 |[Eih 512.39 |3 10 | RF/NRFRAI[942 F 3 I 595
INRATH (21 &3 [EHh 211.00 [3 11 | KF/NRFRAIL[950 & 2 1A 245
INEATH |21 #E 4 Eih 556.19 |3 12 | XKFE/NEFR#I[950 F 3 I 536
MRATE (21 &S5 [/ 209 |3 19 | XF/NRFXEAI[950 F 4 i 240
INRATH (21 &6 P 258 |3 13 | KFE/INEFEEA [941 & I 528 |5 E]
MWRATH (21 FE7 i 46 |3 14 | KF/INRF R |770 & 1 1A 52
IWREATH |21 #FS8  [IU# 11 |3 18 | KE/NR R H 769 & 2 LLIFR 13
MRATH[21 #F9 =i 23.00 |3 15 | KF/INEF R [o54 &2 tLIAK 26
INEATH [21 F 10 [Eih 160.73 |3 16 | XF/MRFEm[954 FE4 =i 16198
MWRATH (21 F 11 |Eih 138.93 |3 17 | KRFE/NRFEXRI[954 F7T £ 139.02
INEATH 21 F12 | 199.65 |3 1 KE/NEFR @I [952 % 13 Lk 62 | &6
INEATHE (21 F 12 |Eith 199.65 |3 1 | KFEDNREFXAI |54 F5 [ & 128 | &
MRATH (21 F 13 [EHd 27813 2 | KF/mrxadt[954 & 8 =1 29.75
MRATH [21 & 14 |Ei#h 20.00 |3 3 BE
INEATH |21 FE 15 |EiHh 153.37 |3 24 | KF/INRFEX#I[952 F 18 L& 169
INRATH |21 FE 16 |Eih 135.02 |3 4 | KENEFEX#I[952 F 10 LK 149
INEATH |21 FE 17 |EH#h 150.10 |3 25 | K=F/NRFXIL[952 &F 19 LAk 166
INREATH |21 F 18 |Eith 176.23 |3 5 | XF/NREFER#AI][952 F 11 LK 181
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INEATH 21 F19 [Ei# 176.95 |3 6 | KF/NRFEX#HI]|952 F12 ES3 181.70
IMNRATH 21 F 20 [£# 4249 [3 20 FINEFRIL (952 F 14 L #K 47
IMRATE 21 FE 21 [£H#e 121.10 [3 21 FNRFRI 952 F 15 LAk 134
INERATH |21 #FE 22 |Eih 121.11 |3 22 FINRFR#IL]952 FE 16 LK 134
IMRATE 21 FE 23 [E£H#e 12113 [3 23 | XKF/IhRFEXRHI]|952 FE17 ITESS 134
INEATH |21 #FE 24 |Eih 226.87 |3 7 FINEFREI]952 F 1 TS 252
IZNRATE [21 & 25 [E£ih 1,392.55 |3 8 [XKF/IMRFXR#I|951 F 3T 124958 | &
INRATE 21 F 25 |EHh 1,392.55 |3 8 =/ =kl [952 2% 2 ITESS 119 [&#
IMRATE 21 FE 25 [E£He 1,392.55 [3 8 | XKF/MhRFEX#I]|952 &3 E3 67.27 | &5
INEATH 21 FE25 |Eih 1,392.55 |3 8 FINRFRIL[952 F7T LLIAK 82 |&H
INRATH 22 FA I 1,051 |2 1 KF/INRFRfHIE (946 FE 1 1A 1,226
INEATH 22 FHF2 & 348 |2 2 KFE/NMNRFERIL (950 FE 1 }H 406
INRATH 23 F 1 =i 149.00 |5 5 |KFE/NRFEXHEE[768 F 1 LAk 214
INEATH 23 #F2 |Ei# 149.01 |5 7 | XEDNREX#HE (768 &2 ITESS 214
INRATHI[23 FEE3 |EH# 106.42 |5 15 | KENEFERMEF|[752 F7 LLI#£ 153
INRATHI[23 FE4 |EH# 106.62 |5 14 | KFE/INERFEEMEE[752 F6 LI A& 154
INERATH |23 &S Eih 106.38 |5 12 | KFE/NRFRMEE[752 F4 L #K 153
INRATHI|23 &6 Eih 110.77 |5 13 | KF/INEFXME[752 FES L&k 159
INERATH |23 &7 Eih 110.68 |5 11 | KFENRFRMEE[752 F 3 L& 159
INRATHE 23 F8 |EHh 106.53 |5 6 | KF/INRFREE|752 F2 TS 153
INRATE |23 F9 |E# 1,191.45 [5 1 RFEINRFRHAF|752 & 1 ITESS 1,719
INRATHE 23 ZF 10 [EHh 12.00 [5 2 RE
INRATE |23 ZF 11 |E#e 152.88 [5 3 | XF/IMRFX#I]|946 FS Eih 153.03
INRATE [23 F 12 [E#h 188.50 [5 4 | KFNRFXR#I]|946 F4 Eih 200.68
INRATE |23 ZF 13 |HfEth 2.25 |5 10 | KF/NRFEHEFE[768 FES LLIAK 3.22
INRATE |23 #F 14 |EH#h 138.21 |5 8 | XKF/INRFXuE|768 F3 LAk 198
INRATE |23 ZF 15 |E#e 165.18 [5 9 | KkFINRFXHFE|768 F4 LLIAK 237
INEATH (24 FA P 1,746 |8 3 | KFINRFXHE|754 &1 1A 2,545
INRATH |24 &2 |48 87 |8 4 | KRFINRFRME|757 T4 pui 119
INERTHI|[24 &3 Eih 132.36 |8 12 | KF/INRFEXMEE[750 F 8 R 198
INRATH 24 Z&H 4 Eih 132.37 |8 11 | RF/NEFR MR |[750 & 7 L #k 198
INEATHI|[24 &S Eih 132.37 |8 10 [ KF/NRFEXR#E[750 F6 R 198
INRATEB |24 &6 |EHs 132.35 [8 5 | XFINRFEXM#E|750 FS ITE:S 198
INRATH 24 FE71  |EiH 447.30 |8 6 | XKF/INRFEXME|750 F3 LLI 4 396 | &6
INEATH 24 FT1 | 447.30 |8 6 | RF/INRFEME|750 F4 LLIAK 241 | &6
INRATH |24 &S Eih 165.26 [8 7 KFE/NRFRHEE|750 & 14 LK 231
INRATEB |24 ZF9 |E# 132.44 [8 18 | KF/IRFXRMRE [750 & 30 ITE:S 185
INRATE [24 ZF 10 [#iEH 2.00 [8 17 [ K=F/NRFXHE[750 F 13 ITEZS 3.01
INERATHI[24 ZFE 11 |Eih 132.52 |8 13 | KRF/INRFXKHT[750 F9 LAk 198
INRATH 24 F 12 |EH#h 128.62 |8 14 | KF/NRFXMEE[750 F 10 R 192
INRATE |24 ZF 13 |E#s 128.62 [8 15 | RF/NRFR4HRE[750 F 11 Ak 192
INRATH 24 FH 14 |Eih 128.60 |8 16 | KRF/INRFRHAF[750 & 12 L #K 192
INEATH 24 FE 15 |EH 76.92 [8 8 | XF/INERFXEE|754 F3 1A 112
INRATH 24 F 16 |Eih 665.61 |8 9 | KF/INRFEX#EF[757 F 1 1 902
INEATH [24 F 17 £ 1,455.17 [8 1 KF/INRFRME 753 T Eih 2,000.00
INRATH 24 F 18 |Eih 156.21 |8 2 | KRFINRFEXHE|754 F2 =i 188.42 | & B
INEATH [24 FE 18 [EiHh 156.21 |8 2 | KRF/NRFRME|758 2 D 1 [IH 26 | &6t
INRATHE |25 FEA =i 164.31 |7 15 | KF/INRFXAE [750 & 29 L #K 175 | &8
INRATH[25 & A Eih 164.31 |7 15 | RF/NRFXRERF[751 &9 IS 53 |&#
INRATHI2S FE2 |Eih 165.45 |7 16 | KF/INRFXMEE[751 F10 L #K 240
INEATHI2 FE3 |EH 165.99 |7 17 | XKFE/NRFREE[751 FE 11 ITE:S 241
INEATHE |25 & 4 |ozmeEmw| 202 |7 20 | KF/INRFXME|751 F 14 ITE3S 294
INEATHI2 &S5 |EH 127.80 |7 11 | KFE/NRFEHEE|[750 & 25 ITE:S 175
INRATHI2S FE6 |Eih 129.40 |7 12 | KRF/INRFR 4R [750 Z 26 L #K 177
INRATH |2 &7 Eih 129.40 |7 13 | KF/NRFRME[750 & 27 Lk 177
IMRATE 25 FE8 [E£He 135.76 |7 14 | X=F/NRFR MR [750 2 28 L #K 186
INRATE 25 #HF9 |EHs 123.09 [7 2 | XF/IMNRFEEE|750 F 16 ITESS 169
INRATH 25 FE 10 |Eih 130.93 |7 8 | XF/INRFX#FE[750 F 22 L #K 180
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INERATHI2 FE 11 |Eih 130.94 |7 9 KF/INREFEK R |[750 & 23 L4k 180
IMNRATH 25 FE 12 [£H# 12381 |7 10 FINRFR R [750 & 24 L #K 170
INRATHE |25 T 13 |HiEH 552 |7 18 FINRF R [751 F 12 LAk 8.03
INRATH (25 14 |oemEw| 189 |7 19 FINRFXRHRE 751 & 13 L #K 276
INRATH 25 FE 15 |EHh 14545 |7 5 | KF/NRFEX#EE[750 F 19 LAk 199
INRATH |25 #F 16 |Eih 147.71 |7 6 FINRF K fHR | 750 2 20 ITESS 203
INRATH 25 F 17 |EH# 149.99 |7 7 | KFE/NRFEX#HE[750 F 21 LAk 206
INRATH 25 FE 18 |Eih 13155 |7 1 FINRF R [750 F2 ITESS 180
INRATH 25 F 19 |EH# 147.88 |7 3 | KF/NRFEX#EF[750 F 17 LAk 203
INRATH |25 #F 20 |Eih 154.95 |7 4 FINRF R [750 F 18 L #K 213
INRATH[26 & 1 E3 149.35 |4 16 | XKF/NRFXMERE[751 &4 LAk 219
INRATH 26 FE2 |Eih 14879 |4 15 | KF/NEFRMEE[751 F3 L #K 218
INRATHI[26 %3 |EH# 148.78 |4 14 | KF/NRFRMEmE[751 F2 LLI#£ 218
INRATE 26 FE4 |EHs 148.78 [4 10 | KRF/NRFREE[751 &1 L #K 218
IMRATE 26 FES5 [E£He 149.80 [4 18 | KRF/INRFEXMHF [751 &6 ITESS 219
INERTHI|26 &6 Eih 132.63 |4 17 | KRFE/NRFEXRHEE[751 &S LI A& 194
INRATH 26 &7 MiEh 1.75 |4 20 | K=F/hRFEXE(751 &S LL#k 257
INRATH 26 FES |4 377 |4 9 | XF/MRFEX#I|947 FE 1 1R 1,090 |9
INRATH (26 9 |MfE# | 131 |4 11 D
INRATH |26 #F 10 |3iEH 8.55 |4 12 1R
INRATH 26 T 11 |Eih 91.58 |4 13 | XK=F/NRFXMIE[948 26 Eih 91.45
INRATE |26 #F 12 |EH#h 139.94 [4 1 | XF/NRFXEI[948 F 4 Eih 139.96
INRATE |26 #H 13 |Eih 15.00 |4 2 {F 2t
INRATE [26 & 14 [E#h 163.53 |4 3 | XKFIMRFEX#I 948 &S i 165
INRATE |26 & 15 |Eih 8.00 |4 4 {F &t
INRATE |26 #F 16 |Eih 110.00 |4 5 |RF/MRFERI][948 F 1 Eih 110.07
INRATH 26 F 17 |EH# 118.66 |4 6 D
INRATE |26 #F 18 |Eih 18.13 |4 7 | RFMNRFEXRHI]|957 F2 1 919 [HE
INERATH |26 & 19 |[FEih 479.48 [4 8 | KF/MRFXed|[947 F 1 I 1,090 |[H=
INRATH 26 T 20 |Eih 148.77 |4 19 | KRFE/NMNRFXREF[751 F7T LI 218
INRATH 27 #F A =i 188.05 [1 48 | KRF/NREFEmI 948 FE 8 Eih 198.45
IWNRATEI[27 FE2 [£# 11.00 [1 49 REH
INEATH 27 &3 |EH# 119.74 [1 50 | KF/MNRFEXR#I|948 F10 Eih 120.02
IZNRATE[27 &4 [E#h 119.72 |1 51 | XKF/INRFXR#I]948 F 11 =i 120.02
INEATH 27 &S5 |EH# 120.00 [1 52 | XKF/INRFEXRHI]|948 & 12 Eih 120.00
IWNRATEI[27 FE6 [E£H#e 120.01 [1 53 [ KF/NRFEX#I[948 F 13 Eih 119.77
INEATH 27 &7 |EH 132.01 [1 54 |KF/INRFEXHI]|948 F7 =i 131.48
INERTH[27 &S Eih 355.84 [1 55 |XR=F/INRFFEhdr]|956 78 Eih 317.35
INRATH 27 &9 Eih 46.00 |1 56 {234
IRATE 27 FE 10 [E£H#e 358.21 |1 58 | XF/NRFX#I]956 F 22 1R 320 |&
INEATH 27 F 10 |Ei# 358.21 [1 58 |K=F/MRFEXI]|956 F27 1 58 |&6F
INRATH |27 #F 10 |E#h 358.21 |1 58 | XK==/MRFXHd 956 & 28 1A 18 |&t
INRATEB |27 F 11 |4 84 |1 60 |X=F/NRFX#I]956 & 30 +H 450 [ &3
INRATE |27 & 11 | 84 |1 60 | K=F/MRFEXMIL][956 FK41 1 86 |&f6
INRATH [27 & 12 [Eih 152.14 [1 59 | KR=F/IMRFXRMIL|956 F 29 Eih 152.30
INRATH 27 F 13 |Eih 144.45 [1 61 | KRF/MNRFXHI]|956 &S5 1 156
INRATH [27 & 14 [Eih 30.25 |1 80 |XK=F/MRFXw#I|956 &K 73 1A 32
INRATH 27 FE 15 |Eih 1.00 [1 62 18
IMNRATHE 27 F 16 [£H#t 73.90 |1 63 | K=F/MRFX#I|956 ZF 38 +H 73
INRATH 27 FE 17 |Eih 152.04 [1 64 | K=F/MRFEXHI]|956 F 40 1 152
INRATE |27 ZF 18 |E#s 12.00 [1 65 EEED
INRATE |27 & 19 | 19 |1 79 | XF/MRFEXR#IL|956 F 39 *H 28
INRATEB |27 ZF 20 [ 124 |1 83 |KF/IMRFXwI]|956 FK 26 1A 124
INEATH 27 FE 21 |Eih 199.51 |1 67 | X=/MNRFXHdr|956 & 18 1A 198 |& 4
IMNRATE 27 F 21 [£# 199.51 [1 67 |XF/NREFX#I]956 F19 1A 35 |54
INRATH |27 #F22 |E# 35.00 |1 66 R
INRATH |27 #H 23 |[Ei#h 143.83 |1 70 | KFE/NERFXR#IL|[956 F 25 1+ 51 |&#
INRATH |27 T 23 |Eih 143.83 [1 70 | K=F/MRFEXHI]|956 & 75 1A 104 |&6
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